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THIS PROGRAM CREATES A SEQUENTIAL FILE OF A REDUCED NBIF

CALLS TO :

NONE

YARIABLE DEFINITION

N

REC1
IREC2
REC3A
REC3B
REC4
RECS
REC6
REC?
RECS8
REC9
IREC10
IRECT1
REC12
REC13
IREC14
IRECt5
IREC16
IREC17
IREC18
IREC19
IREC20
IREC21
IREC22
REC23
IREC24
IREC25
IREC26
IREC27
IREC28
IREC29
IREC30
IREC31
IREC32
IREC33
IREC34
IREC35
REC36
IREC37
IREC38
IREC39
REC40
IRECA1
IREC42
IREC43

-
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| 2000 I 2 T I I |

NUMBER OF RE ORDS IN THE NBIF
STATE CODE

STRUCTURE NUMBER

INVENTORY ROUTE

INVENTORY ROUTE

STATE HIGHWAY DEPARTMENT DISTRICT
COUNTY (PARISH)

CITY/TOWN CODE

FEATURES INTERSECTED

FACILITY CARRIED BY STRUCTURE
LOCATION

INVENTORY ROUTE, MIN. VERTICAL CLEARANCE
MILEPOINT

ROAD SECTION NUMBER

BRIDGE DESCRIPTION

DEFENSE MILEPOINT

DEFENSE SECTION LENGTH

LATITUDE

LONG1TUDE

PHYSICAL VULNERABILITY

BYPASSS, DETOUR LENGTH

TOLL

CUSTODIAN

OWNER

FEDERAL-AID PROJECT NUMBER
HIGHWAY SYSTEM

ADMINISTRATIVE JURISDICTION
FUNCTIONAL CLASSIFICATION

YEAR BUILT

LANES ON AND UNDER STRUCTURE
AVERAGE DAILY TRAFFIC

YEAR OF AVERAGE DAILY TRAFFIC
DESIGN LOAD

APPROACH ROADWAY WIDTH

BRIDGE MEDIAN

SKEW

STRUCTURE FLARED

TRAFFIC SAFETY FEATURES
NAVIGATION CONTROL

NAVIGATION VERTICAL QGLEARANCE
NAVIGATION HOR]ZONTAL CLEARANCE
STRUCTURE OPEN, POSTED, CLOSED TO TRAFFIC
TYPE SERVICE
STRUCTURE TYPE, MAIN
STRUCTURE TYPE, APPROACH SPANS
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IREC44
IREC45
IREC46
IREC47
IREC48
IREC49
IREC50
IREC51
IREC52
IREC53
IREC54
IREC55
REC56
REC57
REC58
REC59
REC60
REC61
IREC62
IREC63
REC64
IREC65
REC66
REC67
REC68
REC69
REC70
REC71
IREC72
IREC73
IREC74
IREC75
IREC76
IREC77
IREC78
IREC79
IREC80
IRECS8!
IREC82
IREC83
IREC84
REC85
IREC86
IREC87
IREC88
REC89
RECS0

00 TN T N TN T R N N O IS N N A O IO A IR B )

Page

NUMBER OF SPANS IN MAIN WNIT

NUMBER OF APPROACH SPANS

TOTAL HOR1ZONTAL CLEARANCE

LENGTH OF MAXIMUM SPAN

STRUCTURE LENGTH

CURB OR SIDEWALK WIDTHS

BRIDGE ROADWAY WIDTH, CURB TO CURB
DECK WIDTH, OUT TO OUT

MIN. VERTICAL CLEARANCE OVER BRIDGE ROADWAY
MIN. VERTICAL UNDERCLEARANCE

MIN. LATERAL UNDERCLEARANCE ON RIGHT
MIN. LATERAL UNDERCLEARANCE ON LEFT
WEARING SURFACE - PROTECTIVE SYSTEM
DECK

SUPERSTRUCTURE

SUBSTRUCTURE

CHANNEL AND CHANNEL PROTECT!ON

CULVERT AND RETAINING WALLS

ESTIMATE REMAINING LIFE

OPERATING RATING

APPROACH ROADWAY AL IGNMENT

INVENTORY RATING :

STRUCTURAL CONDITION

DECK GEOMETRY

UNDERCLEARANCES, VERTICAL AND HORIZONTAL
SAFE LOAD CAPACITY

WATERWAY ADEQUACY

APPROACH ROADWAY AL IGNMENT

YEAR NEEDED

TYPE OF SERVICE

TYPE OF WORK

LENGTH OF IMPROVEMENT

PROPOSED DESIGN LOADING OF IMPROYEMENT
PROPOSED ROADWAY WIDTH

PROPOSED NUMBER OF LANES

DESIGN ADT

YEAR OF ESTIMATED ADT

YEAR OF PROPOSED ADJACENT ROADWAY IMPROYVEMENTS
TYPE OF PROPOSED ADJACENT ROADWAY IMPROVEMENTS
COST OF IMPROVEMENTS

P.E. COST

DEMOLITION COST

SUBSTRUCTURE COST

SUPERSTRUCTURE COST

DATE OF LAST INSPECTION

. SUFFICIENCY RATING

RESERVED SPACE FOR WASHING OFFICE

MODIFICATION LOG

07/01/1986

RAS  INITIAL CODING

REAL*8 RECS50

INTEGER 1,11,N, IREC2I]
INTEGER IRECZ,lRECIO,IRECll,4 IREC14, IREC1S,
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Page

IREC16, IREC17, IREC18, IREC19, IREC20, IREC21, IREC22,
IREC24, IREC25, IREC26, IREC27, IREC28, IREC29,
IREC30, IREC31, IREC32, IREC33, IREC34, IREC35,
IREC37, IREC38, IREC39, IREC4t, IREC42, IREC43,
IREC44, IREC45, IREC46, IREC47, IREC48, IREC49, IRECS50,
IRECS51, IREC52, IREC53, IREC54, IRECS5,
IREC62,1REC63,
IREC65,
IREC72, IREC73, IREC74, IREC75, IREC76, IREC77, IREC78,
IREC79, IREC80, IREC81, IREC82, IREC83, IREC84,
IREC86, IREC87, IREC8BS

O >OOIOINDUWN -~

INTEGER KK(17)

CHARACTER*1 CK1,CKS5,CK6,CK7,CK8,CK9,CK10
CHARACTER®9 (K2

CHARACTER*18 CK3

CHARACTER*25 CK4

CHARACTER*! BL1,BL5,BL6,BL7,BL8,BLS,BL10
CHARACTER*9 BL2

CHARACTER*18 BL3

CHARACTER*25 BL4

CHARACTER*3  REC1,REC5,REC85

CHARACTER%¥8 REC3B

CHARACTER®2  REC4,REC13

CHARACTER®*4  REC6,REC36

CHARACTER*18 RECS8

CHARACTER¥*25 REC7,RECY

CHARACTER¥7  REC23

CHARACTER®*1  REC3A,REC40,REC56,REC57,REC61,REC66,REC67,RECES
CHARACTER*1  REC69,REC70,RECT!,REC64,REC60,REC58,REC59
CHARACTER*5  REC12,RECB9

CHARACTER¥®28 REC90

DATA eLt VALY

DATA BL2 A v/
DATA BL3 YA 1/
DATA B4 - /! 1/

DATA BLS /v /
DATA BL6 YARLY
DATA BL7 VANV
DATA BLS JARRY)
DATA BLY VARRY
DATA BLto  /* '/

OPEN THE FILES

CALL INIT

READ(5,10) N
FORMAT(15)

IREC2=0
IREC21=0

READ IN THE NBIF
DO 500 11=1,N
READ(5,20) RECH, IREC2,RECBS,RECBB, REC4, RECS5, REC6, REC7,




Cc Page
1 REC8, REC9, IREC10, IREC11, REC12, REC13,IREC14,
2 IREC15, IREC16, {REC17, IREC18, IREC19, tREC20, IREC21,
3 IREC22, REC23, JREC24, IREC25, IREC26, IREC27, IREC28,
4 IREC29, IREC30, IREC31, IREC32, IREC33, IREC34, IREC35,
5 REC36, IREC37, IREC38, IREC39, REC40, IREC41,|IREC42,
6 IREC43, IREC44, IREC45, IREC46, IREC47, IREC4B, IREC49,
7 IRECS0, IREC51, IRECS2, IREC53, IREC54, IREC55, REC36,
8 REC57, REC58, REC59, REC60, REC61, IREC62, IREC63,
9 REC54, IREC65, REC66, REC67, REC68, REC69, REC70,
A REC71,1RECT2, IREC73, IREC74, IREC75, IREC76, IRECT77,
2] IREC78, IRECT79, JREC80, IREC81, IREC82, IREC83, IREC84,
c REC85, IREC86, IREC87, IREC88, REC89, REC90
c
c CHECK FOR UNDERCROSSINGS
c
IF( IREC2 .EQ. IREC2! .AND. REC3A .EQ. '2') GOTO 400
c
Nl = IREC2I + 1
c
c IDENTIFY STRUCTURES THAT ARE SEQUENTIALLY MISSING
c BY USING THE BRIDGE NUMBER
c
IF(IREC2 .EQ. N1) GOTO 100
NF = IRECZ - 1
DO 50 I1=1,17
KK(1)=0
50 CONTINUE
CXt = BL1
CK2 = BL2
CK3 = BL3
CX4 = BL4
CK5 = BLS
CK6 = BL6
CK7 = BL7
CK8 = BLS8
CK9 = BL9
CK10= BL10 .
c
c ZERO OUT INFORMATION FOR MISSING STRUCTURES
c
DO 60 | = NI,NF
WRITE(6, 70)KK(1),CK1,CK2,CK3,CK4, (KK(J), =2,7),CK5,
1 (KK(J), k=8, 15),CK6,CK7,CKB,CK9, (KK(J), F16,17),
2 X10
60  CONTINUE
c
c WRITE OUT SEQUENTIAL REDUCED NBIF
c
100 WRITE(6,70) IREC2,REC3A,REC38,
; REC8, REC9, IRECtY,
3 - IRECZ27,
4 IREC29, IREC30, IREC32, IREC34,
5 REC40, IREC42,
6 IREC43, IRECA44, IREC45, IRECA7, IREC48,
7 IREC50, IRECS52, REC56,
8 REC57, REC58, REC59, IREC63,
c 9 IREC65, REC66
400

IREC21= IREC2
6

4



FORMAT(115,A1,A8,A18,A25,15,14,16,12,13,
12,A1,313,214,16,214,4A1,213,A1)

c

500 CONTINUE

c

20 FORMAT ( A3,
1 A8,
2 13,
3 1,
4 16,
5 A4,
6 13,
7 14,
8 At,
9 At,
A At,
B 12,
c A3,

c

70
1

c

c CLOSE THE FILES

c
CALL CLOSIT

c
sToP

END

115,
A25,
15,
AT,
12,
I,
13,
14,
At,
13,
12,
16,
15,

A1,AB,
14,
16,
12,
1,
13,
14,
14,
At,
At,
1,
12,
15,

A2,
15,

1,
13,
14,
13,
14,

Al,
13,
12,

A25,
14,
1,
14,
",
13,
16,
A1,
13,
A1,
14,
13,

Page
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$DEBUG

$DEBUG

o0 OOOOOOOOOOOOOOOOOOGOQOOOOOOOOOOOOOOOOOOOOOOQG a0
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DATABASE - CREATE ARIZONA DIRECT ACCESS FILE FROM REDUCED NBIF

CALLS TO : NONE

VARIABLE DEFINITION

NREC - NO. RECORDS IN NBIF

KK(1) - STRUCTURE NUMBER

Cx1 - INVENTORY ROUTE

CK2 ~ INVENTORY ROUTE

X3 - FACILITY CARRIED BY STRUCTURE
CK4 ~ LOCATION

KK(2) - MILEPOINT

KK(3) ~ YEAR BUILT

KK(4) - AVERAGE DAILY TRAFFIC

KK(5) =~ YEAR OF AVERAGE DAILY TRAFFIC
KK(6) - APPROACH ROADWAY WI1DTH

KK(7) - SKEW

Ccx5 ~ OPEN, CLOSED, POSTED TO TRAFFIC
KK(8) -~ STRUCTURE TYPE, MAIN

KK(9) - STRUCTURE TYPE, APPROACH SPANS
KK(10) =~ NO. OF SPANS IN MAIN UNIT
KK(11) - NO. OF APPROACH SPANS

KK(12) - LENGTH OF MAXIMUM SPAN

KK(13) - STRUCTURE LENGTH

KK(14) - BRIDGE WIDTH, CURB TO CURB

KK(15) - MINIMUM VERTICAL CLEARANCE

CK6 - WEARING SURFACE

7 ~ DECK CONDITION

CK8 - SUPERSTRUCTURE CONDITION
CcK9 - SUBSTRUCTURE CONDITION
KK(16) = OPERATING RATING

KK{17) -~ INVENTORY RATING

10 - STRUCTURAL CONDITION

MODIFICATION LOG

07-01/1986 RAS INITIAL CODING

INTEGER KK(17),NREC,1,J .
CHARACTER*1 CK1,CK5,CK6,CK7,CK8,CK9,CK10
CHARACTER*8 CK2

CHARACTER*18 CK3

CHARACTER®25 CK4

CHARACTER®*20 FLNM

LOGICAL ST

WRITE(O,'(*' SEQUENTIAL FILE 8 11,0 )Y)

Page




$DEBUG

READ(O, '(A) " )FLNM

OPEN(UNIT=8,F ILE=FLNM, STATUS="'0LD")
c

WRITE(O,*('' DIRECT ACCESS FILE:'',®)')

READ(O, '(A) ' )FLNM

OPEN(UN1T=9,F ILE=FLNM, STATUS= "NEW' ,RECL=126,ACCESS='DIRECT")
c

WRITE(O,'('' DATABASE NOW EXECUTING'', ) ')
c

NREC= 1

DO 100 I=1,NREC
ti=1
READ(8, 10)KK( 1),CK1,CK2,CK3,CK4, (KK(J), =2,7),CK5,
1 (KK(J), J=8,15),CK6,CK7,CK8,CKI, (KK(J), =16,17),
2 CK10

10 FORMAT(115,A1,A8,A18,A25,15,14,16,12,13,
1 12,A1,313,214,16,214,4A1,2i3,Al1)

WRITE(9,REC=1 1 )KK(1),CK1,CX2,CK3,CK4, (KK(D), =2,7),CK5,

1 (KK(J), J=8,15),CK6,CK7,CK8,CK9I, (KK(J), & 16,17),
2 CK10
100 CONTINUE

c
CLOSE(8)
CLOSE(9)

Cc
sToP
END

Page
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$DEBUG
R T 1T T T T2 T T TR T R R A R SR R R AR 2 222 2 L
OVERLOAD MAIN PROGRAM
A BRIDGE RATING PROGRAM USING A LEVEL 1 PROCEDURE
IMBSEN AND ASSOCIATES, INC.
3213 RAMOS CIRCLE
SACRAMENTO, CA 95827

THIS PROGRAM MAY USE THE WINDOWS OPTION FOR POL INPUT
THIS PROGRAM USES THE 'SCAN' INTERPRETER TO READ INPUT

CALLS TO :

OPENS

SETIN  (SCAN ROUTINE)
SETOUT (SCAN ROUTINE)
SCINIT (SCAN ROUTINE)
ZERO

READSC (SCAN ROUTINE)
EXIT

1ZERO

DZERO

GETNUM

GETGIR

GETOPE

GETSLB

GETCNT

GETIND

GETGRD

GETWHL

GETSTD

STAND

GETIMP

GETRT

HEADER

FIXCRD

WRSTRU

WRTRUC

WRIMPA

PRTRAN

RONBIF

WRNBIF

LEVELI

SPLVHI

REMARK

YARIABLE DEFINITION
VAXILD - MAXIMUM AXLE LOADS PERMITTED

MAXSTR - MAXIMUM NUMBER STRUCTURES PERMITTED
NSTRUC(MAXSTR) - STRUCTURE NUMBER

10
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OPRING(MAXSTR) - OPERATING RATING

1SPLAN(MAXSTR) ~ SLAB PLANS

CONT IN(MAXSTR) ~ CONTINUITY

GRDSPC(MAXSTR) - GIRDER SPACING

FACIMP(MAXSTR) - IMPACT FACTOR

RT(MAXSTR) - TRANSVERSE DISTRIBUTION RATIO
IGROUP (MAXILD) ~ GROUP IDENTIFICATION

PL (MAXILD) ~ AXLE LOADS

DX(MAXILD) ~ DISTANCE TO THE AXLES

WHO(MAXILD) - OUTER WHEEL GAGE

WHi (MAXILD) - INNER WHEEL GAGE

IFL -~ NUMBER OF INDIVIDUAL AXLES ENTERED
JFG - NUMBER OF GROUP AXLES ENTERED
ISTRUC -~ NUMBER OF STRUCTURES ENTERED

IPAGE - PAGE NUMBER

ICAP - CAPTION IDENTIFICATION

NREC -~ NUMBER RECORDS IN NBIF

KK(17) -~ INTEGER VARIABLES FROM REDUCED NBIF
WIDTH -~ WIDTH OF TRUCK

CX(1-10) -~ CHARACTER VARIABLES FROM REDUCED NBIF

OO0 OO0 000N0N0DOOOO0

MODIF JCATION LOG

06/11/1986  RAS
07/02/1986 . RAS

INITIAL CODING
POL MODIFICATION

363635 36 96 36 06 36 3 36 3 38 36 36 30 38 76 36 330 3 328 36 36 3 30 36 36 76 36 3 JE 36 3 302 36 36 26 36 2 3038 36 2 20 6 3 3 3636 3 36 3¢ 96 300 06 3 30 3 3 ¢

COMMON /SCANER/ ENTITY(20), I VAL (2),MODE,NCHAR, NWD,NEXT, ICOLMN
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,

1 POINT, RECS1Z, INIT, LEOF, EOL, MENU,

2 AUTORD, COMMNT, SIGNED

COMMON /SCANIO/ INUNIT, 1OUT, FILES(10), FILPT, FILLIM, LREMOT
COMMON /SCANLN/ COL, JUMP,NENT,PSTATE, SKIP,DOREAD, INCOL,

1 JSTART(80), IBUFF(B1), JBUFF(81),1DIGIT(81),

2 CARD(81)

COMMON /SCANTB/ NSEPTB, NCLASS, ITAB(256), ICLASS(256)
COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
EQUIVALENCE (1VAL(1),VALUE, I VALUE)

INTEGER COL,SKIP,PSTATE, NBLANK,RECLEN, ENDCHR , DUMMY

LOGICAL PROMSW,ECHOSW,COMSW,ATRDSW,EOLSW,EOF SW,MENUSW, PTSW,

1 S1GNSW, NEXT,MATCH,DOREAD,ENDF IL ,NUMI ,NUMR, STRING,

2 ENDCRD, SEP, INTEGR

INTEGER MAXILD,MAXSTR
PARAMETER (MAXILD=30,MAXSTR=40)

INTEGER NSTRUC(MAXSTR),OPRING(MAXSTR), I SPLAN(MAXSTR)
INTEGER CONTIN(MAXSTR)
REAL*8 GRDSPC(MAXSTR),FACIMP(MAXSTR) ,RT{MAXSTR)

INTEGER IGROUP (MAXILD) y
REAL*8 PL(MAXILD),DX(MAXILD),WHO(MAXILD),WHI (MAXILD)

INTEGER 1}, IMSG, INTEG, INUNIT, 1OUT, IER
INTEGER 1PAGE, ICAP,LEVOUT, ISTRUC, 1SLAB
INTEGER IFL,JFG

INTEGER NREC,KK(17),ICSLAB

11



REAL®4 REEL

REAL*8 W{DTH

CHARACTER®1 CK1,CK5,CK6,CK7,CK8,CK9,CK10
CHARACTER®9 CK2

CHARACTER¥®18 CK3

CHARACTER*25 CK4

CHARACTER*4 BLANK1, TITLE(20)

DATA BLANK1/! v/

NREC =9861
IMSG =6
INUNIT=5
10UT =6
IER =0
IPAGE =0
1OWLD =0
OPEN FILES
CALL OPENS

INITIALIZE SCAN ROUTINES

OO0 OO0

NBLANK=80

RECLEN=80

ENDCHR='$!

PROMSW= .FALSE.,

ECHOSW= . TRUE.

COMSW=.FALSE.

ATRDSW= .FALSE.

EOLSW=. TRUE.

EOF SW= . TRUE .

MENUSW= .FALSE.

PTSW= .FALSE.

SIGNSW=.FALSE.

CALL SETINCINUNIT)

CALL SETOUT(IOUT)

CALL SCINIT(NBLANK,RECLEN,ENDCHR,PROMSW,ECHOSW,COMSH,ATRDSH,

1 EOLSW,EOF SW,MENUSW,PTSW, S I GNSHW)
c
C READ OVERLOAD BLOCK DATA
c

CALL ZERO(TITLE,20,BLANK1)

CALL READSC

IF(ENDFJL(DUMMY)) CALL EXIT

IF(.NOT. MATCH('OVERLOAD',3)) GOTO 8000

{F (ENDCRD (DUMMY)) GOTO 40
JF(.NOT. STRING(DUMMY)) GOTO 8001
DO 30 I=1,NWD

TITLEC]) =ENTITY(1)
ENTITY (1)=BLANK1
30 CONT INUE
40 CALL READSC )
IF(.NOY. MATCH('OUTPUT',3))  GOTO 8024
IF(.NOT. MATCH('LEVEL',3)) GOTO 8027
IF(.NOT. INTEGR(INTEG)) GOTO 8023
LEVOUT= INTEG
IF(LEVOUT .LT. 1 .OR. LEVOUT .GT. 3) GOTO 8029

12



C READ STRUCTURE DATA BLOCK

c

c

100

120

130

135
137

140

142

CALL READSC

CALL 1ZERO(NSTRUC,MAXSTR,0)

CALL DZERO(GRDSPC,MAXSTR,0.D0)

CALL 1ZERO(OPRING,MAXSTR,0)

CALL 1ZERO(1SPLAN,MAXSTR,0)

CALL 1ZERO(CONTIN,MAXSTR, 0)

IF (.NOT. MATCH('STRUCTURES',3))GOTO 8002

IF(.NOT. MATCH('NUMBER',3) YGOTO 8003

CALL GETNUM(NSTRUC, ISTRUC,MAXSTR, IMSG)

CALL READSC

}F(MATCH ('GIRDER',3) ) GOTO 100
GOTO 120

IF(.NOT. MATCH('SPACING',3) ) GOTO 8005

CALL GETGIR(GRDSPC, ISTRUC, IMSG)

CALL READSC

IF (MATCH( 'OPERATING',3)) GOTO 130
GOTO 135

IF(.NOT. MATCH('RATING',3)) GOTO 8026

CALL GETOPE(OPRING,1STRUC, IMSG)

CALL READSC

IF(MATCH('SLAB',3)) GOTO 137
GOTO 140 :

}F(.NOT. MATCH('PLANS',3)) GOTO 8028

CALL GETSLB(1SPLAN, ISLAB, 1STRUC, IMSG)

CALL READSC

IF(MATCH({ 'CONTINUITY',3)) GOTO 142
GOTO 145

CALL GETCNT(CONTIN, ISTRUC, IMSG)

CALL READSC

C READ TRUCK DATA BLOCK

c

OO0

OO0 O

145

150

160

CALL 1ZERO(IGROUP,MAXILD,0)

CALL DZERO(PL ,MAXILD,0.D0)

CALL DZERO(DX ,MAXILD,0.00)

CALL DZERO(WHO,MAXILD,0.D0)

CALL DZERO(WHI,MAXILD,0.D0)

IF(.NOT. MATCH('TRUCK',3) ) GOTO 8007
}F( MATCH('STANDARD',3) ) GOTO 205
IF( MATCH('INDIVIDUAL',3) ) GOTO 150
IF(.NOT. MATCH('GROUP',3) } GOTO 8008

GET LOAD CONFIGURATION

CALL GETGRP(PL,DX, IGROUP, IFL, JFG,MAXILD, IM5G)
GOTO 160

CALL GETIND(PL,DX, }GROUP, IFL, JFG,MAXILD, IMSG)

CALL READSC

READ OUTER WHEEL CONFIGURATICN

JIF(C .NOT. MATCH('OUTER',3)) GOTO 8009

IF( .NOT. MATCH('WHEEL',3)) GOTO 8010

IF( .NOT. MATCH('SPACING',3)) GOTO 8011

CALL GETWHL ( IGROUP,WHO, IFL, JFG,MAXILD, IMSG)

CALL READSC
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OO0

200

s Xe N e

205

208
210

OO0

220

(e Xe N o]

230

235

240

250

READ INNER WHEEL CONFIGURATION

IF (MATCH( ' INNER',3)) GOTO 200
GOTO 210

IF( .NOT. MATCH('WHEEL',3)) GOTO 8012

IF( .NOT. MATCH('SPACING',3)) GOTO 8013

CALL GETWHL (1GROUP,WH1, IFL, JFG,MAXILD, IMSG)

GOTO 208

READ STANDARD VEHICLES

IF(.NOT. INTEGR(CINTEG)) GOTO 8023

1OVLD= INTEG
IF( 10VLD .LT. 1 .OR. IOVLD .GT. 11) GOTO 8030
CALL STAND(10VLD, IGROUP,PL,DX,WHO,WHI, IFL, JFG, IMSG)

CALL READSC

IF(.NOT. MATCH('VEHICLE',63)) GOTO 8014

IF(.NOT. MATCH('WIDTH',3)) GOTO 8015

IF(.NOT. NUMR(REEL)) GOTO 8016
W)DTH-DBLE(REEL)

READ IMPACT DATA BLOCK

CALL READSC

CALL DZERO(FACIMP,MAXSTR,0.D0)

IF( MATCH( *IMPACT',3))  GOTO 220
GOTO 230

CALL GETIMP(FACIMP, ISTRUC, IMSG)

READ TRANSVERSE DISTRIBUTION BLOCK

CALL READSC
CALL DZERO(RT,MAXSTR,1.D0)
1F( MATCH( 'TRANSVERSE',3)) GOTO 235
GOTO 240
IF(.NOT. MATCH('DISTRIBUTION',3)) GOTO 8020
IF( .NOT. MATCH ('RATI0',3)) GOTO 8019

CALL GETRT(RT, ISTRUC, IMSG)

CALL READSC
IF(.NOT. MATCH('FINISH',3)) GOTO 8021

CALL HEADER(TITLE,t,1PAGE)
REWIND 5
CALL FIXCRD

CALL HEADER(TITLE, 2, IPAGE)
CALL WRSTRU(NSTRUC,GRDSPC,OPRING,CONTIN, 1 STRUC)

IF(ISLAB .EQ. 0) GOTO 250
CALL HEADER(TITLE, 2, IPAGE)
CALL WRSLAB({SPLAN, ISLAB) .

CALL HEADER(TITLE, 2, IPAGE)
CALL WRTRUC(PL,DX, IFL, |GROUP,WHO,WH] ,WIDTH, 10VLD)

CALL HEADER(TITLE,2, IPAGE)
CALL WRIMPA(FACIMP,NSTRUC, I STRUC)
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CALL HEADER(TITLE, 2, IPAGE)
CALL WRTRAN(NSTRUC,RT, ISTRUC)

1CSLAB=0

DO 500 I=1,ISTRUC

CALL RDNBIF(NREC,NSTRUC(1),KK,CK1,CK2,CK3,CK4,CK5,CK6,CK7,CK8,CK9,
1 CK10)

IF(LEVOUT .NE. 3)CALL HEADER(TITLE,3, IPAGE)

IF(LEVOUT .NE. 3)CALL WRNBIF(NREC,NSTRUC(1),KK,CK1,CK2,CK3,CKa,
1 CK5,CK6,CK7,CK8,CK9,CK10,LE VOUT)

IF(LEYOUT .EQ. 2)GOTO 500
CALL HEADER(TITLE, 4, IPAGE)
IF( KK(8) .EQ. 201) GOTO 350
GOTO 400
350 ICSLAB = JCSLAB + 1
IFCISPLAN(ICSLAB) .GT.0)GOTO 450
400 CALL LEVELI(NREC,KK,CKt,CK2,CK3,CK4,CK5,CK10,PL,

OO0 o

1 0X,GRDSPC(1),WHO,WH| ,WIDTH,FACIMP (1), IGROUP, IFL,
2 OPRING(1),NSTRUC(1),RT(1),CONTIN(I), 10VLD)
GOTO 500
450 CALL SPLVII (NREC,KK,CK1,CK2,CK3,CK4,CK5,CK10,PL,
1 DX, GRDSPC(1),WHO,WH1 ,WIDTH,FACIMP(1), IGROUP, IFL,
2 NSTRUC(1),RT(1), ISPLANCICSLAB), 10VLD)
500 CONTINUE
CALL EXIT
ERROR MESSAGES
8000 CALL REMARK(IMSG, 'ERROR -~ THE WORD <OVERLOAD> IS MISSING. "
GOTO 8990
8001 CALL REMARK(IMSG,'ERROR — TITLE IS MISSING. ')
GOTO 8990
8002 CALL REMARK(IMSG,'ERROR - THE WORD <STRUCTURE> IS MISSING. ')
GOTO 8990 '
8003 CALL REMARK(IMSG,'ERROR - THE WORD <NUMBER> |S MISSING. ")
GOTO 8990 .
8004 CALL REMARK{IMSG,'ERROR -~ INCORRECT NUMERIC INTEGER INPUT. ")
GOTO 8920
8005 CALL REMARK(IMSG,'ERROR ~ THE WORD <SPACING> IS MISSING. Y)
GOTO 8990
8006 CALL REMARK(IMSG,'ERROR - INCORRECT NUMERIC REAL INPUT. ")
GOTO 8990
8007 CALL REMARK(IMSG, 'ERROR = THE WORD <TRUCK> 1S MISSING. ")
GOTO 8990
8008 CALL REMARK(IMSG,'ERROR — THE WORD <GROUP> 1S MISSING. ")
GOTO 8990
8009 CALL REMARK(IMSG,'ERROR - THE WORD <OUTER> 1S MISSING. ')
GOTO 8990
8010 CALL REMARK(IMSG, 'ERROR - THE WORD <WHEEL> 1S MISSING. "
GOTO 8990
8011 CALL REMARK(IMSG,'ERROR - THE WORD <SPACING> 1S MISSING. ')
GOTO 8990
8012 CALL REMARK(IMSG, 'ERROR — THE WORD <WHEEL> 1S MISSING. ")
GOTO 8990
8013 CALL REMARK(IMSG, 'ERROR = THE WORD <SPACING> 1S MISSING. ")
GOTO 8990
8014 CALL REMARK(IMSG,'ERROR ~ THE WORD <VEHICLE> IS MISSING. "
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c

8015
8016
8017
8o18
8019
8020
8021
8023
8024
8026
8027
8028
8029
8030
8990

GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(1MSG, 'ERROR
GOTO 8990

CALL REMARK(1MSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG,'ERROR
GOTO 8990

CALL REMARK(1MSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG, "ERROR
GOTO 8990

CALL REMARK(IMSG, 'ERROR

CALL EXIT
END

THE WORD <WIDTH> 1S MISSING.
INCORRECT NUMERIC REAL [NPUT.
THE WORD <IMPACT> 1S MISSING.
INCORRECT NUMERIC REAL INPUT.
THE WORD <RATI0> 1S MISSING.

THE WORD <DISTRIBUTION> IS MISSING.
THE WORD <FINISH> 1S MISSING.
INCORRECT NUMERIC INTEGER INPUT.
THE WORD <OUTPUT> 1S MISSING.
THE WORD <RATING> 1S MISSING.
THE WORD <LEVEL> IS MISSING.

THE WORD <PLANS> 1S MISSING.
INCORRECT OQUTPUT LEVEL INPUT.

INCORRECT STANDARD VEHICLE INPUT.
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OPENS -~ OPEN FILES

THIS SUBROUTINE OPENS THE FILES

CALLS TO : MODPOL

VYARIABLE DEFINITION
PASSED : NONE

RETURNED : NONE

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING
07/14/1985 RAS  ADDED MENU FILES

2222222232322 3233322322222 2222222222222 2Rt is2atissdssdslss )

100

CHARACTER®*3 QUES
CHARACTER*20 FLNM
LOGICAL ST

WRITE(O, ' (' LN

WRITE(O,'('* ADOT OVERLOAD BRIDGE RATING (VERSION 1.3)'', )")
WRITE(O,'(*! oY)

WRITE(O,'('' Do you want to read In the MENU file?'', )')
WRITE(O,'('' (Enter YES or NO)'',® )')

READ(O, ' (A) ")QUES

WRITE(O,* (' ', ")

IF(QUES .EQ. 'YES' .OR. QUES .EQ. 'Y ') GOTO 100
IF(QUES .EQ. 'NO ' .OR. QUES .EQ. 'N ') GOTO 200
WRITE(O0,' ("' Error In Input - execution terminated'',)')
sTOP

OPEN(UNIT=9,F ILE=*ADOT.POL',STATUS='OLD")

INQUIRE (FILE="OVER.DAT' ,EXIST=ST)

IF(ST) THEN
OPEN(UNIT=5,F ILE= 'OVER.DAT',STATUS='0LD")
CLOSE(UNIT=5,STATUS= 'DELETE")

ENDIF

OPEN(UNIT=5,FILE="OVER.DAT',STATUS= "NEW?')

IOUTER=5
CALL MODPOL(1OUTER)

REWIND 5
GOTO 300
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200

300

WRITE(O,'('*' Input File Name 1. e )Y)
READ(OQ, ' (A)*)FLNM
OPEN(UNIT=5,F ILE=FLNM,STATUS='0LD")

WRITE(O,'('' Scan Echo Name str,e) )
READ(O, *(A) ' )FLNM
INQUIRE (FILE=FLNM,EXIST=ST)
IF(ST) THEN
OPEN(UN1T=6,F ILE=FLNM,STATUS="0LD")
CLOSE(UNIT=6,STATUS= 'DELETE")
ENDIF
OPEN(UNIT=6,F ILESFLNM,STATUS= 'NEW')

WRITE(O,'('' Output File Name:'',®')
READ(O, ' (A) " )FLNM

INQUIRE (F ILE=FLNM,EXIST=ST)

IF(ST) THEN
OPEN(UNIT=7,F ILE=FLNM, STATUS='0LD")
CLOSE(UNIT=7,STATUS="DELETE")

ENDIF

OPEN(UNIT=7,F ILE=FLNM,STATUS= 'NEW")

OPEN(UNiT=8,F ILE= "ARI ZONA.DIR"®,STATUS= 'OLD' ,RECL= 126,
1 ACCESS='DIRECT")

WRITE(O,' ("' Y

WRITE(O,'('* OVERLOAD NOW EXECUTING'', )")
WRITE(O,'("! t, "

RETURN

END
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$DEBUG
SUBROUTINE MODPOL (IOUTER)

269636 9636 3 36 36 36 36 30 606 06 06 36 3 96 06 00 06 6 0 06 06 06 06 3036 06 6 00 D006 36 06 BT 00 SR OR0E D 0606 06 B0 00 00 B 000
MODPOL - MODIFY POL

THIS SUBROUTINE MODIFIES THE POL
FROM THE RUNFILE OF MENU WINDOWS

CALLS 7O :

WRPOL
WRPOLD
WRDAT
WRDATD

VARIABLE DEFINITION
PASSED :

JOUTER —~ FILE UNIT NUMBER

MODIFICATION LOG

07/14/1986 RAS  INITIAL CODING

696 9636 6 36 36 36 6 6 3 6 38 36 36 36 36 36 36 3636 36 36 36 38 3 38 I 36 30 36 36 06 36 36 3696 3 3 6 3 3 30 36 36 3 3036 30 36 30 06 06 3 30 3 36 3638 3 %

QOOOOOOGGOOOGOOOOOOOOOOOOOOOOOﬁﬂo

CHARACTER¥*1 AB(80),AE(80),1BK(80)
INTEGER 1, INITL

O

INITL=0

READ(9,1) (AB(1), 1=1,80)
1 FORMAT(80A1)

c
5 READ(9,1,END=999) (AE(]), 1=1,80)
c .
IF(AB(1) . NE.AE(1).0R.AB(2).NE.AE(2).0R.AB(3).NE.AE(3))GOTO 100
GOTO 200
100 IF(INITL .EQ. O) GOTO 125
GOTO 150
125 CALL WRPOL(AB, |OUTER)
C
DO 140 1=1,80
IBK(1) = AB(1)
AB(1) = AE(])
140 CONTINUE
c
GOTO 5
c
150 CALL WRDAT(AB, 10UTER)
c

19



IBK(1) = AB(])
AB(1) = AE(1)
175 CONTINUE
c
INITL=0
GOTO 5
c
200 IF(INITL .EQ. O) GOTO 250
GOTO 300
c
250 CALL WRPOLD(AB, |OUTER)
INITL= 1
Do 270 1=1,80
IBK(1) = AB(I)
AB(1) = AE(1])
270 CONTINUE
c
GOTO 5
Cc
300 CALL WRDATD(AB, JOUTER)
INITL=1
DO 350 1=1,80
{BK(1)= AB(1)
AB(1) = AE(D)
350 CONTINUE
GOTO 5
Cc

999 JF(AB(1).EQ.IBK(1) .AND. AB(2).EQ.IBK(2)
1 «AND. AB(3).EQ.1BK(3)) GOTO 900
CALL WRPOL(AB, I10UTER)
GOTO 950

900 CALL WRDAT(AB, |OUTER)

c

950 WRITE(IOUTER, 1000)

1000 FORMAT('FINISHY)
END
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$DEBUG
SUBROUT INE WRPOL (AB, |OUTER)

ppvppepnepepprrrrrrrsITTTTI T T I EAT IR T S AR SR LA S AL AL S ALt kg L)
WRPOL ~ WRITE POL

THIS SUBROUTINE WRITES OUT THE POL EXACT FROM
THE RUNFILE OF MENU WINDOWS

CALLS TO : NONE

VARIABLE DEFINITION
PASSED ¢

AB - BEGINNING LINE WiTH 80 CHARACTERS

r

MODIFICATION LOG

07/14/1986 RAS  INITIAL CODING

336 36 36 36 38 36 36 3 96 3% 36 38 36 D6 38 36 36 36 36 36 36 3 36 36 36 96 36 30 36 30 3 3¢ 36 3% 3636 36 3¢ 3036 36 3¢ 6 36 e B3¢ 36 3 3 3 2 3 36 36 3 6 M

OO0 OOO00

CHARACTER*1 AB(80),ABW(80)
INTEGER 1, ICNT

o

IF( AB(1).EQ. '0' .AND.AB(2) .EQ. 'V' .AND.AB(3).EQ. 'E')GOTO 100

DO 50 i=1,80
IF( AB(1) .EQ. ';') GOTO 25
GOTO 30
25 ABW(}) = '
GOTO 50
30 ABW(1) = AB(l)
50 CONTINUE

WRITE(IOUTER, 75} (ABW( 1), |=1,80)
75 FORMAT(80AY)
RETURN

100 ICNT=0
Do 150 1=1,80

IF( AB(1) .EQ. ';') GOTO 120
GOTO 125

120 ICNT = ICNT + 1
ABW(]) = ' !
IF( ICNT .EQ. 2) ABW(]) = '™!
IF( ICNT .EQ. 3) ABW(l) = tnt
GOTO 150

125 ABY(1) = AB(1)

150 CONTINUE

WR1ITE(I1OUTER, 200) (ABW(1),1=1,80)
21




200 FORMAT(80A1)
RETURN
END
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WRPOLD - WRITE POL WITH A DASH AT THE END

THIS SUBROUTINE WRITES OUT THE POL EXACT WITH A DASH AT THE
END FROM THE RUNFILE OF MENU WINDOWS

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :

AB - BEGINNING LINE WITH 80 CHARACTERS

MODIFICATION LOG

07/14/1986 RAS  INITIAL CODING

**!I*l!l**l!*lll*l*!!lllﬁil*lllll*lilﬂll**iillﬂllllilllIill*lﬂlll

0000000000000 D0O0ODNO

CHARACTER®*1 AB(80),ABW(80)
INTEGER 1, ICNT

O

ICNT=0

0o 50 1=1,80
IFC AB(1) .EQ. ';') GOTO 25
GOTO 30
25  ICNT=ICNT+1
ABW(1) = ' !
IFCICNT .EQ. 4) ABW(l) = '-!
GOTO 50
30 ABW(1) = AB(D)
50 CONTINUE

WRITE (1OUTER, 75) (ABNW(1),1=1,80)
75 FORMAT(80A1)

RETURN

END
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$DEBUG

SUBROUT INE WRDAT (AB, IOUTER)

'IIIlllll!li*lllll!lil!ill*illlillllilll*!lllllll‘llllillillll

WRDAT ~ WRITE DATA ONLY

THIS SUBROUTINE WRITES OUT ONLY
FROM THE RUNFILE OF MENU WINDOWS

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :

AB - BEGINNING LINE WITH 80 CHARACTERS

c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c
c

(¢}

25

50

100

200

300

400

MODIFICATION LOG

07/14/1986 RAS  INITIAL CODING

!!ll!!ll!’!!llillil‘lllll!ll!lllll!illll‘ill*il!!Illllllllllll

CHARACTER®1 AB(80),ABW(80)
INTEGER 1,1CNT, IDELB, IDELE

ICNT=0

Do 50 1=1,80
IFC AB(1) .EQ. ';') GOTO 25
GOTO 50

ICNT= ICNT+1
IFCICNT .EQ. 2) IDELB=1
IFCICNT .EQ. 3) IDELE=]

CONTINUE

DO 100 i=1,1DELB
ABW(]) = * !

CONTINUE

DO 200 I=IDELB+1,IDELE~1
ABW(1) = AB(I)

CONTINUE
DO 300 I|=1DELE,80
ABW(1) = ' ! .
CONTINUE
wR1TE( 1OUTER, 400) (ABW(1),1=1,80)
FORMAT(80A1)
RETURN
END
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$DEBUG
SUBROUTINE WRDATD(AB, | QUTER)

06030063 6 96 6 003 206 3 000 00 06 006 0 D0 I 000 0006 0 900 00 00 JEAUTE0H I 00 00 00 06 6 00 06 00 0000 00 00000 00 00 A
WRDATD ~- WRITE DATA ONLY WITH A DASH AT THE END

THIS SUBROUTINE WRITES OUT ONLY THE DATA WITH A DASH AT THE
END FROM THE RUNFILE OF MENU WINDOWS

CALLS TO : NONE

VAR]JABLE DEFINITION
PASSED :

AB -~ BEGINNING LINE WITH 80 CHARACTERS

MODIFICATION LOG
07/14/1986 RAS  INITIAL CODING

2353 76 36 36 36 36 76 36 3 36 36 36 3636 36 3 26 36 36 36 36 36 36 36 28 36 3 36 J6 3 36 36 36T 00 36 36 36 J6 36 36 36 36 30 36 3 3 6 30 36 36 38 3 3626 06 30 3 3¢ 3¢

OOO0OO0O0OO00 0000 OO0O0O00OOOO0O

CHARACTER*1 AB(80),ABW(80)
INTEGER 1,1CNT, IDELB, IDELE

c
ICNT=0
c
Do 50 1=1,80
IFC AB(1) .EQ. ';') GOTO 25
GOTO 50

25 ICNT=ICNTH
IFCICNT .EQ. 2) 1DELB=I
IFC(ICNT .EQ. 3) IDELE=1

50 CONTINUE
c
DO 100 i=1,1DELB
ABW(]) = ' !
100 CONTINUE
c -
DO 200 |=|DELB+1,IDELE-1
ABW(1) = AB(1)
200 CONTINUE
c
ABW(|DELE) = ' !
ABW(IDELE+1)= t-!
c
DO 300 I=|DELE+2,80
ABW(1) = ' !
300 CONTINUE
c

WRITE(10UTER, 400) (ABW(1),1=1,80)
400 FORMAT(80A1)
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RETURN
END
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$DEBUG

C Iii*i!lll!!!illl!llliiIl!III!II*lll!llilill!Ilil!illl!llllllll&!lll
*llll!Iiil*il'll*lliilillllll!lllllllliillll!ilillllllllil!lillllll
l‘ll'lllI’ll!!**‘!illi!i!llllii*il!I!*l!lllI!llil*i!!llllll*lil!lll

t 2 4 5%
* ¥ »¥
" SCAN *x
i 4 =xyx=z==== %
1 2.4 %
x A FREE FORM INPUT FORTRAN SUBPROGRAM SYSTEM *
bk IBM-AT AND XT VERSION %
E 2 £ 23
* *
*x CIVIL ENGINEERING SYSTEMS LABORATORY s
*x DEPARTMENT OF CIVIL ENGINEERING *s
*x UNIVERSITY OF ILLINOIS AT URABANA-CHAMPAIGN %
#% xR
%% *¥
#*  VERSION MODIFIED AT E. C. C. FOR USE ON THE IBM-AT *x
*x * 3%
%% *%

ll'*!ii!l!!ll*llliil**l!lllllil!llll!lllli!l!llllll!i!l*l!!*‘llll!!
llii******Illi!li!i*i!iillllllli‘fl*illl!ll*lii!!l*il!l!lllllllliii!l!

x ) x
* SCAN *
* »

I*!Ill!l!il*!*ill!**llllll!i!ll*{‘lll!l!iiiilllilil!il*l*l!iillll!!lll

SUBROUTINE SCAN

SCAN

OO0 OOOOOOOOOOQOOOOOOOOOODOOO

COMMON /SCANER/ ENTITY(20), | VAL (2),MODE ,NCHAR,NWD ,NEXT, ICOLMN
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,

1 POINT, RECS1Z, INIT, LEOF, EOL, MENU,

2 AUTORD, COMMNT, SIGNED

COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,

1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),

2 IDIGIT(81), CARD(81)

COMMON /SCANTB/ NSEPTB, NCLASS, 1TAB(256), ICLASS(256)
COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
EQUI VALENCE (1VAL(1),VALUE, IVALUE), (FLT,INT)

REAL F,FLT,SEIDSH

INTEGER RECS1Z, FILES, FILPT, FILLIM, COL, SKIP, PSTATE
INTEGER ISTATE(110), STATE, EXP, OCOL, NDOT, 1S1G, NSIG
INTEGER NBLANK, LIM, INT

LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,

1 COMMNT, AUTORD, SIGHED, DOREAD, NEXT

DATA OCOL/0/, NDOT/0/

DATA 1SIG/1/,NS1G/1/,INT/0/,F/.1/ ,EXP/O/

c D+ - EAQ . S B S

c ! L U E L

c G P O P A

C | H T N

c T A E K i
c 1 GET

c 2 +

c 3 INTEGER

c 4 REAL

c 5 START EXP
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c 6 EXP

c 7 LABEL

c 8 NAME, STRING
c 9 STRING

c A ANYTEXT

c MANYTEXT

9
DATA ISTATE / 18, 17, 16, 26, 26, 30, 32, 29, 6, 17,

1 18, 17, 16, 26, 26, 13, 32, 29, 6, 7,
2 18, 11, 11, 11, 11, 11, 35, 11, 11, 11,
3 19, 11, 11, 28, 28, 11, 20, 11, 11, 11,
4 21, 10, 10, 22, 28, 10, 28, 10, 10, 10,
5 25, 24, 23, 28, 28, 9, 28, 9, 9, 9,
6 25, 9, 9,28, 28, 9,28, 9, 9, 9,
7 4, 8, 8, 4, 4, 8,27, 8, 8, 8,
8 4 14, 14, 4, 4, 14, 27, 14, 14, 14,
9 4, 4, 4, 4, 4,12, 4, 4, 4,33,
A 4, 8, 8, 4, 4, 8, 4, 8, 8 8 /
c
c
2 NENT=NENT+
NCHAR = 0
STATE = PSTATE
NBLANK = 0
ENTITY(1) = BLANK
JSTART(NENT)=0
0COL=COL
LIMLIMIT
c
C G0 TO ACTION
c -
1 6oTO (10,20,30,40,50,60,70,80,90,100,110, 120,130,140, 150, 160,
1 170, 180, 190, 200, 210, 220, 230, 240, 250, 260, 270, 280, 290,
2 300,310,320,330,340,350) , JUMP
c
C GET A LINE
c

5 DOREAD = .TRUE.
10  IF(DOREAD)CALL SCANRD
coL =10
NENT = 1
JSTART(1) = O
JumP=2
LIM=80
|F(MODE.EQ.10)GOTO 12
GOTO 20
c
C END OF FILE
c
12  FILPT = FILPT=1
IF(FILPT.GT.0) INUNIT = FILES(FILPT)
IF(FILPT.EQ.0)MODE=-10
IF(LEOF)GO TO 13
IF(FILPT.GT.0)GO TO 5
CALL SCANMS(1)
CALL EXIT
13 Jumwp = 1
DOREAD = .TRUE.
GOTO 150
c
C NEXT CHARACTER
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c

20 COL = COL+1

c

C GET CHARACTER

c

30  JUMP = ISTATE(10*STATE+IBUFF(COL))

GOTO 1

c

C SET JuMP TO NEXT CHARACTER

c

40 JuwP = 2

c

C PACK CHARACTER

c

50 NCHAR = NCHAR + 1
GOTO 1

c

C COUNT BLANKS

c

60 NBLANK = NBLANK + 1
IF(NBLANK.LE.LIM)GOTO 20

c
C CHECK IF END OF STRING
c
IF(PSTATE.EQ. 1)GOTO 130
c
C END LINE
c
70 IF(.NOT.EOL)GO TO 75
JuwP = 3
IF(AUTORD) JUMP = 1
1F(AUTORD)DOREAD = .TRUE.
ENTITY(1)=BLANK
MODE = 9
NCHAR=0
NWD = 0
COL=MAX0(0COL,1)
JSTART(NENT)=COL
GOTO 150
75 NCHAR = 0
NWD = O
NBLANK = 0
STATE = PSTATE
GOTO 5
c
C PACK BLANK EXIT
c
80 JuMP =3

85 ICOLMN = O
IF(NENT.NE.O)ICOLMN = JSTART(NENT)
CALL SCANPK
IF(ENTITY(1).EQ.SEIDSH)GOTO 75
IF(MODE.EQ.6 .AND. I1VALUE.EQ.16)GOTO 2

GOTO 150
c
C END EXPONENT
C
90 FLT = FLT * 10. ** EXP
EXP = 0
NSIG = 1
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c
C END REAL
c
100 F= 0.1
c
C END INTEGER
C
110 1VALUE = INT
I1SIG = 1
INT=0
GOTO 80
C
C END STRING
c
120 SKiP = COL
340 JumpP = 2
GOTO 85

L]

c
C END GET STRING
c
130 MODE = 8
PSTATE = O
Jump = 2
GOTO 150
c
C END NAME
c
140 NCHAR = NDOT + 1
GOTO 80

RETURN
150 RETURN
MINUS FOUND
160 1S16 = -1

PLUS FOUND

OO0 OO0 000

170 STATE = 2
MODE = 6
INT = 1TAB(JBUFF(COL)+1)
IVALUE = INT
GOTO 310

"START |INTEGER

OO

180 STATE = 3
INT= 0
MODE = 1
1F (JSTART(NENT) .EQ.0) JSTART(NENT)=COL
c
C CONTINUE INTEGER
c
190 INT = INT*10 + IDIGIT(COL) * ISIG
GOTO 40
c
C CHANGE TO REAL
c
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200 STATE = 4
MODE = 2
FLT = INT
GOTO 40
c
C CONTINUE REAL
c
210 FLT = FLT + FLOAT(IDIGIT(COL)*ISIG)*F
F=F * 0.1
GOTO 40
c
C START EXPONENT
c
220 STATE= 5
GOTO 40
c
C MINUS EXP
c
230 NSIG = ~1
c
C PLUS EXP
c
240 STATE = 6
GOTO 40
c
C CONTINUE EXP
c

250 EXP = EXP * 10 + IDIGIT(COL)Y*NSIG
STATE = 6
GOTO 40
c

C START LABEL
c
260 STATE = 7

NDOT = O
MODE = 3
GOTO 310
c
C START NAME
c

270 STATE = 8
NDOT = NDOT + 1
NCHAR = NDOT
MODE = 4
JSTART(NENT4NDOT) = COL+1
GOTO 20
c
C ANY TEXT
c
280 MODE = 5
STATE = 10
iIsiG= 1
INT =
EXP
F= 0.
NSIG = 1
GOTO 40

0
0
1

c
C SEPARATER
c
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290 INT = ITAB(JBUFF(COL)+1)
I VALUE = INT
MODE = 6
JuMp = 34
JSTART(NENT)
1sicg = 1
GOTO 50

coL

c
C START STRING
c
300 STATE = 9
MODE = 7
305 JSTART(NENT)
GOTO 20

coL

f

c
C SET BEGINNING COL NUMBER

c
310 JSTART(NENT) = COL
IF (MODE .EQ.6.AND.SIGNED)GO TO 290

GOTO 40
Cc
C STARY REAL
c
320 JSTART(NENT) = COL
INT= 0
GOTO 200
c
C END LINE AND END STRING
c
330 SKiP=COL
GOTO 80
c
g START SIGNED REAL
350 INT=0
GOTO 200
END
C FRERRAREEEEEERNEE R AR AR AR RN RN R R
cC* *
C * RDLINE *
C* »
C RN RO R IO R R R RN RE RN
SUBROUTINE RDLINE
Cc
c READ A CARD
C
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SXIP, DOREAD,
1 . INCOL, JSTART(80), IBUFF(81), JBUFF(81),
IDIGIT(81), CARD(81)
INTEGER OOL, SKIP, PSTATE
LOGICAL DOREAD
JuMP = 1
CALL SCANRD
RETURN
END
C EMRERRIIRIE RN IR IR IR RN E RN
C* : ®
C ® SCANMS *
c* »
C MR R R RN AR R A AR RAR RN R
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OO0

OO0

SUBROUTINE SCANMS( ERRNO )
ISSUE ERROR MESSAGES

COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
INTEGER ERRNO, FILES, FILPT, FILLIM

SEND ERROR MESSAGE AND RETURN

GO TO ( 10, 20, 30 ), ERRNO
10 WRITE(10UT, 1001)

GO TO 9999
20 WRITE(10UT,1002)

GO TO 9999
30 WRITE(10UT,1003)

GO TO 9999

9999 RETURN

c

OO0 OO00O0O0O OO0 OO0O00

OO0 OOOOO0

1001 FORMAT{40HO .....END OF FILE - PROGRAM TERMINATED N
1002 FORMAT(40HO .....INPUT ZRROR - PROGRAM TERMINATED N

1003 FORMAT(40HO .....FlLe LIST OVERFLOW 2

ENC
e T TS TTTT T T T T T TS YT AR R 222 2232 2 2 2212 d At L st bt
* *
¥ SETIN *
* *
360606369696 369696 060606 36 20006 06 06 0636 06 0606 3 606 DU 06 00 06 06T 00 036 06 00 06 3630 000 00 0606 06 96 06 36 06 3 3000 300 00 00 2 A

SUBROUTINE SETINCIN)

SET SCAN INPUT UNIT

COMMON /SCAN1O/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
INTEGER IN, FILES, FILPT, FILLIM

ININIT = IN

RETURN

END
00060606 96 06 T 36T I 36606 00T I 06T IE DI 0600 06T NI T U 00 I 00 0T 0006 T 00 006 I 0 00030 0 B0
* »
*® SETOUT ]
* . »

2630965 3 96 36 36 36 3 36 3 36 36 36 36 3 36 36 3 36 36 30 36 36 36 3% 26 36 3 36 36 3 3636 38 3036 38 JE 30 I 366 6 36 36 96 36 36 36 36 T 36 36 36 3 36 3 38 3 38 330 30 30 36 3 R

SUBROUTINE SETOUT(OUT)
SET SCAN ECHO OUTPUT UNIT

COMMON /SCANIO/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
INTEGER OUT, FILES, FILPT, FILLIM

IOUT = OUT
RETURN
END
3636 3636 96 36 36 36 3 36 36 3 36 U6 36 36 36 36 3 36 6 36 36 36 3 36 36 3 36 36 36 36 36 06 36 3 3 36 36 3 36 3 3 30 3 3k 3 3 3 0 36 36 3 06 3 3 3 3 3% 3 00 3 3 ;2
* #*
* SETREM *
* *

!iilll*l!i!!*llllllill‘!lllllll!!l!illlill!!!ll!llll}illllll'illlil

SUBROUTINE SETREM(IUNIT)
SET THE REMOTE UNIT FOR PROMPTING

COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
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OO0 O0O00O00

O0OO00

OO0

INTEGER I1UNIT, FILES, FILPT, FILLIM
LREMOT = IUNIT

RETURN

END

'lIllllllI*ll!l!lllll'IllIl'llllll!I'lllllllIIII’ilIIlll!llll*iiilil!llllll
* %
% SETFIL *
E *
‘l’!*‘l*ll*!*!!lil*ll*ll'*!llll’ll!I'II'Illll*lllllllll*illl‘llii!l*li!l!lil!l

SUBROUTINE SETFIL(FILIST,NFILES)
STACK A LIST OF INPUT FILES

COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
INTEGER J, K, NFIL, NFILES, FILIST(10), FILES, FILPT, FILLIM
NFIL = NFILES
IF (FILPT+NFIL.LE.FILLIM) GO TO 10
NFIL=F ILLIM-FILPT
CALL SCANMS(3)
10 FEFILPTHNFIL+1
IF(NFIL.EQ.0)GO TO 30
DO 20 K=1,NFIL
20 FILES(J-K)=FILIST(K)
FILPT=FILPT+NFIL
INUNIT=F ILES(FILPT)
30 RETURN
END

s pmrpaenpappaee T 1T T ST T TTT T T TR 22232 122 LA L A Ll d bttt ohobbodedalobaldd
» *
® SCINIT *
* *
360636 1636 3636 06 3606 6 3600 36 06 6 0606 60636 36 96 636 300606 00 30036 0636 06 0000 JH00 00 H 000 D006 S I M AL I 0 B MR R N RN X
SUBROUTINE SCINIT(NBLANK, RECLEN, ENDCHR, PROMSW, ECHOSW, COMSW,
1 ATRDSW, EOLSW, EOFSW, MENUSW, PTSW, SIGNSKW )

INITIALIZE

COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
1 POINT, RECSIZ, INIT, LEOF, EOL, MENU,
2 AUTORD, COMMNT, SIGNED

INTEGER RECS1Z, RECLEN

LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,

1 COMMNT, AUTORD, SIGNED

LOGICAL PROMSW, ECHOSW, COMSW, ATRDSW, EOLSW, EOFSW, PTSW,
t MENUSW, SIGNSW
INIT = .TRUE.

ECHAR = ENDCHR

ECHO = ECHOSW

LEOF = EOFSW

EOL = EOLSW

MENU = MENUSW

AUTORD = ATRDSW

COMMNT = .NOT.COMSW

PROMT = PROMSW

POINT = PTSW

SIGNED = SIGNSW

LIMIT = MINO(RECSIZ,NBLANK)
MARK = MINO(RECSIZ,RECLEN)
RETURN
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END

C o SREEREREEERE IO I IO I R RN RN NN
C = »
C * ADDLAB *
C * F
C MR IN I NI NN ENRRN N NRRR N RRN R R RN AR R RN NN ERRRRR
SUBROUTINE ADDLAB(LABEL)
C
C ADD LABEL FOR SCAN ECHC
Cc
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
1 POINT, RECSIZ, INIT, LEOF, EOL, MENU,
2 AUTORD, COMMNT, SIGNED

INTEGER RECS1Z, LABEL

LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,
1 COMMNT, AUTORD, SIGNED

ILABEL = LABEL

RETURN

END

C FRENREREFREENEHEENOO IO RN RN R RN R R R R T
cC= »
C * BACKSP : *
C * *
C BMEIENEREHEREIIO NI I I I IO I 0 3 I B0 M 0 I X
C
Cc
(of

SUBROUTINE BACKSP (NUMENT)
BACKSPACE THE SCANNER

COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,

1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),
2 IDIGIT(81), CARD(81)

INTEGER COL, SKIP, PSTATE, NUMENT

LOGICAL DOREAD

IF{(NENT.LT.NUMENT) GO TO 10

NENT = NENT - NUMENT

COL = JSTART(NENT + 1)

JUMP = 3
GO TO 20
tocoL=10
Jump = 2
20 RETURN
END
C HEEBEEREIMIMEENEINEI I I I I I N I I J N SN R RN NN
C * *
C * GETSTR *
C* »

C HRERIEMT NI T I I 36336 I 36 303636 30 96 38 36 36 96 36 30 36 36 J6- 30 T 06 30 06 30 36 36 38 3% 36 06 00 6 96 36 36 9 3 36 0 3F 3% 36 3 3¢ 36 3 36 3 3 B

SUBROUTINE GETSTR

c

C PARSE A STRING

c
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),
2 ID1GIT(81), CARD(81) :

INTEGER COL, SKIP, PSTATE
LOGICAL DOREAD

COL = JSTART(NENT)

PSTATE = 1

JUWP = 2

RETURN
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END

c iiil!illl!!*!*iilllllllIlllli!lliIllllllli!lllIi!!i!lllllllllll!llllll
c* »
C * RESET *
C* »
c IIII!l!ll!i’!l!lll!illllli!l!liilllllllllllllllll!lll!lllil!!lllllll!l

SUBROUT INE RESET

c
c START LINE OVER
c

COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR, NWD,NEXT, 1COLMN

COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,

1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),

2 IDIGIT(81), CARD(81)

EQUIVALENCE (1VAL(1), VALUE, | VALUE)

INTEGER COL, SKIP, PSTATE

LOGICAL NEXT, DOREAD

coL = 0

JuMP = 2

NENT = 0

ENTITY(1) = BLANK

RETURN

END
C *l‘!iliill**‘lli!!!l'*I'llII*ill*llill*l‘llllllli!’lI‘lllllll!ill’l!ll!ll!i
C* *
C * SKPSTR *
C* - *
C l'l'I"ll*I*ll!‘i‘l!‘ll‘l’l'lI'iil!llllll*i!lllllllli’iil*l!i**l‘liiilllllllll‘l

SUBROUTINE SKPSTR
c
c SKIP TO END OF STRING
c

COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,

1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),

2 IDIGIT(81), CARD(81)

INTEGER COL, SKIP, PSTATE
LOGICAL DOREAD

CoL = SKIP

RETURN

END
c 609 336 63T NI IR TN NI I I R R RN RN RN RRRERERR
cx *
C * SEPTAB ®
c* »
c s T T YT T T T T T TR I TS T2 22 SRS L LSt b ot thbddodollal

SUBROUTINE SEPTAB(NEWTAB)
C
o CHANGE SEPERATOR TABLE
c

INTEGER |, NEWTAB(1)

COMMON /SCANTB/ NSEPTB, NCLASS, 1TAB(256), ICLASS(256)

DO 10 | = 1, NSEPTB

10 1TAB(1) = NEWTAB(1) .

RETURN

END
c gyttt T T T T T TE T TS TI T2 2R A L LR AL L LA Lt blbhbobdbbl
cC* =
C * DOSCAN »
C * »
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l*li!i!!lll!liillllIII!I!li!illl’l!liilllllliillliilliII*liillilllllll

LOGICAL FUNCTION DOSCAN(DUMMY)

ADVANCE THE SCANNER NOW

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR,NWD,NEXT, ]COLMN
EQU1IVALENCE (1VAL(1),VALUE, |VALUE)

INTEGER DUMMY

LOGICAL NEXT

IF(NEXT)CALL SCAN

NEXT = .FALSE.

DOSCAN = .TRUE.

RETURN

END

l!lillii!*l!lilllllﬁllllli!i*i!lli!!llllilll!lliI!lili*illll!ll!i!lll!

*

*

* ENDCRD ¥

*

ll!!llil!i!ill!‘!il*!l**ill!i*lll!il!i!lI!Iil!llllllll*!il**l‘llill!il

10

LOGICAL FUNCTION ENDCRD(DUMMY)
IS THE CURRENT SCAN ENTITY AN END OF LINE

COMMON /SCANER/ ENTITY(20), 1VAL(2),MODE,NCHAR, NWD,NEXT, |COLMN
EQUIVALENCE (1VAL(1), VALUE, | VALUE)
INTEGER MODEOL, DUMMY

LOGICAL NEXT

DATA MODEOL/9/

IF (.NOT.NEXT)GO TO 10

CALL SCAN

NEXT = .FALSE.

ENDCRD = .FALSE.

IF (MODE .NE.MODEOL)GO TO 20

ENDCRD = .TRUE.

NEXT = .TRUE.
20 RETURN

END
lll‘!!ll*l**llillllli!!llli!llilllill!lilllllllllillllllllil!il*llli!!
*® *
* ENDFIL *
» ®
lIII*I!{{’*&IIlllllIli*!lIlllliililillilillllllli!ll!l!!liillillli!!!l

10

20

LOGICAL FUNCTION ENDFIL(DUMMY)
IS THE CURRENT SCAN ENTITY AN END OF FILE

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUI VALENCE (1VAL(1), VALUE, ] VALUE)
LOGICAL NEXT

INTEGER MODEOF, DUMMY

DATA MODEOF/10/

IF(.NOT.NEXT)GO TO 10

CALL SCAN

NEXT = .FALSE.

ENDFIL = .FALSE.

IF (MODE .NE . 1ABS(MODEOF))GO TO 20
ENDFIL = .TRUE.

NEXT = .TRUE.

RETURN

END
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OO0 OO0O0O0

OO0 oOO0O0O0n

OO0 OO0

‘I!i'II*I!*I!II{I*l*iil!llllillllllll!l!lilllliilllllillllliili!!!llll
* 4
* ENTIT *
* *
*ill*l!!ll*’!ll*i*!iilllIlllll**iillil!llllil!!lillllllllliili*llll!il

SUBROUTINE ENTIT(TEXT,NC,NW)
RETURN THE CURRENT CHARACTERS FROM ENTITY

COMMON /SCANER/ ENTITY(20), 1 VAL(2),MODE ,NCHAR, NWD ,NEXT, 1COLMN
EQUI VALENCE (1VAL(1),VALUE, | YALUE)

DIMENSION TEXT(1)

INTEGER 1, NC, NW

LOGICAL NEXT

NC = NCHAR

NW = NWD

10 TEXT(1)

END

’I!!lll*ll!**!llll*il*iiii!i!lili!ll!!l*i!l*i‘lll*lll!lli*llllll!ll!ll
* *
* |NTEGR *
» . *
ll*lllll‘*'l!i*llIllll*lllll!li*I*lI‘i*l‘lillill!ll*l!l*ll*i*llllll‘!l

LOGICAL FUNCTION INTEGR(INTEG)
IS THE CURRENT SCAN ENTITY AN INTEGER -

COMMON /SCANER/ ENTITY(20),!VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUIVALENCE (1VAL (1), VALUE, I VALUE)
INTEGER MODINT, INTEG
LOGICAL NEXT
DATA MODINT/1/
IF(.NOT.NEXT)GO TO 10
CALL SCAN
NEXT = .FALSE.
10 INTEGR = .FALSE.
IF (MODE .NE.MODINT)GO TO 20
INTEG = IVALUE
INTEGR = .TRUE.
NEXT = .TRUE.
20 RETURN
END

2636 36 36 36 9636 36 36 36 36 36 36 36 36 36 36 3 76 3 3 36 30 3¢ 36 06 3 3% 3 36 96 36 36 36 30 6 3 36 36 36 3636 36 36 36 3636 36 3 3 36 38 34 I 3 3 36 36 36 D 3 3¢ 6 06 06 06 3 3 3 3¢
* #*
* LABEL *
#* *
2636 36 36 36 9636 36 36 36 38 36 36 6 3% 3 36 36 3% 36 36 36 36 36 36 36 36 36 3 36 36 36 36 3 36 J6 36 36 36 00 30 3 36 36 3036 36 38 36 36 36 96 336 96 3 36 36 3 36 36 2 06 ¢ W 30 3 00 2

LOGICAL FUNCTION LABEL (DUMMY)
IS THE CURRENT SCAN ENTITY A LABEL

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUI VALENCE (JVAL(1), VALUE, I VALUE)
INTEGER MODLAB, DUMMY
© LOGICAL NEXT
DATA MODLAB/3/
IF(.NOT.NEXT)GO TO 10
CALL SCAN
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NEXT = .FALSE.

10 LABEL = .FALSE.

1F (MODE .NE .MODLAB)GO TO 20
LABEL = .TRUE.
NEXT = .TRUE.

20 RETURN

END

llllll!lll**!!*!lliIi!lli'lli!lllii!llll!il!llI*ill!lll!**l*llllllil!l

*

*

* MATCH ®

*

20

lliill*ll*!!*&&lllIi!l&i*lll!l!*!lillillllill!i!llllli*illlllilliiilll

*
LOGICAL FUNCTION MATCH(STRING,NC)
MATCH A CHARACTER ARRAY AGAINST THE CURRENT SCAN ENTITY

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQU1IVALENCE (1VAL(1),VALUE, | VALUE)

DIMENSION STRING(1)

INTEGER NC

LOGICAL NEXT, SCANMC

MATCH = .FALSE.

IXT = .TRUE.
RETURN
END

E2 222222222 2 *

*

*

IlllIil!lll*!!l*iilIIIIIlllll!Ii!lilllllllli!iiillilliill*illlllilllil

10

20

LOGICAL FUNCTION NAME (DUMMY)
IS THE CURRENT SCAN ENTITY A NAME

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR,NWD ,NEXT, ICOLMN
EQUIVALENCE (1VAL(1), VALUE, I VALUE)

INTEGER MODNAM, DUMMY

LOGICAL NEXT

DATA MODNAM/4/

IF(.NOT.NEXT)GO TO 10

CALL SCAN

NEXT = .FALSE.

NAME = .FALSE.

IF (MODE .NE .MODNAM)GO TO 20

NAME = .TRUE.
NEXT = .TRUE.
RETURN

END

lill*lllli!*llill!iilllll*!‘llllillllll!i*lll!i*liil*llll!ll!illll!lll

*®

*

* NOSCAN *

*

=

lllllillillillllllliillllillllllll!lli!ilillill*l*ll!i*lllllli‘l*ll!ll

LOGICAL FUNCTION NOSCAN(DUMMY)
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OO0 O0000

DO NOT ADYANCE THE SCANNER

COMMON /SCANER/ ENTITY(20), 1 VAL (2),MODE ,NCHAR, NWD ,NEXT, 1 COLMN
EQUIVALENCE (1VAL(1),VALUE, I VALUE)

INTEGER DUMMY

LOGICAL NEXT

NEXT = .FALSE.

NOSCAN = .TRUE.

RETURN

END

llilIilli&l!lllllllll!li*lli*ill*ililiillllll!ll!lliil!!lllll!ll!lllli

*

* NUMI

*

*
*
*

Ill!Illl!ll!lil!l!il!ll*l‘illli!ll*li!llllIilllI!ll*illll!*llllil!!lll

10

20

LOGICAL FUNCTION NUMI (INTEGR)
1S THE CURRENT SCAN ENTITY A NUMBER, CONVERT TO INTEGER

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR,NWD,NEXT, ICOLMN
EQUIVALENCE (VAL (1), VALUE, | VALUE)

INTEGER MODREL, INTEGR

LOGICAL NEXT

DATA MODREL/2/

IF(.NOT.NEXT)GO TO 10

CALL SCAN
NEXT = .FALSE.
NUM} = .FALSE.
IF (MODE .GT. MODREL) GO TO 20

IF (MODE .EQ. MODREL ) INTEGR = VALUE
IF (MODE .NE. MODREL ) INTEGR = |VALUE

NUMI = .TRUE.
NEXT = .TRUE.
RETURN

END

lll*ililiii&*lllll‘llﬂll!llil!l!l!!lllilllllillii!llillllillll!lllllll

£ NUMR

*
»
x

Ilii!lll“l!l!”lillillllIll!illillllillllIliliilllllll!illllIllliil!l

10

LOGICAL FUNCTION NUMR(REAL)
IS THE CURRENT SCAN ENTITY A NUMBER, CONVERT TO REAL

CCMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR,NND,NEXT, ICOLMN
EQUIVALENCE (1VAL (1), VALUE, | VALUE)

REAL REAL -

INTEGER MODREL, MODINT

LOGICAL NEXT

DATA MODREL/2/, MODINT/t/

IF(.NOT.NEXT)GO TO 10

CALL SCAN

NEXT = .FALSE. .
NUMR = .FALSE.

IF (MODE .GT. MODREL) GO TO 20

IF (MODE .EQ. MODINT ) REAL = IVALUE

IF (MODE .NE. MODINT ) REAL = VALUE

NUMR = .TRUE.

NEXT = .TRUE.
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20 RETURN
END
c et T T TR T TR T R AL L it Lt bhbthotobebiobdoiobebolnintd
Cx *
C * READSC *
= *
e TP YT T T EL T LSS LS Lttt ohodeblolbobodbhaialalel

SUBROUTINE READSC
ADVANCE THE SCANNER NOW .

OO0 OO0

COMMON /SCANER/ ENTITY(20), 1VAL(2),MODE ,NCHAR,NWD ,NEXT, ICOLMN
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
1 POINT, RECSiZ, INIT, LEOF, EOL, MENU,
2 AUTORD, COMMANT, SIGNED
EQUIVALENCE (1VAL(1),VALUE, | VALUE)
INTEGER RECS1Z, MODEOL
LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,
1 COMMNT, AUTORD, SIGNED, NEXT
DATA MODEOL/9/
IF ( .NOT .AUTORD .OR. (AUTORD . AND . MODE . NE .MODEOL ) )CALL RDL INE
NEXT = .TRUE.
RETURN
END .
C llil!iili*!i!l!llill!lI!lll!l!lliilllllli!l!lllllllilllllll!l!illill!l
C* x
C * REALN *

* %
IIIIll'lil*(l!i!llilll!l!I‘l*illlll!lliillll*lll*llllliilllillillill!i

LOGICAL FUNCTION REALN(REAL)

IS THE CURRENT SCAN ENTITY A REAL

OO0 OO0

COMMON /SCANER/ ENTITY(20), 1 VAL (2),MODE ,NCHAR, NWD, NEXT, ICOLMN
EQUIVALENCE (1VAL(1),VALUE, | VALUE)
LOGICAL NEXT
REAL REAL
INTEGER MODREL
DATA MODREL/2/
IF (.NOT.NEXT)GO TO 10
CALL SCAN
NEXT = .FALSE.
10 REALN = .FALSE.
I F (MODE . NE .MODREL)GO TO 20
REAL = VALUE
REALN = .TRUE.
NEXT = .TRUE.
20 RETURN
END

c et T T T TT YT SIS T TR RS E R TR RIS R R AL A4 e A it il
c+* *
C * SEP *
Cc* *
c e Tt TR T ST ST S T TR SRR SIS S AR A AL AT 2SS 22 S R a Lttt

LOGICAL FUNCTION SEP(SEPTYP)
C
" IS THE CURRENT SCAN ENTITY A SEPERATOR
C

COMMON /SCANER/ ENTITY(20), | VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUIVALENCE (1VAL(1),VALUE, I VALUE)
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20

INTEGER SEPTYP, MODSEP
LOGICAL NEXT

DATA MODSEP/6/
IF(.NOT.NEXT)GO TO 10
CALL SCAN

NEXT = .FALSE.

SEP = .FALSE.

IF (MODE .NE .MODSEP)GO TO 20
SEPTYP = IVALUE

SEP = .TRUE. .
NEXT = .TRUE.
RETURN

END

l!‘llllll**ll!I‘ll*’illi!lllliii*lliIliillli!illil'*l!llllillllll!!ll!

*

* STRING

*

3

*

lilli*!l!l!l*}lll!!llllli*llllillilillllllill*lli*lli!il!!i*!ll*llllil

10

20

LOGICAL FUNCTION STRING(DUMMY)
1S THE CURRENT SCAN ENTITY A STRING

COMMON /SCANER/ ENTITY(20), 1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUIVALENCE (1VAL(1),VALUE, | VALUE) .
INTEGER MODSTR, DUMMY

LOGICAL NEXT

DATA MODSTR/7/

IF (.NOT.NEXT)GO TO 10

CALL SCAN

NEXT = .FALSE.

STRING = .FALSE.

| F (MODE .NE .MODSTR)GO TO 20

STRING = .TRUE.

NEXT = .TRUE.

RETURN

END

!iillllﬁ’l*lllill*llIlllllii!lIIllllllllililllll*lllllllliilll!lllll!l

=

* TRUE ) *
=

3

ill*Iii*ll!llllll*illi!lIillll*lIi*!lliiliill!***lllllllllillllll!lll!

LOGICAL FUNCTION TRUE(DUMMY)
ADVANCE THE SCANNER BEFORE THE NEX1 TEST

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUI VALENCE (1VAL(1),VALUE, | VALUE)

INTEGER DUMMY

LOGICAL NEXT

NEXT = .TRUE.

TRUE = .TRUE.

RETURN

END

ilililll!l!l!*llilllllililillll*llllllllililllllllill!l!llllllllli!ill

*

* SCANCL %

#*

*

L ]

IIIIlll**!!*llil*li!llii‘illllllilli‘lli!!ii!!li!lllllllil!lllliilllll

SUBROUTINE SCANCL
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c CLASSIFY THE INPUT CHARACTERS

c
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
1 POINT, RECSIZ, INIT, LEOF, EOL, MENU,
2 AUTORD, COMMNT, SIGNED -
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),
2 IDIGIT(81), CARD(81)

COMMON /SCANTB/ NSEPTB, NCLASS, ITAB(256), ICLASS(256)
COMMON /SCANIM/ NCP¥,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK .
INTEGER 1, NN, J, K, RECSIZ, COL, SKIP, PSTATE
LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,
1 COMMNT, AUTORD, SIGNED, DOREAD
CHARACTER*1 XCARD(320), XBUFF(320)

c EQUIVALENCE ( XCARD(1), CARD(1) ), ( XBUFF(1), JBUFF(1) )
EQUI\]IALENCE ( XCARD(1), CARD(1) )
J -

K = NCPW

NN = MINO(INCOL , MARK)
NN = NN+1

CARD(NN) = ECHAR
DO 10 | = 1, NN
c XBUFF(K) = XCARD(J)
JBUFF(1) = ICHAR(XCARD(J))
IDIGIT(1) = -1
IF (JBUFF (1) .GE. INTZER.AND. JBUFF( 1) .LE. INTNIN)
1 IDIGIT(1) = JBUFF(1)-INTZER
J = J+NCPHW
K = K+NCPW
IBUFF(1) = ICLASS(JBUFF(])+1)
IF(CARD(1) .EQ.ECHAR) IBUFF(]) = 10
10 CONTINUE
RETURN
END
c ***l!&'!*l***&‘l&li*l!&!l!ill‘l!*ll‘lllll*i!iilllllllll*!l&'!ilIliIil*l*
C* ¥
C * SCANIN *
* *
Iilﬂll‘ll’l*l!llill!l!lll!ill}!l‘llll!!lllilllillllliii!ll!!lil!i!l*l*l

SUBROUT INE SCANIN( IN,BUFF,RECLEN,ERRCOD, 1 OUT ,ECHO)

INPUT A RECORD FROM A DEVICE

OO0 o0

COMMON /SCANIM/ NCPW, BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),
2 IDIGIT(81), CARD(81)
INTEGER IN,RECLEN,ERRCOD, |OUT
INTEGER COL,SKIP,PSTATE
INTEGER 1, 1DUM
REAL®*4 BUFF(1)
LOGICAL DOREAD,ECHO
ERRCOD=0
1 IDUM=RECLEN . .
C CALL SCANDB
READ(IN, 1001, ERR= 20,END=30) (BUFF (1), 1=1,RECLEN)
DO 10 1=1,RECLEN
IF(.NOT. (BUFF (1DUM) .EQ.BLANK) )GOTO 40
1DUM= | DUM-1
10 CONT INUE
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c
c
c
Cc
c
c
c
c

20

30
40

100t
1002

IF (ECHO)WRITE(10UT,1002)
GOTO 1
ERRCOD= 1
GOTO 40
ERRCOD= -1
RECLEN=MAXO(1DUM, 2)
RETURN
FORMAT(80A1)
FORMAT(/)
END

llill!l!lli!llll!l!!illllllﬁili!llllii*l*llllii*ll'i!l*lll!ii!!il!iiii
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% SCANPK

=

*
*
*

l!!ll§Illl{*lll!illlli*lllllllllIll!l!lliill*iilli!*lii*!ll*lilii!lIil

1

SUBROUTINE SCANPK

PACK THE SCANER RESULT IN ENTITY AT 4 CHARACTERS PER WORD

COMMON /SCANER/ ENTITY(20), | VAL(2),MODE ,NCHAR, NWD,NEXT, 1COLMN

COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
INCOL, JSTART(80), IBUFF(81), JBUFF(81),

2 IDIGIT(81), CARD{81)

10
20

COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
CHARACTER*1 XENTIT(80), XCARD(320)

EQUIVALENCE ( XENTIT(1), ENTITY(1) ), ( XCARD(1), CARD(1) )
EQUIVALENCE (1VAL(1),VALUE, | VALUE)

INTEGER 1, ISTART, COL, SKIP, PSTATE

LOGICAL NEXT, DOREAD

NWD = (NCHAR+NCPW-1)/NCPW

IF(NWD.LE.OINWD = 1

ENTITY(NWD) = BLANK

IF(NWD.LT.20)ENTITY (NWD+1) = BLANK

ISTART = (1COLMN-1)*NCPW+1

IF(NCHAR.EQ.O)NWD = O

1F(NCHAR.EQ.0)GO TO 20

IF(MODE.EQ.7) ISTART = ISTARTHNCPW

DO 10 1 = 1, NCHAR

XENTIT(1) = XCARD(1START)

ISTART = |START+NCPW

}F (MODE.EQ.4) ISTART = (JSTART(NENT+1)~1)*NCPW+1
CONTINUE

RETURN

END

illll!!ﬁlilli!lIill!I!lllillllll!!‘Illl!llIIllll!!il*ii‘ililll!illllil

*

¥ SCANRD

*

*
*
*

lllllll**l!ill!!llllllllIllliIl!IllIllllliil!!lliill!lll!'llllllllilll

1

SUBROUTINE SCANRD

INPUT FOR SCAN

COMMON /SCANER/ ENT1TY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, ICOLMN

COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
POINT, RECS1Z, INIT, LEOF, EOL, MENU,

2 AUTORD, COMMNT, SIGNED

1

COMMON /SCANI0/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT

COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
INCOL, JSTART(80), IBUFF(81), JBUFF(81),
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2 1DIGIT(81), CARD(81)

COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
EQUI VALENCE (1VAL(1),YALUE, | VALUE)

INTEGER |, NN, IERR, RECS1Z, FILES, FILPT, FILLIM

INTEGER COL, SKIP, PSTATE
LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,
1 COMMNT, AUTORD, SIGNED, NEXT, DOREAD, REREAD

READ A RECORD

OO0

DOREAD = .FALSE.
10  |F(PROMT)WRITE(LREMOT,1003)
REREAD = .FALSE.
INCOL = RECSIZ
c CALL SCANDB
CALL SCANIN (INUNIT,CARD, INCOL, IERR, IOUT,ECHO)

IF(1ERR) 20,40,30
c
C EOF,ERR
c
20 MODE=10
GOTO 100
30 CALL SCANMS(2)
CALL EXIT
c
C CLASSIFY
c
40 CALL SCANCL
MODE = 0
c
C COMMENT 'C ' INCC 142 = ZC3, 240 = 195, 64
c

IF(JBUFF(1).NE. INTC.OR. JBUFF(2).NE. INTBLK)GO TO 50
IF (COMMNT)REREAD = .TRUE.
GOTO 70

POINT 'ODDD,DDDD' IN CCt1-9 = (48ZF0-F9),268B, (48ZF0-F9)
= (40240-249),107, (4€240-249)

OO0

50 IF(.NOT.POINT)GO TO 70
IF(INCOL.NE.9)GO TO 70
IF ( JBUFF (5) .NE. INTCOM)GO TO 70

DO 60 1=1,4
IFCIDIGIT(1).EQ.~1.0R. IDIGIT(145).EQ.-1)GOTO 70
60 CONTINUE
MODE=11
GOTO 70
c
C ECHO (NOT A POINT WITH MENUING)
c

70  IF(MODE.EQ.11.AND.MENU)GO TO 100
IF(.NOT.ECHO)GO TO 90
NN = MINO(INCOL ,MARK)
IF(ILABEL.EQ.0)GO TO 80
WRITE(IOUT, 1001) 1LABEL, (CARD(1), I=1,NN)
ILABEL = 0

GOTO 90

80 WRITE(I0UT,1002)(CARD(1), I=1,NN)

90  IF(REREAD)GOTO 10

100 RETURN
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1001 FORMAT(1X,15,1X,80A1)
1002 FORMAT(T7X, 80A1)
1003 FORMAT(3H 7 )

END
Illllilliilili*lliilllllll'lllllllll!lllII!Iilll!*llllﬁllil‘llil!lli!l

* *
* SCANMC .
»* *
**ll!lll*l!llill"lllii!!l!lll‘illillll!lll*lliil!!l!liIi*llilllllii!l

LOGICAL FUNCTION SCANMC(TEXTA,TEXTB,NCHAR).

CHARACTER MATCH OF A AND B FOR NCHARS

OO0 QO OO0

COMMON /SCANIM/ NCPH,BLANK,INTZER,INTNIN,INTC,INTCOM,INTBLK
DIMENSION TEXTA(1), TEXTB(1)
REAL JA, J8, JC, JD
CHARACTER*1 AA(4), BB(4), CC(4), DD(4)
EQUIVALENCE (AA(1),JA), (BB(1),JB), (cc(1,Jcy, (DD(1),JD)
INTEGER |, NW, R
SCANMC = .FALSE.
NW = NCHAR/NCPW
NR = NCHAR-NW*NCPW
IF(NW.EQ.0)GO TO 20
DO 10 1 = 1, NW
IF(TEXTA(1).NE.TEXTB(1))GO TO 50
10 CONTINUE
20 IF(NR.EQ.0)GO TO 40
JA = TEXTA(NW+1)
JB = TEXTB(NW+1)
JC = BLANK
JD = BLANK
00 30 I = 1, \R
CC(4) = AA(D)
DD(4) = BB(1)
IF(JC.NE.JD)GO TO 50
30 CONTINUE
40 SCANMC = .TRUE.
50 RETURN
END .

c NN NN NN RR RN ER RN R R RRRR RN AR RERANRRRRRR R RN RN S
C* #

C * SCANDB ®
* ]
et s T TYTE S T T T2 T SRR L2222 LT L A AL n bt bt btbdobollel

SUBROUT INE SCANDB
DEBUG - ALL CHARACTER OUTPUT AT 4 PER WORD

OO0 OO0

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE,NCHAR,NWD,NEXT, 1COLMN
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,

1 POINT, RECS1Z, INIT, LEOF, EOL, MENU,

2 AUTORD, COMMNT, SIGNED

COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP,-DOREAD,

1 INCOL, JSTART(80), IBUFF(81), JBUFF(81),

2 101GIT(81), CARD(81)

EQUIVALENCE (1VAL(1),VALUE,|VALUE)

INTEGER RECSIZ, FILES, FILPT, FILLIM, COL, SKIP, PSTATE
LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,

1 COMMNT, AUTORD, SIGNED, NEXT, DOREAD
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WRITE(  6,901)
901 FORMAT(' A NEW STATEMENT')

c901 FOMT ( 1}.“,/’ 1} i"lll"!!l’llll'l’lillll/,

c 1 "#*SCAN DEBUG?*/,

c 2 ' “H!i'“‘l.‘lllll’llll'lll/)

WRITE(10UT,1002)RECS1Z, LIMIT, MARK, ECHAR, ECHO, PROMT, ILABEL,
INIT, POINT, MENU, LEOF, EOL, AUTORD, COMMNT,
SIGNED

WRITE(10UT,1003) INUNIT, 10UT, LREMOT, FILPT, FILLIM, FILES

WRITE(10UT,1004)COL, JUMP, NENT, PSTATE, SKIP, DOREAD, INCOL,

M) =

3 CARD, JBUFF, IBUFF, 1DIGIT

WRITE(10UT, 1005)ENTITY, MODE, VALUE, 1VALUE, IVAL, NCHAR, NWD,
1 NEXT, 1COLMN

RETURN

1002 FORMAT( %X, 25HC ONTROL STATE/

10X, 14HRECORD SIZE - ,110/

10X, 1SHRECORD LIMIT - , 12/

10X, 13HRECORD END - , 12/

10X, 23HRECORD END CHARACTER - , Al/

10X, 14HECHO SWITCH - , L1/

10X, 16HPROMPT SWITCH - , L1/

10X, 13HLINE LABEL - , 15/

10X, 24HINITIALIZATION SWITCH - , L1/

10X, 15HPOINT SWITCK - , L1/

10X, 14HMENU SWITCH - , L1/ .

10X, 21HEND OF FILE SWITCH - , L1/

10X, 21HEND OF LINE SWITCH - , L1/

10X, 19HAUTO READ SWITCH -~ ,L1/

10X, 17HCOMMENT SWITCH - , L1/

10X, 14HSIGN SWITCH - , L1/)

1003 FORMAT( 5X, 17H1 /0 S TA T €/

10X, 13HINPUT UNIT - , 12/

10X, 14HOUTPUT UNIT - , 12/

10X, 14HREMOTE WNIT - , 12/

10X, 21HFILE STACK POINTER -~ , 12/

10X, 13WFILE LIMIT = , 12/

10X, 13HFILE STACK - , 10(12, 2X)/)

1004 FORMAT( 5X, 19HS CAN S TA T E/

10X, 9HCOLUMN - , 12/

10X, THIJUMP - , 12/

10X, 16HENTITY NUMBER - , 12/

10X, 15HSTRING STATE -~ , 12/

10X, 13HSKIP STATE - , 12/

10X, 14HREAD SWITCH - , L1/

10X, 14HRECORD SIZE - , 12/

10X, 13HINPUT LINE - , 81Al/

10X, 18HINTERNAL RECORD - , 20(13,1X)/28X,20(13,1X)/
28%,20013,1X)/28X,21(13,1X)/

10X, 8HCLASS - , 20(13,1X)/18X,20(13,1X)/18X,20(13,1X)/
18X,21(13,1X)/

10X, 9HDIGITS - , 20(13,1X)/19X,20(13,1X)/19X,20(13,1X)/
19X,21(13,1X)/)

A B wWN — MMOOD>O0 N VAe WN =~

MOOM> O NOWUMAEWN=-

c
c THE A4 FORMAT 1S MACHINE DEPENDENT
c

1005 FORMAT( SX, ITHE N T 1 T Y/
1 10X, 9HENTITY - , 20A4/
2 10X, 8HVALUE - , G20.10/
3 10X, 9HIVALUE - , 120/
4 10X, THIVAL - , 2120/
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(Yol RN R N

END

10X,
10X,
10X,
10X,
10X,

THMODE -~ , 12/
1 2HCHARACTER -~ , 12/
8HWORDS - , 12/
THNEXT - , L1/
QHCOLUMN - , 12//
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$DEBUG

C lllilllilll*‘lill!l!!lllilll!lllllllllilllilllll‘llllIl!llllilliilllll

C* »
C * BLOCK DATA b
C * »
c et T DT TTT T S TR TR T RIS 2 22 222 2 2 22 S 2L LA A St b
BLOCK DATA

Cc

Cc INITIALZE THE SCANNER

Cc

COMMON /SCANER/ ENTITY(20),1VAL (2),MODE,NCHAR,NWD, NEXT, | COLMN
COMMON /SCANCT/ ECHAR, ECHO, ILABEL, LIMIT, MARK, PROMT,
1 POINT, RECSIZ, INIT, LEOF, EOL, MENU,

AUTORD, COMMNT, SIGNED
COMMON /SCAN10/ INUNIT, 10UT, FILES(10), FILPT, FILLIM, LREMOT
COMMON /SCANLN/ COL, JUMP, NENT, PSTATE, SKIP, DOREAD,
i INCOL, JSTART(80), IBUFF(81), JBUFF(81),
2 I0IGIT(81), CARD(81)
COMMON /SCANTB/ NSEPTB, NCLASS, 1TAB(256), ICLASS(256)
COMMON /SCANIM/ NCPW,BLANK, INTZER, INTNIN, INTC, INTCOM, INTBLK
EQUIVALENCE (1VAL(1),YALUE, I YALUE)
EQUIVALENCE (BLANK,TORAK1), (ENTITY,TORAK2), (CARD,TORAK3),
1 (ECHAR, TORAK4) ’
INTEGER RECS1Z, FILES, FILPT, FILLIM, COL, SKIP, PSTATE
LOGICAL ECHO, PROMT, POINT, INIT, LEOF, EOL, MENU,
1 COMMNT, AUTORD, SIGNED, NEXT, DOREAD
CHARACTER*4 TORAK1,TORAK2(20),TORAK3(81),TORAK4

c
c /SCANER/
c
DATA TORAK2/20%! v/, 1VAL/2%0/, MODE/0/, NCHAR/0/,
1 NWD/0/, NEXT/.FALSE./, ICOLMN/O/
c
c /SCANCT/
c
DATA TORAK4/'$ '/, ECHO/.TRUE./, ILABEL/0/, LIMIT/80/, MARK/80/,
1 POINT/.FALSE./, RECS1Z/80/, INIT/.FALSE./, LEOF/.FALSE./,
2 EOL/.TRUE./, MENU/.FALSE./, AUTORD/.FALSE./,
. 3 COMMNT/ . TRUE./, SIGNED/.FALSE./, PROMT/.FALSE./
c /SCAN10/
c
DATA INUNIT/S/, 10UT/6/, FILES/10%0/, FILPT/0/, FILLIM/10/,
1 LREMOT/6/
c
c /SCANLN/
c
DATA ©OOL/0/,- JuMP/1/, NENT/1/, PSTATE/O/, SKIP/1/,
1 DOREAD/.TRUE./, INCOL/80/, JSTART/80%*0/,
2 IBUFF/81%9/, JBUFF/81%9/, IDIGIT/81*0/,
3 TORAK3/81%! v/
c
c /SCANTB/
c
DATA NSEPTB/256/, NCLASS/256/
DATA 1TAB/8*0, axQ,
2 8%0, 8%0,
4 00, 00, 26,22,09,17,07,24, 04,11,10,05,16,03,02,15,
6 8%0, 00,00, 21,12,00, 25, 19, 20,
8 23,00, 00,00,00,00,00,00, 8*0,
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OO0

A 8*0, 00, 00, 00,01, 00,08, 13,00,
c 8%0, 8%0,
£ 8*0, 00, 00,00, ¢0, 06,00, 00,00,
1 8*0, 8%0,
3 8%0, 8%0,

5 00,00, 26,22,09,17,07,24, 04,11,10,05,16,03,02,15,
7 8%0, 00, 00, 21, 12,00, 25, 19, 20,
9 23,00,00,00,00,00,00,00, 8*0,
B 8%0, 00, 00,00, 01,00,08, 13,00,
D 8%0, 8%0,

F 8%0, 00, 00, 00, 00, 06, 00, 00,00/
DATA ICLASS/8%8, 8%8,

2 8*8, 8%8,

4 9,8,6,8,8,8,8,6, 8,8,8,2,8,3,7,8,

6 8%, 1,1,8,8,8,8,8,8,

8 8,5,5,5,5,4,5,5,  8%5,
A 8%5, 5,5,5,8,8,8,8,5,
c 8,5,5,5,5,5,5,5, 8%5,

E 8%5, 5,5,5,8,8,8,8,8,

1 8%8, 8xg,

3 8*8, 828,

5 9,8,6,8,8,8,8,6, 8,8,8,2,8,3,7,8,

7 8*t, 1,1,8,8,8,8,8,8,
9 8,5,5,5,5,4,5,5, 8%, .
B 8*5, 55,5,8,8,8,8,5,
D 8,5,5,%,5,9,5,5, B8%5,
F 8%5, 5,5,5,8,8,8,8,8/

/SCANIM/
DATA NCPW/4/, TORAK1/! '/, INTZER/48/,
1 INTNIN/S7/, INTC/67/, INTCOM /44/, INTBLK/32/

END
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$DEBUG
SUBROUTINE FIXCRD

ettt T T ST T 22T T LS L L LELEL L bbb bbbolabodl
FIXCRD - F1X CARD

THIS SUBROUTINE READS FROM THE SCAN INPUT FILE AND
WRITES TO THE OUTPUT FILE

CALLS TO : NONE

VARIABLE DEFINITION
PASSED : NONE

RETURNED: NONE

MODIFJCATION LOG

06/11/1986 RAS  INITIAL CODING

30363636 3 3 3638 36 36 36 3¢ 36 36 36 3 3 36 3 3% 3 3 3 3¢ 3 6 3 B 296 9 3 36 35 36 30 6 3 3636 36 3% 36 36 36 36 36 3¢ 36 36 I3 36 36 38 3 3¢ 36 36 3% 3¢

OO0 O0O0O0OODOOO0DO00O00

CHARACTER*4 CARD(20)
INTEGER IR, IW

10  READ(5,20,END=100) (CARD(IR),IR=1,20)
20 FORMAT(20A4)
WRITE(7,30)( CARD(IW),IW=1,20)
30 FORMAT(10X,20A4)
GOTO 10
100 CONTINUE

RETURN
END
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$DEBUG
SUBROUTINE 1ZERO (A,N, VALUE)

et TIT T T T T T 212 ST L L AL L L bbbl aiabalalale
1ZERO - INTEGER ZERO

THIS SUBROUTINE INITIALIZES THE INTEGER ARRAY TO YALUE

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
VALUE -~ INTEGER VALUE
N - S1ZE OF ARRAY
RETURNED :
A ~ INTEGER ARRAY

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

2096 36 36 36 36 3 36 96 36 30 3 76 36 36 38 36 36 36 3 3636 36 3 30 38 36 3630 36 3 36 36 3¢ ¢ (2223232322222 202222 2822 4]

00000000000 OOONOOOOO00 OO0 OOOO00

INTEGER VALUE,A(N)
INTEGER 1,N
Do 100 I=1,N
A(1) = VALUE
100 CONT INUE
RETURN
END
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$DEBUG
SUBROUTINE ZERO (A,N,VALUE)

3606 0606 3006 060000 6 00 06 0E E0E I 06 0000 00 00 00 0 006 006 00 B RO M0 0TI 00 N0 R RN R
ZERO ~- REAL ZERO

THIS SUBROUTINE INITIALIZES THE REAL*4 ARRAY TO VALUE

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
VALUE - REAL*4 VALUE
N - S1ZE OF ARRAY
RETURNED :
A ~ REAL®4 ARRAY

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

363536 36 36 3695 3 30 90 3 3636 3% 30 36 3¢ 36 38 3 36 30 76 3 3¢ J6-3¢ 3 1 3630 38 30 06 3630 36 6 3636 3636 36 3636 3 36 3 36 33006 06 30 38 3 3 6 4 3 2 ¢

00O 0000000000000 OONDDOOOO0O0OO0

REAL®*4 VYALUE,A(N)
INTEGER 1,N
DO 100 1=1,N
A1) = VALUE
100 CONTINUE
RETURN
END
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$DEBUG
SUBROUTINE DZERO (A,N, YALUE)

e re T T TI T T2 22 S AR 2 S 2 R S0 L b e Sl bt bbbl
DZERO - DOUBLE PRECISION ZERO

THIS SUBROUTINE INITIALIZES THE REAL*8 ARRAY TO VALUE

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
VALUE -~ REAL*8 VALUE
N - S1ZE OF ARRAY
RETURNED :
A - REAL®8 ARRAY

MODIF ICATION LOG

06/11/1986 RAS  INITIAL CODING

ill*ll’!!!****li!li!lll!!l‘l‘*ll‘i!l’l’!l!llllll!l!llllilllililli

OQGQOOOOOOOOOOOOOGOGOOOOOOOGOOOO

REAL*8  VALUE,A(N)
INTEGER 1,N
DO 100 I=1,N
AC1) = VALUE
100 CONT I NUE
RETURN
END
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THIS SUBROUTINE GETS THE STRUCTURE NUMBERS *

’lllllll!!!!*lllllilllIlllilllll!llilll!!l!illll!llllillllllll

SUBROUT INE GETNUM(NSTRUC, 1STRUC,MAXSTR, IMSG)

3636306066 0636 061 0696 2600 3606 2 00006 3 D6 06T 00 06 0 00T M AN 30 00 TR U 00600 0 060 000 0 N RN
GETNUM - GET STRUCTURE NUMBER

THIS SUBROUTINE GETS THE STRUCTURE NUMBER

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION

PASSED :
MAXSTR — MAXIMUM NUMBER OF STRUCTURES PERMITTED
IMSG - ERROR MESSAGE FILE NUMBER

RETURNED :
NSTRUC - STRUCTURE NUMBER

ISTRUC - NUMBER OF STRUCTURES TO BE RATED

MODIFICATION LOG

06/11/1986 " RAS  INITIAL CODING

30 36 96 36 36 36 3636 36 36 30 3 3 36 36 36 3 3 3636 36 36 3 3 3% 36 3F I 3 06 96 3¢ 36 23 6 33 3 I3 I U F I 26V P 36 2 33 I 3¢ 3 322 2

OO 0O0O0O000000O00000N0000N000NON0O0O0 O0O0O000

COMMON /SCANER/ ENTITY(20), | VAL (2),MODE,NCHAR,NWD,NEXT, ICOLMN
EQUIVALENCE (I1VAL(1), VALUE, I VALUE)

INTEGER 1VALUE

REAL®4 VALUE

INTEGER DUMMY, INTEG
INTEGER NSTRUC(1), IMSG, I1STRUC
LOGICAL SEP,ENDCRD, INTEGR,NEXT

ISTRUC=1

10 IF( .NOT. INTEGR(INTEG)) GOTO 8000
NSTRUC(ISTRUC) = INTEG

IF( ENDCRD(DUMMY)) RETURN

- IF(SEP (DUMMY)) GOTO 25
GOTO 30

25 |F(DUMMY .NE. 3) GOTO 8001

CALL READSC

30 ISTRUC= ISTRUCH!
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c
c
c

IF( ISTRUC .GT. MAXSTR) GOTO 8002
GOTO 10

ERROR MESSAGES

8000 CALL REMARK(IMSG,'ERROR - INCORRECT NUMERIC INTEGER INPUT.
GOTO 8990
8001 CALL REMARK(IMSG,'ERROR - ILLEGAL CONTINUATION SEPARATOR.
GOTO 8990
8002 CALL REMARK(IMSG,'ERROR - INCREASE MAXSTR TO:
WR1 TE( 1MSG,8003) 1STRUC
8003 FORMAT(10X,110)
GOTO 8990
8990 CALL EXIT
END
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$DEBUG

SUBROUTINE GETGIR(GROSPC, I STRUC, IMSG)

llllIlll!i*!f’lllili!ll!!lil*ll’!illllil!l!'!ii!lil!llllilllll

GETGIR — GET GIRDER SPACING

THIS SUBROUTINE GETS THE GIRDER SPACING

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION

PASSED :
ISTRUC - NUMBER OF STRUCTURES TO BE RATED
IMSG -~ ERROR MESSAGE FILE NUMBER .
RETURNED :
GRDSPC - GIRDER SPACING

sXeleNsXsKs s K2 it K3 Xe X2 X2 X2 X k2 K2 Nz s X2 X2 Ko Ke KzXsKs N e Xe R s Ao N e NN e e N )

10

25
30

40

MODIFICATION LOG
06/11/1986 RAS  INITIAL CODING

633 36 3 3% 3 B8 36 3 38 3636 IE-96 30 T 366 3 T4 T 3 36 T I 36 36 38 I3 30 36 30363 30 36 3 5 38 36 2 3¢ 6 3 3 2 20 6 3 3 I e 0 T WH

COMMON /SCANER/ ENTITY(20), 1 VAL(2),MODE, NCHAR, NWD, NEXT, ICOLMN
EQUIYALENCE (1VAL(1),VALUE, | VALUE)

INTEGER 1VALUE

REAL*4 VALUE

INTEGER DUMMY

INTEGER IMSG, ISTRUC

REAL*4 REEL

REAL*®*8 GRDSPC(1)

LOGICAL SEP,ENDCRD,NUMR,NEXT

=1
IF( «NOT. NUMR(REEL)) GOTO 8000
GRDSPC(1) = DBLE(REEL)
IF( ENDCRD(DUMMY)) GOTO 40
IF(SEP (DUMMY)) GOTO 25 .

GOTO 30

IF(DUMMY .NE. 3) GOTO 8001
CALL READSC

=141

IF(1 .GT. ISTRUC) GOTO 8002
GOTO 10

IF(I LT. ISTRUC) GOTO B0OO3
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c
c
c

RETURN
ERROR MESSAGES

8000 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8001 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8002 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8003 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8990 CALL EXIT

END

INCORRECT NUMERIC REAL INPUT.
ILLEGAL CONTINUATION SEPARATOR.
TOO MANY GIRDER SPACINGS ENTERED.
100 FEW GIRDER SPACINGS ENTERED.
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$DEBUG
SUBROUTINE GETOPE (OPRING, 1 STRUC, IMSG)

T PP PP T T T T T T T T ST SR YIS 22 22222 23222022222 222
GETOPE - GET OPERATING RATING

THIS SUBROUTINE GETS THE OPERATING RATING

CALLS TO : READSC
REMARK
EXIT

VAR|ABLE DEFINITION
PASSED :

ISTRUC — NUMBER OF STRUCTURES TO BE RATED
IMSG - ERROR MESSAGE FILE NUMBER

RETURNED :

OPRING ~ OPERATING RATING

MODIFICATION LOG
06/11/1986 RAS  INITIAL CODING

L322 22222222 22222322 222222222 22232 3232232222122 2223 3 2d])

sEeleNolrieNolo NN NoloN oo NoNoNoNoNo e NoNoNeNoNsNe ke oo Moo Ra ol

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR, NWD,NEXT, |COLMN
EQUIVALENCE () VAL (1), VALUE, 1 VALUE)

INTEGER IVALUE |

REAL*4 VALUE

c
INTEGER DUMMY, INTEG
INTEGER OPRING(1), IMSG, ISTRUC
LOGICAL SEP,ENDCRD, INTEGR,NEXT
c

=1
10 IF( .NOT. INTEGR(INTEG)) GOTO 8000
OPRING(1) = INTEG
IF( ENDCRD(DUMMY)) GOTO 40
IF(SEP (DUMMY)) GOTO 25
GOTO 30
25 IF(DUMMY .NE. 3) GOTO 8001
CALL READSC
30 I= 141
IF(1 GT. ISTRUC) GOTO 8002
GOTO 10
40 IF(1 .LT. ISTRUC) GOTO 8003
RETURN

C  ERROR MESSAGES
59



8000 CALL REMARK(IMSG,'ERROR
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR
GOTO 8990

8002 CALL REMARK(IMSG,'ERROR
GOTO 8990

8003 CALL REMARK(IMSG,'ERROR
GOTO 8990

8990 CALL EXIT

END

INCORRECT NUMERIC INTEGER INPUT.
JLLEGAL CONTINUATION SEPARATOR.
TOO MANY OPERATING RATINGS ENTERED.

TOO FEW OPERATING RATINGS ENTERED.
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$DEBUG

IllIlllllliillllllll!llliI*lllllllllil!ﬁlllllllllll!*llll!llll

THIS SUBROUTINE GETS THE SLAB PLAN NUMBERS *

llIl*llI*!!illlllllill!i!!ll'IlllI!l!!IIlliilllillliillillllii

aOOO00n

SUBROUTINE GETSLB(1SPLAN, ISLAB, ISTRUC, IMSG)
060060 96 63606 30 0036 06 063606 006 36000030 3636 006 6 30 0000 96 000 303030 3000 00000096 00 00 0600 0 030 0 N
GETSLB - GET SLAB PLANS

THIS SUBROUTINE GETS THE SLAB PLANS

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION

PASSED :
ISTRUC - MAXIMUM NUMBER OF STRUCTURES ENTERED
IMSG - ERROR MESSAGE FILE NUMBER
RETURNED :
ISPLAN - SLAB PLAN NUMBER
ISLAB -~ NUMBER OF SLAB PLANS INPUT

MODIFICATION LOG

07/02/1986 -RAS  INITIAL CODING

336 330 P30 2 63 3 3 T 363 3308 36 363 30 30 266 26 3 306 30 96 36 2020 I 30 30 3 0 06 36 36 A 3 36 30 36 6 3 36 3 3 3 0 36 3¢ 2 3

2 XXXz K2k X2 X2 Xs X2 X X2 K2 Xz X2 Ks X2 Xs X2 X2 XeXe K2 Xz Xs s N e X e e ke Ne Ko Mo Xe M ¢/

COMMON /SCANER/ ENTITY(20), I VAL (2),MODE, NCHAR,NWD,NEXT, 1COLMN
EQUIVALENCE (1VAL(1),VALUE, | VALUE)
INTEGER 1VALUE

REAL*4 VALUE
c
INTEGER DUMMY, INTEG
INTEGER ISPLAN(1),IMSG, ISLAB, I STRUC
LOGICAL SEP,ENDCRD, INTEGR,NEXT
c
ISLAB=1
10 IF( .NOT. [INTEGR(INTEG)) GOTO 8000
ISPLANCISLAB) = INTEG -
IF( ENDCRD(DUMMY)) RETURN
1F(SEP (DUMMY)) GOTO 25
GOTO 30
25 |F(DUMMY .NE. 3) GOTO 8001
CALL READSC

30  1SLAB= ISLAB+
61



IF( ISLAB .GT. ISTRUC) GOTO 8002
GOTO 10

c
c ERROR MESSAGES
c

8000 CALL REMARK(IMSG,'ERROR ~ INCORRECT NUMERIC INTEGER INPUT. "
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR - ILLEGAL CONTINUATION SEPARATOR. ")
GOTO 8990

8002 CALL REMARK(IMSG,'ERROR = TOO MANY SLAB PLANS ENTERED. "
GOTO 8990

8990 CALL EXIT

END
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$DEBUG

SUBROUT INE GETCNT(CONTIN, | STRUC, IMSG)

I*lilIlllllllllliiiillllllllllllllllllllii!lllllilillllllilll!

"GETCTN - GET CONTINUITIES

THIS SUBROUTINE GETS THE CONTINUITIES

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION

PASSED :

ISTRUC - NUMBER OF STRUCTURES TO BE RATED
IMSG - ERROR MESSAGE FILE NUMBER

RETURNED :

CONTIN ~ CONTINUITY

OOOOOOQOOOGOOOOGOOOOOGOOOOOOOOOOOO

10

25
30

40

MODIFICATION LOG
06/11/1986 RAS  INITIAL CODING

ll'!IIilll*!!lillllillil!l*li!l!l!iIllil!lil!llil!lilll*li!i!l

COMMON /SCANER/ ENTITY(20), 1 VAL(2),MODE ,NCHAR,NWD ,NEXT, 1COLMN
EQUI VALENCE (1VAL(1),VALUE, | VALUE)

INTEGER |VALUE

REAL®*4 VALUE

INTEGER DUMMY, INTEG
INTEGER CONTIN(1), IMSG, ISTRUC
LOGICAL SEP,ENDCRD, INTEGR,NEXT

=1

IFC .NOT. INTEGR(INTEG)) GOTO 8000
CONTIN(1) = INTEG

}F{ ENDCRD(DUMMY)) GOTO 40

IF(SEP (DUMMY)) GOTO 25
GOTO 30

IF(DUMMY .NE. 3) GOTO 8001
CALL READSC

1= 141 .

IFCH .GT. 1STRUC) GOTO 8002
GOTO 10

IF(1 .LT. ISTRUC) GOTO 8003
RETURN

ERROR MESSAGES
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8000 CALL REMARK(IMSG,'ERROR
GOTO 8990
8001 CALL REMARK(IMSG, 'ERROR
GOTO 8990
8002 CALL REMARK(IMSG, 'ERROR
. GOTO 8990
8003 CALL REMARK(IMSG, 'ERROR
GOTO 8990
8990 CALL EXIT
END

]

1

INCORRECT NUMERIC INTEGER INPUT.
ILLEGAL CONTINUATION SEPARATOR.
TOO MANY CONTINUITY ITEMS ENTERED.

TOO FEW CONTINUITY ITMES ENTERED.
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$DEBUG

s Xs e iels el s NeNsleNelsNa e loNes e NoNeNe e Ne e Rol oo o oo N o e N el

SUBROUTINE GETSTD(10VLD, IMSG)

263636 36 36 36 38 36 36 35 36 36 36 36 36 36 36 36 3 36 36 36 36 36 36 36 36 36 35 36 36 3F 96 36 36 36 30 36 36 20 36 36 30 3 36 30 36 30 3% 0 30 06 26 36 06 3 06 06 3 00 0

GETSTD - GET STANDARD VEHICLES

THIS SUBROUTINE GETS THE STANDARD VEHICLES TO BE RATED

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION
PASSED :
IMSG - ERROR MESSAGE FILE NUMSER

RETURNED :
IOVLD -~ STANDARD VEHICLE IDENTIFICATION

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

36 363698 303 36 36 36 38 36 36 36 30 36 36 38 36 08 36 36 36 30 36 36 96 J6 T 30 3 36 T 3 3 3T o 20 3 36 I N 2 232 3 3 3 3 6 3 3 3 3 3 % M

110
120
130

COMMON /SCANER/ ENTITY(20), 1 VAL (2),MODE,NCHAR, NWD,NEXT, ICOLMN
EQUIVALENCE (1VAL (1), VALUE, I VALUE)

INTEGER 1VALUE -

REAL*4 VALUE .

INTEGER DUMMY
INTEGER IMSG, 1OVLD
LOGICAL SEP,ENDCRD,MATCH,NEXT

IF(MATCH('H20',3)) GOTO 110
IF(MATCH('HS20',4)) GOTO 120
IF(MATCH('ALTERNATE"', 3))GOTO 130

IF (MATCH('TYPE', 3)) GOTO 140
IF(MATCH('P5',2)) GOTO 150
1F(MATCH('P7',2)) GOTO 160
IF(MATCH('P9',2)) GOTO 170
IF (MATCH('P11',3)) GOTO 180
IF(MATCH('P13',3)) GOTO 190

GOTO 8000 .
IOVLD=1

RETURN
10VLD=2

RETURN
IFC.NOT. MATCH('MILITARY',3))GOTO 8001
1OVLD=3
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RETURN
140 IF( MATCH('352',3))GOTO 145
IF(  MATCH('33' ,2))GOTO 146
IF(  MATCH('3' ,1))GOTO 147
GOTO 8002
145 10W.D=5
RETURN
146 10VLD=6
RETURN
147 1OVLD=4
RETURN
150 1OWD=7
RETURN
160 10VLD=8
RETURN
170 10VD=9
RETURN
180 10WLD=10
RETURN
190 10VLD=11
RETURN

ERROR MESSAGES

OO0

8000 CALL REMARK(IMSG,'ERROR - INCORRECT STANDARD VEHICLE INPUT. ')
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR - THE WORD <MILITARY> 1S MISSING. ")
GOTO 8990

8002 CALL REMARK(IMSG,'ERROR - <352>, <33>, OR <3> IS MISSING. ')
GOTO 8990 ;

8990 CALL EXIT

END
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$0EBUG
SUBROUT INE STAND(10VLD, I GROUP ,PL ,DX,WHO,WHI , IFL, JFG, IMSG)

JUEIEIN 06 I 2 IO 060036 I I I 00 2000 3 06 00 0 006 O U060 IO N MR
STAND - STANDARD OVERLOAD/RATING VEHICLES

THIS SUBROUTINE READS IN STANDARD VEHICLES TO BE RATED

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
IOVLD - OVERLOAD VEHICLE IDENTIFICATION
RETURNED:
IGROUP -~ GROUP IDENTIFICATION
PL = AXLE LOADS
(1) 4 - DISTANCES TO THE AXLES
WO ~ OUTER WHEEL GAGE
Ll - INNER W

MODIFICATION LOG

06/11/1986 RAS INITIAL CODING

363836 36 36 96 36 36 36 3630 36 36 36 36 96 36 36 6 36 3 36 38 36 3t 36 96 38 3 3630 6 3 369 96 363636 36 30 3 3¢ 98 3 30 36 3 30 3 36 30 3 36 3 363 363 3 3 %

OO0 OO0 00000000000

INTEGER IGROUP(1),I1FL,JFG, IMSG, 10VLD, |

REAL®*8 PL(1),WHO(1),WHI(1),DX(1)

INTEGER 1GRPA(2), IGRPB(3), IGRPC(2), IGRPD(3), IGRPE(5)
INTEGER IGRPF(6), IGRPG(3), IGRPH(4), IGRPI(5), IGRPJ(6)
INTEGER IGRPK(T)

REAL*8 TRUCKA(2),TRUCKB(3),TRUCKC(2),TRUCKD(3),TRUCKE(5)
REAL*8 TRUCKF(6),TRUCKG(3), TRUCKH(4),TRUCK] (5}, TRUCKJ(6)
REAL®*8 TRUCKK(7)

REAL*8 DXA(2) ,DXB(3) , DXC(2) ,DXD(3) ,DXE(5)
REAL*8 DXF(6) ,DXG(3) , DXH(4) ,DX1(5) ,DXJ(6)
REAL*8 DXK(7)

REAL®*8 WHOA(2) ,WHOB(3) , wHOC(2) ,WHOD(3) ,WHOE(5)
REAL*8 WHOF(6) ,WHOG(3) , WHOH(4) ,WHOI(5) ,WHOJ(6)
REAL*8 WHOK(7)

c
DATA IGRPA / 1, 2/
DATA TRUCKA / 8.00, 32.00/
DATA DXA / 0., 14.00/
DATA WHOA / 6.0, 6.00/
c
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OO0 o

100

DATA I1GRPB / 1,
DATA TRUCKB / 8.00,
DATA DXB / 0. ,
DATA WHOB / 6. ,
DATA IGRPC / 1,
DATA TRUCKC / 24.00,
DATA DXC / o.,
DATA WHOC / 6.0,
DATA IGRPD / 1,
DATA TRUCKD / 16.00,
DATA DXD / 0. ,
DATA WHOD / 6. ,
DATA IGRPE / 1,
DATA TRUCKE / 10.00,
DATA DXE / 0. ,
DATA WHOE / 6. ,
DATA IGRPF / 1,
DATA TRUCKF / 12.00,
DATA DXF / 0. ,
DATA WHOF  / 6. ,
DATA IGRPG / 1,
DATA TRUCKG / 26.00,
DATA DXG / o0. ,
DATA WHOG / 6. ,
DATA IGRPH / 1,
DATA TRUCKH / 26.00,
DATA DXH / 0. ,
DAYA WHOH / 6. ,
DATA IGRPI / 1,
DATA TRUCK) / 26.00,
DATA DXI / 0. ,
DATA WHO! / 6. ,
DATA IGRPJ / 1,
DATA TRUCKJ / 26.00,
DATA DXJ / 0. ,
DATA WHOJ / 6. ,
DATA IGRPK / 1,
DATA TRUCKK / 26.00,
DATA DXK / 0. ,
DATA WHHOK 7/ 6. ,

GOTO( 100, 200, 300, 400, 500,600, 700,800,900, 1000, 1100) |OVLD

2,
32.00,
14.00,

6. ,

2/
24.00/
4.00/
6.00/

2,
17.00,
15.00,

6. ,

2,
15.50,
11.00,

6. ,

2,
12.00,
15.00,

6.

2,
48.00,
18.00,

6. ,

2,
48.00,
18.00,

6. ¥ ]

2,
48.00,
18.00,

6. ,

2,
48.00,
18.00,

6. ,

2,
48.00,
18.00,

6. ,

H20

IFL=2

JFG=2

DO 110 I=1,I1FL
IGROUP(1) = IGRPA(L)
PL(D) = TRUCKA(I)
oX(1) = DXA(1)

3/
32.00/
28.00/

6.

3/
17.00/
19.00/

6. [/

3,
15.50,
15.00,

6- r}

3,
12.00,
19.00,

6. ¥

3/
48.00/

36.00/
6.

3,
48.00,
36.00,

6. ,

3,
48.00,
36.00,

6. ,

3,
48.00,
36.00,

6. ,

3,
48.00,

4, 5/
15.50, 15.50/
37.00, 41.00/

6. , 6. [/

4) 5'
16.00, 14.00,
34.00, 50.00,

6. . r 6. r

4/
48.00/ -
54.00/

6. [/

4, s/
48.00, 48.00/
54.00, 72.00/

6. , 6. /

4, 3,
48.00, 48.00,
54.00, 72.00,

6. , 6. ,

4 5

48.00. 48.00, 48.00, 48.00/

6/
14.00/
54.00/

6. /

6/
48.00/
90.00/

6. /

6

1/

36.00, 54.00, 72.00, 90.00,108.00/

6. ,
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110

OO0

200

210

OO0

300

310

OO0

400

410

OO0

500

510

OO0

600

WHO(1) = WHOA(!)
WH1(1) = 0.D0

CONT INUE

RETURN

HS20

IFL=3

JFG=3

DO 210 I1=1,IFL
IGROUP(1) = IGRPB(1)
PL(1) = TRUCKB(1)
DX(1) = DXB(1)
WHO(1) = WHOB(1)
WHi(1) = 0.D0

CONTINUE

RETURN

ALTERNATE MILITARY

IFL=2

JFG=2

DO 310 I=1,IFL
1GROUP(1) = 1GRPC(1)
PL{1) = TRUCKC(1)
DX(1) = DXC(1)
WHO(1) = WHOC(1)
WHI(1) = 0.00

CONT INUE

RETURN

TYPE 3

iIFL=3

JFG=3

DO 410 I=1,IFL
IGROUP(1) = IGRPD(1)
PL(D) = TRUCKD(1)
DX(1) = DXD(})
WHO( 1) = WHOD(1)
WHI(1) = 0.D0

CONT INUE

RETURN

TYPE 3-S2

IFL=5

JFG=5

DO 510 I=1,IFL
IGROUP(1) = IGRPE(I)

PLID) = TRUCKE(1)
DX(1) = DXE(1)
WHO(1) = WHOE(I)
WHI (1) = 0.D0

CONT INUE

RETURN

TYPE 3-3

IFL=6
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610

s Xe el

700

7o

OO0

800

810

OO0

900

JFG=6
DO 610 I=1,IFL

1GROUP(1) = 1GRPF(1)
PL(}) = TRUCKF (1)
DX (1) = DXF(1)
WHO(1) = WHOF (1)
WHi (1) = 0.D0

CONT I NUE

RETURN

P5

IFL=3

JFG=3

D0 710 I=1,IFL
IGROUP(1) = I1GRPG(1)
PL(D) = TRUCKG(1)
DX(IN = DXG(1)
WHO(1) = WHOG(1)
WHI(D) = 0.D0

CONTINUE

RETURN

P7

IFL=4

JFG=4

DO 810 I=1,IFL
IGROUP(1) = IGRPH(I)
PL(D) = TRUCKH(1)
DX = DXH(1)
WHO(1) = WHOH(1)
WHI(D) = 0.00

CONT INUE

RETURN

P9

IFL=5

JFG=5

DO 910 I=1,IFL
IGROUP(1) = IGRPI(1)
PL(D) = TRUCKI(1)
DX(1) = DX1(1)
WHO(1) = WHOI(1)
WHI(1) = 0.00

CONTINUE

RETURN

P11

IFL=6

JFG=6

DO 1010 I=1,1FL
IGROUP (1) = 1GRPJ(I)
PL{D) = TRUCKJ(1)
DX(1) = DXJ(1)
WHO(1) = WHOJ(I)
WHI(1) = 0.00

1010 CONTINUE
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-0O000

RETURN
P31

100 [IFL=7
JFG=17

DO 1110 I=1,IFL

1GROUP (1)
PLCT)
DX(1)
WHO( 1)
WHIC1)
1110 CONTINUE
RETURN
END

LB IS I I

IGRPK(1)
TRUCKK( 1)
DXK(1)
WHOK (1)
0.00
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$DEBUG
SUBROUTINE GETIND(PL,DX, IGROUP, IFL, JFG,MAXILD, IMSG)

ppornppepapppert eI YT YIS TT I RIS AT T L 4 A2 LA LA R e bbbt
GETIND - GET INDIVIDUAL TRUCK CONFIGURATION

THIS SUBROUTINE GETS THE INDIVIDUAL TRUCK CONFIGURATION

CALLS TO : READSC
REMARK

VARIABLE DEFINITION

PASSED:
MAXILD - MAXIMUM AXLE LOADS PERMITTED
IMSG - ERROR MESSAGE FILE NUMBER
RETURNED:
PL - AXLE LOADS
DX -~ DISTANCES TO THE AXLES
IGROUP - GROUP IDENTIFICATION
IFL - NUMBER OF INDIVIDUAL AXLES
JFG - NUMBER OF GROUP AXLES

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

36303 9 3% 9 36 6 3 36 38 36 36 36 36 36 % 36 36 96 36 3% 36 3 6 36 3696 36 36 36 36 3 I8 36 31 36 6 30 30 3 9% 3036 26 9 3 3 U9 336 30 6 I 6 32 0 3

0000000000000 N0ONNNO0N00NON0DOOONOO0O0

COMMON /SCANER/ ENTITY(20), | VAL (2),MODE ,NCHAR,NWD,NEXT, 1COLMN
EQUIVALENCE (1VAL(1), VALUE, | VALUE)
INTEGER 1VALUE

REAL®4 VALUE
c
INTEGER 1LD,JGP,DUMMY,MAXILD, IFL, JFG, IMSG
INTEGER 1GROUP(1)
REAL*4  REEL
REAL*8  DXTOT,PLOAD,AS
REAL®*8  PL(1),DX(1)
LOGICAL SEP,ENDCRD,NUMR,NEXT
c
ILD=1
JGP=1 .
DXTOT=0.0D0
c
c SINGLE LOAD
C

15 IF( «NOT. NUMR (REEL) ) GOTO 8000
PLOAD=  DBLE(REEL)
PL(ILD)= PLOAD
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OO0

c

1GROUP(1LD)= JGP
DX(1LD)= DXTOT
IFL=1LD

JFG=JGP

IF( ENDCRD(DUMMY)) RETURN

SINGLE AXLE SPACING

IF( .NOT. NUMR (REEL) )
AS=DBLE (REEL)
DXTOT= DXTOT + AS
IF(ENDCRD (DUMMY))
IF( SEP(DUMMY)
GOTO 30
25 IF( DUMMY .NE. 3)
CALL READSC
30 ILD=ILD#?
JGP=JGP+1
IF(ILD .GT. MAXILD)
GOTO 15

8000 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR
GOTO 8990

8009 CALL REMARK(IMSG, 'ERROR
WRITE(IMSG,8100) IFL

8100 FORMAT (10X, 110)
GOTO 8990

8011 CALL REMARK(1IMSG,'ERROR
GOTO 8990

8990 CALL EXIT
END

GOTO 8000

GOTO 8001

)GOTO 25

GOTO 8011

GOTO 8009

INCORRECT NUMERIC REAL INPUT.
AXLE LOAD MISSING.

INCREASE MAXILD TO:

ILLEGAL CONTINUATION SEPARATOR.
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$DEBUG
SUBROUTINE GETGRP(PL,DX, IGROUP, IFL, JFG,MAXILD, IMSG)

opeppepapeppereprrtr TS T T YT TR 11T S SRR L LA LE S L EE b bkl
GETGRP - GET GROUP TRUCK CONFIGURATION

THIS SUBROUTINE GETS THE INDIVIDUAL TRUCK CONF IGURAT 10N

CALLS TO : READSC
REMARK

VARIABLE DEFINITION

PASSED:
MAXILD - MAXIMUM AXLE LOADS PERMITTED
IMSG - ERROR MESSAGE FILE NUMBER
RETURNED:
PL ~ AXLE LOADS
DX ~ DISTANCES TO THE AXLES
IGROUP ~ GROUP IDENTIFICATION
IFL - NUMBER OF INDIVIDUAL AXLES
JFG -~ NUMBER OF GROUP AXLES

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING
07/02/1986 RAS  POL MODIFICATION

lillli*ll*llll!llli!liliIIIl*llilllll!llllll‘lllillllllll‘lll‘l!

OO0 OO0 OO0O0 OO0 O0OOOO0O0O0

COMMON /SCANER/ ENTITY(20), | VAL (2),MODE ,NCHAR, NWD,NEXT, ICOLMN
EQUIVALENCE (1VAL(1),VALUE, I VALUE)

INTEGER 1VALUE

REAL*4 VALUE

INTEGER ILD, JGP, INTEG,DUMMY,NAS,MAXILD, IFL, JFG, IMSG
INTEGER IGROUP(1)

REAL*4  REEL

REAL®*8  DXTOT,PLOAD,AS

REAL®8  PL(1),DX(1)

LOGICAL SEP,ENDCRD, INTEGR,NUMR ,NEXT

ILo=1 .
JGP=1

IFL= LD

JFG= JGP

DXT0T=0.0D0

NAS=0

C GROUP AXLE LOAD
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OO0

OO0

(2 X e Nyl

10

20

40

45

75

100

120

IF( .NOT. NUMR (REEL) ) GOTO 8000

PLOAD=  DBLE(REEL)
1F( ENDCRD (DUMMY)) GOTO 10

GOTO 20

PL(ILD) =PLOAD
IGROUP(ILD) =JGP
DX(1LD) =DXTOT
RETURN

NUMBER AXLES PER GROUP

IFC .NOT. INTEGRCINTEG)) GOTO 8001
NAS= INTEG
IF( ENDCRD (DUMMY))  GOTO 8002

GROUP AXLE SPACING

IF( .NOT. NUMR (REEL)) GOTO 8000
AS=DBLE(REEL)

IF( ENDCRD (DUMMY)) GOTO 40
GOTO 75
IFL = ILD + NAS -1
JFG = JGP
IF(IFL .GT. MAXILD) GOTO 8009
DO 45 I=1LD,IFL

PL(1) = PLOAD

IGROUP(1) = JGP

DX(1) = DXTOT

DXTOT = DXTOT + AS
CONT INUE

DXTOT = DXTOT =AS
RETURN

SPACING TO NEXT GROUP

IF(.NOT. NUMR (REEL)) GOTO 8000
SNG= DBLE(REEL)
IFL = ILD + NAS -t
JFG = JGP
IFCIFL .GT. MAXILD) GOTO 8009

DO 100 I1=1LD,IFL

PL(1) = PLOAD

IGROUP(1) = JGP

DX(1) = DXTOT

IFCIFL .EQ. 1) GOTO 100

DXTOT = DXTOT + AS
CONT I NUE

DXTOT = DXTOT - AS
DXTOT = DXTOT + SNG

IF( SEP (DUMMY)) GOTO 120
GOTO 8012

IF{ DUMMY .NE. 3) GOTO 8011
CALL READSC

ILD = ILD + NAS

JGP = JGP + 1

IFL = ILD

JFG = JGP

IF(IFL .GT. MAXILD) GOTO 8009

75



c

GOTO 5

8000 CALL REMARK(IMSG,'ERROR
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR
GOTO 8990

8002 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8009 CALL REMARK(IMSG,'ERROR
WRITE(IMSG,8100) IFL

8100 FORMAT(10X, 110)
GOTO 8990

8011 CALL REMARK(IMSG,'ERROR
GOTO 8990

8012 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8990 CALL EXIT
END

INCORRECT NUMERIC REAL VALUE.
INCORRECT NUMERIC INTEGER VALUE.
AXLE SPACING MISSING.

INCREASE MAXILD TO:

ILLEGAL CONTINUATION SEPARATOR.

CONTINUATOR MISSING.
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$DEBUG

SUBROUT INE GETWHL ( 1GROUP,WHL , IFL, JFG,MAXILD, IMSG)

363638 3% 3% 36 36 36 35 3 36 36 38 36 30 36 36 36 36 36 36 36 3 36 36 D6 38 3 36 36 36 36 3636 36 36 363036 36 36 3 3 38 36 36 0 3% 36 36 3¢ 30 30 3% 36 36 36 30 3¢ 6 3¢ 2

GETWHL ~ GET WHEEL CONFIGURATION
THIS SUBROUTINE GETS THE WHEEL CONFIGURATION

CALLS TO : REMARK

VARIABLE DEFINITION

PASSED :
MAXILD - MAXIMUM AXLE LOADS PERMITTED
IMSG -~ ERROR MESSAGE FILE NUMBER
IFL - NUMBER OF INDIVIDUAL AXLES
JFG - NUMBER OF GROUP AXLES
IGROUP - GROUP IDENTIFICATION
RETURNED :
WHL -~ WHEEL GAGE

OO0 OO0 OOOO0

OO0

10

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING
07/02/1986 RAS  POL MODIFICATION

I3 2122222333232 :T233 3222222233232 22322222 23222222222 el s

COMMON /SCANER/ ENTITY(20),1VAL(2),MODE ,NCHAR,NWD,NEXT, 1COLMN
EQUIVALENCE (1VAL(1), YALUE, I YALUE)

INTEGER ) VALUE

REAL¥4 VALUE

REAL¥*4 REEL

INTEGER LD, JGP,DUMMY, IFWO, IFWG, IGROUP (1), ICHCK1, 1CHCK2,MAXILD
REAL*8 WHL (MAXILD)

LOGICAL SEP,NUMR,ENDCRD,NEXT

Ito = 1
JGP = 1
1FOIFL .NE. JFG)GOTO 40

SINGLE WHEEL SPACING
IFCILD .GT. IFL) GOTO 8001

1F( .NOT. NUMR (REEL) ) GOTO 8002
WHL(1LD) = DBLE(REEL)

IFHO = ILD

IFWG = JGP
1F( ENDCRD(DUMMY) ) GOTO 300
JF( SEP(DUMMY)) GOTO 15
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OO0

15
17

40

45

50

100

150

300
400

8000
8001
8002
8004
8005
8008
8009

8010

8990

GOTO 17
IF(DUMMY .NE. 3)
CALL READSC
JGP = JGP +1
ILD = ILD +1

GOTO 10

GROUP WHEEL SPACINGS
IF(JGP .GT. JFG)

IF( .NOT. NUMR (REEL))
WHL(1LD) = DBLE(REEL)

GOTO 8010

GOTO 8004
GOTO 8005

IF(ILD .EQ. IFL) GOTO 50

ICHCK1 = IGROUP(ILD)

ICHCK2 = IGROUP(ILD+1)

IF( 1CHCK1 .NE. ICHCK2) GOTO 50

WHL(I1LD+1) = WHL(ILD)
ILD = ILD + 1

GOTO 45

IFWG = JGP

IFW0 = ILD

IF  (ENDCRD(DUMMY)) GOTO 400

IF( SEP(DUMMY))
GOTO 150

IF(DUMMY .NE. 3
CALL READSC
JGP=JGP + 1
ILO=ILD + 1
GOTO 40

IF( IFWO .NE. IFL)
RETURN

IF( IFWG .NE. JFG)
RETURN

CALL REMARK(IMSG, 'ERROR
GOTO 8990

CALL REMARK(IMSG,'ERROR
GOTO 8990

CALL REMARK(IMSG,'ERROR
GOTO 8990

CALL REMARK(IMSG,'ERROR
GOTO 8990

CALL REMARK(IMSG,'ERROR
GOTO 8990

CALL REMARK(1MSG,'ERROR
GOTO 8990

CALL REMARK(1MSG,"ERROR
GOTO 8990

CALL REMARK(1MSG, 'ERROR
GOTO 8990

CALL EXIT
END

GOTO 100

) GOTO 8010

GOTO 8008

GOTO 8009

SEPARATOR NOT ALLOWED.

TD0 MANY SINGLE WHEEL SPACINGS.
INCORRECT SINGLE WHEEL SPACING.

TOO MANY GROUP WHEEL SPACINGS.
INCORRECT GROUP WHEEL SPACING.
INCORRECT NO. SINGLE WHEEL SPACINGS.
INCORRECT NO. GROUP WHEEL SPACINGS.

ILLEGAL CONTINUATOR.
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$0EBUG

SUBROUTINE GETIMP(FACIMP, 1STRUC, IMSG)

363038 36 36 3 36 3 36 3% 36 36 3 3 3638 36 36 36 3t 36 6 3 3¢ 3 3¢ 36 3 3 0 36 36 D6 3¢ 30 3 3 3 2 3 36 3 3 36 3 3 3 J 2 23 3 3¢ 3 3 I I I 2 3 N

GETIMP - GET IMPACT FACTOR

THIS SUBROUTINE GETS THE IMPACT FACTOR

CALLS TO : READSC
REMARK
EXIT

YARIABLE DEFINITION

PASSED :
ISTRUC ~ NUMBER OF STRUCTURES TO BE RATED
IMSG - ERROR MESSAGE FILE NUMBER -
RETURNED :
FACIMP - IMPACT FACTOR OF OVERLOAD VEHICLE

izlslsNeieNololoNoNo oo e oo NoNoNo e NeNeRe N e e Re R Xe Re e Xe K Xe K g

10

25
30

40

MODIFICATION LOG
06/11/1986  RAS INITIAL CODING

B3 36 00 36 36 3 3 36 6 3 T I e 3 I 3 3 63 30 3¢ U6 3 T 3608 3 36 36 3030 3 36 6 30 36 3 3 U 3 36 3 36 98 36 3 3 3 36 20 36 0 3 3¢ 36 96 3 3 N

COMMON /SCANER/ ENTITY(20), 1 VAL (2),MODE,NCHAR, NWD,NEXT, 1COLMN
EQUIVALENCE (1VAL(1), VALUE, | VALUE)

INTEGER 1VALUE

REAL*®4 VALUE

INTEGER DUMMY

INTEGER IMSG, ISTRUC

REAL*4 REEL

REAL*B FACIMP(1)

LOGICAL SEP,ENDCRD,NUMR,NEXT

I=1

IFC +NOT. NUMR(REEL)) GOTO 8000
FACIMP(1) = DBLE(REEL)

1F( ENDCRD(DUMMY)) GOTO 40

IF(SEP (DUMMY)) GOTO 25
GOTO 30 .

IF(DUMMY .NE. 3) GOTO 8001
CALL READSC

=1+

IF(1 .GT. ISTRUC) GOTO 8002
GOTO 10

tF(1 .LT. ISTRUC) GOTO 8003
RETURN

79



ERROR MESSAGES

INCORRECT NUMERIC REAL INPUT. ')

8000 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8001 CALL REMARK(IMSG,'ERROR
GOTO 8990

8002 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8003 CALL REMARK(IMSG,'ERROR
GOTO 8990

8990 CALL EXIT

END

ILLEGAL CONTINUATION SEPARATOR. ")

TOO MANY IMPACT FACTORS ENTERED. )

]

TOO FEW IMPACT FACTORS ENTERED. ")
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$DEBUG

SUBROUTINE GETRT(RT, ISTRUC, IMSG)

*Illllll!l!l&ﬁll!lll*Ilillillllllli!llll!illlllllll!iillll!lll

GETRT - GET TRANSVERSE DISTRIBUTION RATIO

THIS SUBROUTINE GETS THE TRANSVERSE DISTRIBUTION RATI0

CALLS TO : READSC
REMARK
EXIT

VARIABLE DEFINITION

PASSED :
ISTRUC - NUMBER OF STRUCTURES TO BE RATED
IMSG - ERROR MESSAGE FILE NUMBER.
RETURNED :
RT - TRANSVERSE DISTRIBUTION RATIO

0000000000000 NONNN00DOOOOOO

10

25
30

40

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

263896 38 38 36 6 36 36 36 36 36 36 T 38 35 36 36 36 36 36 36 06 36 16 36 36 D636 06 36 36 3638 36 06 36 30 30 06 06 3 36 6 36 36 36 36 9% 36 36 30 30 06 36 96 20 24 0 30 3¢

COMMON /SCANER/ ENTITY(20), I VAL (2),MODE ,NCHAR, NWD,NEXT, 1COLMN
EQUIVALENCE (1VAL(1),VALUE, I VALUE)

INTEGER IVALUE®

REAL*4 VALUE

INTEGER DUMMY

INTEGER 1MSG, ISTRUC

REAL*4 REEL

REAL*8 RT(1)

LOGICAL SEP,ENDCRD,NUMR,NEXT

=1
IF( .NOT. NUMR(REEL)) GOTO 8000
RT(1) = DBLE(REEL)

IF( ENDCRD(DUMMY)) GOTO 40

IF(SEP (DUMMY)) GOTO 25
GOTO 30

IF(DUMMY .NE. 3) GOTO 8001
CALL READSC

=1+ :

IF(l .GT. ISTRUC) GOTO 8002
GOTO 10

IF(1 .LT. ISTRUC) GOTO 8003
RETURN
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ERROR MESSAGES

8000 CALL REMARK(IMSG,'ERROR
GOTO 8990

8001 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8002 CALL REMARK(1MSG,'ERROR
GOTO 8990

8003 CALL REMARK(IMSG, 'ERROR
GOTO 8990

8990 CALL EXIT

END

]

INCORRECT NUMERIC REAL INPUT.
ILLEGAL CONTINUATION SEPARATOR.
TOO MANY RATIOS ENTERED.

TOO FEW RAT10S ENTERED.
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$DEBUG
SUBROUT INE REMARK(UNIT,MSG)

B T T TS T LI TITTT TR 2SR LR 221232222 22223 2
REMARK - WRITE REMARKS

THIS SUBROUTINE WRITES REMARKS TO OUTPUT UNIT

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :

UNIT ~ ERROR MESSAGE FILE NUMBER
MSG - ERROR MESSAGE

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

1232322323222 2222223223222 2222232322322 2222222242222 232222222221

2 X XXz X2XsXeXz N2 s N2 Xz X2 XX s Xz Xz X2 XeKsXs e e e e Mo N o N e

INTEGER UNIT
CHARACTER*45 MSG

WRITE(UNIT, 100)MSG
100 FORMAT(10X,A45)

RETURN

END
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$DEBUG
SUBROUT INE HEADER(TITLE, ICAP, IPAGE)

0363608 9836 3636 30 200616 962606 36 06 06 3636 98 9036 36 00 06 3 06 JE 96 JEJE 0 0636 90 06 00 00 0600 JE0E 0 0630 30 000 00 30300 6 06 6 30 36
HEADER ~ HEADINGS

THIS SUBROUTINE WRITES OUT THE HEADER TO THE OUTPUT FILE

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :

ICAP - CAPTION IDENTIFICATION
RETURNED :

TITLE = TITLE HEADING

IPAGE - PAGE NUMBER

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

369836 36 36 36 0 38 36 36 38 3% 3636 36 38 36 36 36 38 3636 36 38 30 06 U6 36 30 36 36 6 36 6 30 30 3 36 36 36 30 6 30 3030 3 06 000 06 30 30 06 3 30 D96 W e 2

OO0 O0N00000NO0000aO0 0000

CHARACTER*4 TITLE(20)
CHARACTER¥®50 CAP(4),KAP
INTEGER 1PAGE, ICAP, 1

DATA CAP / '. OVERLOAD SCAN ECHO
1 ! OVERLOAD DATA CHECK
2 ! NATIONAL BRIDGE INVENTORY FILE
3 ' RESULTS
c
IPAGE = IPAGE + 1
KAP = CAP(ICAP)
c

WRITE(7, 10)IPAGE, (TITLE(1),1=1,20)
10  FORMAT('1',///,67X,'PAGE',14,/,
10X, ' *#3¥x2% OVERLOAD ***¥¥xx¥1 11X, ' (VERSION 1.3)',/,
10X, YADOT OVERLOAD BRIDGE RATING',3X,
' BY IMBSEN AND ASSOCIATES, INC.',//,
10X,20(A4))

BN~

WRITE(7, 20)KAP -
20 FORMAT(/,10X,65('*'),/,10X,A50,/,10X,65('*"),/)

RETURN
END
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$DEBUG

SUBROUTINE FIXCRD

ili*llil!*ﬁ**!&llliillllI!!lillll!l!li!!lll!ll!!!!lilllil!lill

FIXCRD ~ FIX CARD

THIS SUBROUTINE READS FROM THE SCAN INPUT FILE AND
WRITES TO THE OUTPUT FILE

CALLS TO : NONE

VARIABLE DEFINITION
PASSED : NONE

RETURNED: NONE

0O OO0 0000DOOOO0O0OO0

10

30

100

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

295 38 36 36 3 36 36 38 36 3 36 36 36 36 96 36 36 3¢ 36 34 36 36 36 36 36 34 30 30 36 36 06 3 30 36 30 3696 3% 3 30 3¢ 3 I 3 3 3 5 3036 36 363 3¢ 2 3 36 36 6 0 B

CHARACTER®4 CARD(20)
INTEGER IR, IW

READ(5,20,END=100) (CARD(IR), IR=1,20)
FORMAT (20A4)

WRITE(7,30)( CARD(IW),IW=1,20)
FORMAT (10X, 20A4)

GOTO 10

CONTINUE

RETURN
END
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$DEBUG
SUBROUTINE WRSTRU (NSTRUC, GRDSPC, OPRING,CONTIN, 1 STRUC)

Illllil!ll!!!il!*lll***l!!llllllllllilillll*lli**illlillililll

OO0

WRSTRU - WRITE STRUCTURE BLOCK

THIS SUBROUTINE WRITES THE STRUCTURE DATA BLOCK INPUT

CALL TO : NONE

VARIABLE DEFINITION

PASSED:
NSTRUC - STRUCTURE NUMBER
GRDSPC - GIRDER SPACING INPUT
OPRING -~ OPERATING RATING INPUT
CONTIN ~ CONTINUITY
ISTRUC ~ NUMBER OF STRUCTURES TO BE RATED

RETURNED : NONE

MODIFICATION LOG

06/11/1986 RAS INITIAL CODING

*i!!ﬂl*l!!l**!l!l.*l*l!lllll*lllllllllililllllllllill*illii'il

OO0 N0 OOOOODO00 OO0O0OOOOO0

INTEGER NSTRUC(1),0PRING(1),CONTIN(1),1STRUC
REAL*8 GRDSPC(1)

c
WRITE(7,85)

85 FORMAT(/ ,10X, '#=ssxxxxsxxwxxx STRUCTURE DATA ERRBEEENRERERERT )
WRITE(7,90)

90 FORMAT(/, 10X,' STRUCTURE GIRDER OPERATING CONTINUITY?,
t /, 10X,°* NUMBER  SPACING RATING (0- NSBIF !,
2 'DEFAULT)',
3 /, 10X,!' (FT) (0~ NBIF (1-SIMPLE)',
4 /, 10X,!* DEFAULT) (2-CONTIN',
5 'uous) ',
6 N

D0 100 1=1,1STRUC
WRITE(7,95)NSTRUC(1),GRDSPC(1),0PRING(1),CONTINC1)

95 FORMAT(13X,110,F10.2,1X,110,2X,110)

100 CONTINUE
RETURN )
END
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$DEBUG
SUBROUTINE WRSLAB(SPLAN, | SLAB)

JEJE0 00000006 6306 000 06 00 06306 06 00 0030 06 0006 0000 00 2000 303000 30 06 30 06 06 3006 06 00008 01 00 3606 00 06 3000 6 002 R
WRSLAB - WRITE SLAB DATA
THIS SUBROUTINE WRITES THE STANDARD SLAB PLAN DATA

CALL TO : NONE

YARIABLE DEFINITION
PASSED:

ISPLAN - SLAB PLAN CODE
ISLAB - NUMBER OF STANDARD SLAB PLAN CODES ENTERED

RETURNED : NONE

MODIF ICATION LOG

07/07/1986 RAS INITIAL CODING

B TET T T T3 T T U0 36 36262836 06 T 338 T 3 3 36 3666 I 36 36 3 3 I3 36 30 3T 3 0 36 34 36 e U 3 36 36 06 3 6 -6 7 3 34 3% K

izlelsisNsio N e NeNoNe e Re e XeRe e e Re NeXe Re Re e Re s Xe Ne X2 Xy

INTEGER ISPLAN(ISLAB), ISLAB, I TOGGL, 1CODE, ICODEP
CHARACTER*10 PLAN(9)
CHARACTER*15 ANALYS(3)

c
DATA PLAN / 'NA ','CS~2-15 ','CS-2-20 ',
1 'CS-3-20 ','CS~4-20 ','CS-5~20 | °,
'CS-20 ',1CS-~20 | ','CODE ERROR'/
c
DATA ANALYS/ 'LEVEL 1 ', *SPECIAL LEVEL 2',
1 'ERROR IN INPUT Y/
c
WRITE(7,85)
85 FORMAT(/ ,10X, 'suxgxzxzxxssss S| AB PLAN DATA #¥RNNAREFEREEEE!)
WRITE(7,90)
90 FORMAT(/, 10X,® SLAB SLAB SLAB!'
1 /, 10X,'  SEQUENCE PLAN PLAN TYPE OF!
2 /, 10X,! NUMBER CODE ACTUAL ANALYS]S!
3 2
D0 100 i=1,ISLAB
1 TOGGL=1

ICODE = JSPLAN(I) .

1CODEP= 1 CODE +1

IF(1CODEP .GT. 8)ICODEP=9

IF(ICODE.GT. 0) 1TOGGL=2

IF(ICODE.GT. 7) )1 TOGGL=3

WRITE(7,95)1, ICODE,PLAN(1CODEP) , ANALYS(} TOGGL)
95 FORMAT (11X, 110, 1X,110, 5X,A10, 1X,A15)
100 CONTINUE
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WRITE(7,110)
110 FORMAT(/,10X,'NOTE: SPECIAL LEVEL 2 DOES NOT CONSIDER A',/

1 10X,* SLAB WITH HINGES')

RETURN
END

88



$DEBUG _
SUBROUTINE WRTRUC(PL,DX, IFL, IGROUP ,WHO,WH! ,WIDTH, 10VLD)

263360 00 06 3636 3036 30T I I O 00 06 36 0 00 HEOE 0000000 2000 06 00000 3 00 00100 00 006 30 000 00 D06 3 98 0 0
WRTRUC - WRITE TRUCK BLOCK

THIS SUBROUTINE WRITES THE TRUCK BLOCK DATA INPUT

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :

PL - AXLE LOADS

DX - DISTANCES TO THE AXLES

IFL - NUMBER OF INDIVIDUAL AXLES

IGROUP - GROUP IDENTIF{CATION

WHO - OUTER WHEEL GAGE

WHi - INNER WHEEL GAGE

WIDTH - VEHICLE WIDTH

JIOVLD - STANDARD OVERLOAD IDENTIFICATION
RETURNED : NONE

MODIFJCATION LOG

06/11/1986 RAS INITIAL CODING

122232222222 822 2222222222222 22 22222222 2222223232323 3322222822

s XeNslsNeXeNeloNoloReReNoNeNoNeNeNe e Ne Re ReXs Nele e Ne s e Ne e N Ne N o Re N o]

INTEGER IGROUP(1),IFL,1,10VLD
REAL#*8 PL(1),DX(1),WHO(1),WHI(1),WIDTH
CHARACTER*18 SV(11)

c

DATA SV / H20 ot HS20 ',
1 TALTERNATE MILITARY', TYPE 3 ',
2 ' TYPE 352 ', '  TYPE >3 ',
3 ' PS5 o P7 '
4 ' P9 ! P11 ',
5 ' P13 v/

WRITE(7,85)

85 FORMAT(/ ,10X, 'wxsxsssxsxxxxx¥xs TRUCK DAiA EREERERRERAXRNRERD )
IFCIOVLD .GT. 0) WRITE(7,97) SV(IOVLD)

97 FORMAT( 10X, ! STANDARD VEHICLE: ',A18)
WRITE(7,100)
100 FORMAT(/, 11X, 'AXLE AXLE AXLE WHEEL SPACING AXLE",
1 /, 11X, 'LOAD LOAD  LAYOUT OUTER INNER GROUP!',
2 /,10%,* 1D (KIPS) (FT) (FT) (FT) io',
3 N

00 300 I=1,IFL
WRITE(7,200)1,PLC1),DX(1),WHOC1),WHI (1), IGROUP(})
200 FORMAT(10X,15,3F10.2,F9.2,2X, 15)

SDEBUG 89 Page




300 CONTINUE

WRITE(7,400)WiDTH
400 FORMAT(/,10X, ' VEHICLE WIDTH ',F10.2,' (FT)")

RETURN
END

90




$DEBUG
SUBROUTINE WRIMPA(FACIMP,NSTRUC, ISTRUC)

338 36 38 36 3 36 3636 3636 36 36 36 38 3636 36 36 36 36 36 36 36 36 36 36 36 30 3630 36 38 36 36 36 30 06 36 36 36 06 J6 36 30 36 30 30 30 06 30 36 36 330 3 36 36 08 3¢ 20

WRIMPA - WRITE IMPACT DATA BLOCK

THIS SUBROUTINE WRITES THE IMPACT DATA BLOCK INPUT

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
FACIMP - IMPACT FACTOR OFf OVERLOAD YEHICLE
NSTRUC - STRUCTURE NUMBER
1STRUC - NUMBER OF STRUCTURES TO BE RATED
RETURNED : NONE

MODIFICATION LOG
06/11/1986 RAS INITIAL CODING

t3 IS IZ2 2221222323223 322 323 2232222232222 33 222222222222 zattslssdy

OO 0000000000000 DOO0OO0O0

INTEGER 1,NSTRUC(1), IMESS
REAL*8 FACIMP(1)
CHARACTER*t |FLAG(2),STAR

c

DATA IFLAG/ ' ', =t/
c

IMESS=0

WRITE(7,100)

100 FORMAT( /,10X, '#¥sxxuxsxsxxsnns |MPACT DATA #*¥REEEEREENNNNEED)
WRITE(7,150)
150 FORMAT( /,10X, ' STRUCTURE IMPACT',
1 ;,IOX, ' NUMBER FACTOR',
)

DO 180 I=1,1STRUC
STAR= |FLAG(1)
IF(FACIMP(1) .EQ. 0.D0)IMESS= IMESS+]
IF(FACIMP(1) .EQ. 0.D0)STAR=IFLAG(2)
WRITE(7,175)NSTRUC(1),FACIMP(1),STAR
175 FORMAT(10X, 110,F10.2,1X,A1)
180 CONTINUE
IF(IMESS .GT. O)WRITE(7,185) .
185 FORMAT(//,10X,'ASTERISK (*) INDICATES DEFAULTS TO AASHTO IMPACT!,
1 ' FORMULA')
RETURN
END
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WRTRAN - WRITE TRANSVERSE DISTRIBUTION BLOCK

THIS SUBROUTINE WRITES THE TRANSVERSE DISTRIBUTION DATA
BLOCK INPUT

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :
NSTRUC - STRUCTURE NUMBER
RT -~ TRANSVERSE DISTRIBUTION RATIO
ISTRUC - NUMBER OF STRUCTURES TO BE RATED

RETURNED : NONE

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

'lI!Ill‘II*!**’!!!I*llill‘l!lliIllll!lllﬂlIlli'i!iilllll!!iillll!i

OO0 OO0000 OOOOO O

INTEGER NSTRUC(1),1STRUC
REAL*8 RT(1)

WRITE(7,85)

85 FORMAT(/ ,10X, '#*%xx%x¥ TRANSVERSE DISTRIBUTION DATA *uakxa¥xi)
WRITE(7,90)

90 FORMAT(/, 10X,* STRUCTURE RATIO',
t /, 10X, NUMBER '
2 N

DO 100 1=1,1STRUC
WRITE(7,95)NSTRUC(1),RT(1)

95 FORMAT(17X,110,F10.2)

100 CONTINUE
RETURN
END
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$DEBUG

SUBROUT INE RDNBIF (NREC,NSTRUC,KK,CK1,CK2,CK3,CK4,CK5,CK6,

1 €X7,CK8,CK9,CK10)
g 3636 38 36 3 36 36 36 36 3 3 36 36 3 36 3 4 3% 3% 96 3E 3 3 JE 36 3 3 3¢ 3 b 3 36 36 36 3¢ 3 3 J 36 36 3¢ 336 6 3 36 3 3¢ 3 3 3 3¢ 3% 0 D 3 e 3 3 % 3
c
C RDNBIF =~ READ NBIF (NATIONAL BRIDGE INVENTORY FILE)
c .
c THIS SUBROUTINE READS IN SELECTED DATA FROM A REDUCED
C NBIF (DIRECT ACCESS FILE)
c
C
c
Cc CALLS TO : NONE
c
Cc
C
C YARJABLE DEFINITION
Cc
c PASSED :
(o
C NREC - NUMBER OF RECORDS IN THE NBIF
C- NSTRUC - ARIZONA STRUCTURE NUMBER
c
Cc RETURNED :
C NBIF DESCRIPTION NO. BYTES
c 1TEM
Cc KK(1) - 8 STRUCTURE NUMBER 4
(o X1 - 5 INVENTORY ROUTE ) SPLIT 1
c K2 - 5 INVENTORY ROUTE ) 8
(o CK3 - 7 FACILITY CARRIED BY STRUCT 18
C CK4 - 9 LOCATION 25
C KK(2) - 1t MILEPOINT 4
c KK(3) -~ 27 YEAR BUILT 4
(o KK(4) - 29 AVERAGE DAILY TRAFFIC 4
C KK(5) -~ 30 YEAR OF ADT 4
C KK(6) -~ 32 APPROACH ROADWAY WIDTH 4
C KK(7) - 34 SKEW . 4
c x5 - 4 STRUCTURE OPEN,POSTED,CLOSED 1
c KK(8) - 43 STRUCTURE TYPE, MAIN 4
c KK(9) = 44 STRUCTURE TYPE, APPROACH 4
C KK{10) -~ 45 NUMBER SPANS, MAIN 4
C KK(11) - 46 NUMBER APPROACH SPANS 4
C KK(12) - 48 LENGTH MAXIMUM SPAN 4
C KK(13) = 49 STRUCTURE LENGTH 4
Cc KK(14) - 5 BRIDGE WIDTH (C-TO-(O) 4
C KK(15) - 53 MINIMUM VERTICAL CLEARANCE 4
c X6 - 57 WEARING SURFACE 1
c X7 - 58 DECK 1
c CK8 - 59 SUPERSTRUCTURE 1
c K9 - 60 SUBSTRUCTURE 1
c KK(16) - 64 OPERATING RATING 4
Cc KK(17) - 66 INVENTORY RATING 4
c CK10 - 67 STRUCTURAL CONDITION -1
C
c
c
c MODIFICATION LOG
c
c 06/11/86 RAS INITIAL CODING
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c
C #REEEERNERRRHERIINEARN R RN RN NN AR RN RN RN R R
c

INTEGER KK(1),NREC,NSTRUC

CHARACTER*1 CK1,CK5,CK6,CK7,CK8,CK9,CK10

CHARACTER*8 CK2

CHARACTER*18 CK3

CHARACTER*25 CK4

c
IF(NSTRUC .GT. NREC) RETURN
READ(8,REC=NSTRUC)KK(1),CK1,CK2,CK3,CK4, (KK(J), +=2,7),
1 CK5, (KK(J), )=8,15),CK6,CK7,CK8,CKI,
2 (KK(J), J=16,17),CK10
c
RETURN
END
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$DEBUG
SUBROUTINE WRNBIF (NREC,NSTRUC,KK,CK1 ,CK2,CK3,CK4,
1 CK5,CK6,CK7,CK8,CK9,CK10,LEYOUT)

*!*lll!!!i!!!lli!llllilllliillllliillllllllilli*llliilllllllil

WRNBIF - WRITE NBIF (NATIONAL BRIDGE INVENTORY FILE)

THIS SUBROUTINE WRITES THE INFORMATION FROM THE REDUCED
NBIF

CALLS TO : REMARK

VAR|ABLE DEFINITION

PASSED :
CK(1-10) ~ CHARACTER VARIABLES FROM NBIF
KK ~ INTEGER VARIABLES FROM NBIF
NREC ~ NUMBER OF RECORDS IN NSIF
NSTRUC ~ STRUCTURE NUMBER
LEVOUT - LEVEL OF OUTPUT FLAG

RETURNED : NONE

MODIFICATION LOG

06/11/1986 RAS  INITAL CODING

ll!lIll!ll!!lll.Illll!llIIilliIillllilii‘!lilliiillllilll!!lll

OO0O0 onnoonononnnnnnnoonooooanon a0

INTEGER NREC,NSTRUC,KK(1)

REAL®*8 XKK2,XKK14

CHARACTER*1 CK1,CK5,CK6,CK7,CK8,CK9,CK10
CHARACTER*8 CK2

CHARACTER®18 CK3

CHARACTER®25 CK4

IF(NSTRUC .GT. NREC) GOTO 8000
XKK2 = DBLE(KK(2))/100.D0
XKK14= DBLE(XK(14))/10.D0
WRITE(7,85)
85 FORMAT(/ ,10x, '#wxexxzxxxxxxx STATE OF ARIZONA ERBERRANWARREFT )
WRITE(7,200)

200 FORMAT(/,12X,"ITEM  ITEM ',
3 /,11X, 'NUMBER  NAME L)
c
WRITE(7,210)KK(1) i

210 FORMAT(13X,'08",4X, 'STRUCTURE NO. seveesrcconcncessass!,16)
c
WRITE(7,220)CK1,CK2
220 FORMAT(13X,'05",4X, ' INVENTORY ROUTE «cesseiessesssccss!,Al,AB)
c
WRITE(7,230)CK3
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230

240

250

260

270

280

290

300

310

320

330

340

350

360

370

380

390

400

410

420

FORMAT (13X, '07',4X, '"FACILITY CARRIED BY STRUCTURE.....',A18)

WRITE(7,240)CK4
FORMAT(ISX"09"4X’leAT'0N ‘.l.....‘.ll.'......I".."A25)

WRITE(7,250)XKK2
FORMAT (13X, 117, 4X, "MILEPOINT ucoverereancsoscssseans®,F6.2)

WRITE(7,260)KK(3)
FORMAT( 13X, 127", 4X, 'YEAR BUILT/RECONSTRUCT 10N cesessae',14)

WRITE(7,270)KK(4)
FORMAT(13X,'29"', 4X, 'AVERAGE DAILY TRAFFIC ciassssssnsal, 16)

WRITE(7,280)KK(5)
FORMAT( 13X, '30',4X, 'YEAR OF AVERAGE DAILY TRAFFIC ceest, 12)

WRITE(7,290)KK(6)
FORMAT( 13X, '32',4X, 'APPROACH ROADWAY WIDTH (FT) coseee!, 13)

WRITE(7,300)KK(7)
FORMAT(13X,'34",4X, ' SKEW (DEGREES) ...:...............',IZ)

WRITE(7,310)CK5
FORMAT (13X, '41", 4X, "OPEN(A) ,POSTED(P),CLOSED(C) ......',Al)

WRITE(7,320)KK(8)
FORMAT (13X, '43',4X, "STRUCTURE TYPE, MAIN «cvcevcnrveee, 13D

WRITE(7,330)KK(D)

FORMAT (13X, 144", 4X, 'STRUCTURE TYPE, APPROACH SPANS ...',13)

WRITE(7,340)KK{(10)
FORMAT (13X, '45',4X, '"NO. OF SPANS IN MAIN UNIT ...c....',13)

WRITE(7,350)KK(11)
FORMAT(13X,'46",4X, '"NO. OF APPROACH SPANS +ccvecscesas!’,14)

WRITE(7,360)KK(12)
FORMAT (13X, ' 48", 4X, 'LENGTH OF MAXIMUM SPAN (FT) ......',14)

WRITE(7,370)KK(13)
FORMAT( 13X, '49", 4X, 'STRUCTURE LENGTH (FT) ..vceseccees?,16)

WRITE(7,380)XKK14
FORMAT (13X, '51', 4X, 'BRIDGE WIDTH,CURB-TO-CURB (FT) ...',F5.1)

WRITE(7,390)KK(15)
FORMAT (13X, '53',4X, "MINIMUM VERTICAL CLEARANCE .......',14)

WRITE(7,400)CK6
FORMAT(13X,"57',4X, "WEARING SURFACE ccvevceenccrescnest,Al)

WRITE(7,410)CK?
FORMAT (13X, 158',4X, 'DECK CONDITION ceccecssnnesesccsss',Al)

WRITE(7,420)CK8
FORMAT (13X, '59", 4X, ' SUPERSTRUCTURE CONDITION ..ccon...',AD)

WR1TE(7,430)CK9
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430 FORMAT(13X,'60',4X, 'SUBSTRUCTURE CONDITION cccvsecacaat,Al)

WRITE(7,440)KK(16)
440 FORMAT(13X,'64',4X, 'OPERATING RATING «cvsceccccccacses',13)

WRITE(7,450)KK(17)
450 FORMAT(13X,'66"',4X, ' INVENTORY RATING sccecesveccsccces?,13)

WRITE(7,460)CK10
460 FORMAT(13X,'67',4X,'STRUCTURAL CONDITION +c.veceveeceas’,Al)

IF(LEVOUT .EQ. 2)WRITE(7,500)

500 FORMAT(10X,/,* ANALYS1S TERMINATED- ECHO CHECK ONLY')
IF(C KK(1) .EQ. 0) GOTO 8001
RETURN
8000 CALL REMARK( 7, 'ERROR - STRUCTURE NUMBER > 986!.
GOTO 8990
8001 CALL REMARK( 7, 'ERROR -~ STRUCTURE NUMBER NOT IN NBIF.
GOTO 8990
8990 RETURN
END
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$DEBUG
SUBROUTINE LEVEL}(NREC,KK,CK1,CK2,CK3,CK4,CK5,CK10,PL,DX,
1 GRDSPC,WHO,WH!I ,WIDTH,FACIMP, 1GROUP, IFL,
2 OPR}JNG,NSTRUC,RTMT ,CONTIN, 10VLD)

ll!iIIII!!!!!!*Illllll!l'llllllllllllll!lIl!il!ll!llllliilll!l

LEVELI - LEVEL 1 ANALYSIS
THIS SUBROUTINE DOES A LEVEL 1 ANALYSIS

CALLS TO :

BRGTYP
LONGMT
DZERO
RATAXL
LANE
REMARK

VARJABLE DEFINITION

PASSED :
NSTRUC - STRUCTURE NUMBER
OPRING ~ OPERATING RATING
GRDSPC -~ GIRDER SPACING
FACIMP - IMPACT FACTOR
RTMT -~ TRANSVERSE DISTRIBUTION RATI0
CONTIN ~ CONTINUITY
PL ~ AXLE LOADS
DX ~ DISTANCE TO THE AXLES
WHO ~ OUTER WHEEL GAGE
WHi ~ INNER WHEEL GAGE
IGROUP -~ GROUP IDENTIFICATION
IFL ~ NUMBER OF INDIVIDUAL AXLES ENTERED
NREC - NUMBER RECORDS IN MNBIF
KK(17) ~ INTEGER VARIABLES FROM REDUCED NBIF
WiDTH ~ WIDTH OF TRUCK
CK(1-10) ~ CHARACTER VARIABLES FROM REDUCED NBIF
10VL.D - STANDARD TRUCK CODE

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

3636 96 36 36 J5 96 36 36 36 36 36 36 36 98 6 36 36 36 36 38 36 36 6 6 30 36 36 3% 3 06 36 36 36 30 06 06 36 06 3 38 36 30 2 36 3636 3¢ 30 36 30 3 96 36 06 06 0366 2036 36 2 ¥

000600000000OOOOGQOOOOQOOOOOOOOOGOOOOOOOOOOOOGOO o000

INTEGER 1TRUCK,MAINST,NSPAN, IGROUP(1),1FL, |OPER, INVEN,KK(1)
INTEGER NAXLE,NTYPE,NMAT,0PRING,NSTRUC, 10P,NSPALL ,CONTIN
REAL®*8 OPERWT,SPANMX,PL(1),DX(1),GRDSPC

REAL*8 WHO(1),WH1(1),WIDTH,FACIMP

REAL*8 RATEWT,RL(6),RX(6)
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30

40

50

REAL*8
REAL*8
REAL*8
REAL*8
REAL*8
REAL*8

RTMT,RIMT,RTGIMP,0VDIMP ,RFOP, SPANRT
TRANS(3,3),0VLDRR(3,3),C(3,3)
MO(3,3),MR(3,3),L0C0(3,3),LOCR(3,3)
ML(3,3),MLR(3,3),RM(3,3),ML0(3,3)
YKK6 , XKK 14, XKK2

TEMP1, TEMP2

CHARACTER*1 SCON,CK1,CK5,CK10
CHARACTER®6 CONT

CHARACTER*9 LABEL1
CHARACTER*8 LABEL2
CHARACTER*15 LABELT
CHARACTER®*8 CK2

CHARACTER*18 CK3

CHARACTER®25 CK4

CHARACTER®16 MESSAG
CHARACTER®32 IFLAG(2),IFLG

DATA IFLAG / '(NOTE- POSITIVE MOMENT CONTROLS)',

' (NOTE- NEGATIVE MOMENT CONTROLS)'/

IFLG = IFLAG(1)

DO 10 1=1,3

DO 5 K1,3
MO(1,J) = u.DO
MR(1,J) = 0.D0
Loco(1,d) = 0.00
LOCR(1,J) = 0.D0
ML(1,J) = 0.D0
MLR(1,J) = 0.DO
MLO(1,J) = 0.DO
RM(1,J) = 0.DO
c(1,9 = 0.00
OVLDRR( ,J4)=0.D0
TRANS(1,J)= 0.DO

CONT INUE

CONT INUE

IBLT = KK(3)/100

IRNS = MOD(KK(3),100)

MAINST= KK(8)

NTYPE = MOD(MAINST,100)
NMAT = MAINST/100

IF(CONT}
1F(CONT}
1F (CONTH

N .EQ. 0) GOTO 50
N .EQ. 1) GOTO 40
N .EQ. 2) GOTO 30

GOTO 50

IF (NMAT
1F (NMAY
IF (NMAT

.EQ. 1 .OR. NMAT .EQ. 2) NMAT=2
Q. 3 .OR. NMAT .EQ. 4) NMAT=4
EQ. 5 .OR. NMAT .EQ. 6) NMAT=6

GOTO 50

IF (NMAT
1F (NMAT
IF (NMAT

EQ. 1 .OR. NMAT .EQ. 2) NMAT=1
Q. 3 .OR. NMAT .EQ. 4) NMAT=3
EQ. 5 .0R. NMAT .EQ. 6) NMAT=5

XKK2 = DBLE(KK(2))/100.D0

CALL BRGTYP(NTYPE,NMAT,LABEL1,LABEL2,CONT)
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c

c

WRITE(7, 100)NSTRUC, IBLT, IRNS,CK1,CK2,KK(10),CK3,KK(11),CK4,KK(12),
XKK2,KK(13)

1

100 FORMAT( ,10X,'*®xsxsxx¥x NBIF GENERAL INFORMAT JON s =¥measssnt
1 //,10X,' STRUCTURE NO.',15X,110, 5X, 'YR BLT/?E?ON '
12,'/'12,
§ /,10X,* INVENTORY RT.',16X,A1,A8, 5X, *NO.SPANS ,MAIN', 16,
4 /,10X,' FAC. CARRIED ',7X,Al8, 5X, *NO.SPANS,APP *,16,
5 /,10X,' LOCATICON ',A25, SX, 'LEN. MAX SPAN', 16,
6 /,10X,* MILEPOINT ',19X,F6.2,  5X,'STRUCTURE LEN',16)
IF(NSTRUC .GT. NREC) GOTO 8000
IFC KK(1) .EQ. 0) GOTO 800t

IF(CONTIN .EQ. 1 .OR. CONTIN .EQ. 2) GOTO 110
WRITE(7,105) LABEL1,LABEL2,CONT

105 FORMAT( /,12X,'STRUCTURE TYPE : °*,
A9,1X,A8,1X,'(",A6," ~NBIF DEFAULT)')

1
GOYO t15

110 WRITE(7,111) LABEL1,LABEL2,CONT

111 FORMAT( /,12X,'STRUCTURE TYPE :

1

115 IF(NTYPE .EQ. 7) GOTO
IF(NTYPE .EQ. 8) GOTO
IF(NTYPE .EQ. 9) GOTO
)IF(NTYPE .EQ. 10) GOTO
IF(NTYPE .EQ. 11) GOTO
IF(NTYPE .EQ. 12) GOTO
IF(NTYPE .EQ. 13) GOTO
IF(NTYPE .EQ. 14) GOTO
IF(NTYPE .EQ. 15) GOTO
IF(NTYPE .EQ. 16) GOTO
IF(NTYPE .EQ. 17) GOTO
IF(NTYPE .EQ. 18) GOTO
IF(NTYPE .EQ. 0) GOTO
XKK6=  DBLE(KK(6))

XXK14= DBLE(KK(14))/10.D0
NSPAN= KK(10) -

NSPALL= KK(10) + KK(11)
IF(OPRING .EQ.0))OPER=KK(16)
IF (OPRING .GT.0) IOPER=0PRING
INVEN= KK(1T)

SCON= (K10

AS, 1X,A8, 1X, ! (*,A6,"' ~NBIF OVERWRITE)')

IF(CK! .EQ. '2")

IF(CK5 .EQ. "P')WRITE(7,8003)

700
700
700
700
700
700
700
700
700
700
700
700
700

GOTO 8002

8003 FORMAT(/,10X, "WARNING - STRUCTURE IS POSTED.')

IF(CKS .EQ. 'C')WRITE(7,8004)

8004 FORMAT(/,10X, 'WARNING -~ STRUCTURE 1S Q.OSED.')
<EQ. 800)

IF(1OPER
IF(10PER
IF(1OPER
IF(10PER

.GE.

700 .AND. JOPER

.GE. 900)

£Q. 0)
IF(XKK6 .LT. WIDTH) WRITE{(7,8009)

8009 FORMAT(/,10X, '"WARNING ~ APPROACH WIDTH < VEHICLE WIDTH.')
IF(XXK14 .LT. WIDTH)WRITE(?7,8010)

8010 FORMAT(/,10X, '"WARNING - BRIDGE WIDTH < VEHICLE WIDTH.')

| TRUCK= 1 OPER/ 100

GOTO 8005
.LT. 800)GOTO 8006
GOTO 8007
GOTO 8008
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OO0 OO0

OO0 OO0O0O0

150

155

o
N

OO0 0

10P=MOD (10PER, 100)
OPERWT= 1OP
SPANMX=DBLE( KK(12))
SPANRT = ( DBLE(KK(13))=(NSPALL -2)*SPANMX )/(2.DO*SPANMX)
IF(NSPALL .EQ. 1) SPANRT = 0.DO
IF(NSPALL .EQ. 2) SPANRT = 1.DO
IF (SPANRT .GT. 1.D0) SPANRT = 1.00D0

CALCULATE MOMENT FOR OVERLOAD TRUCK

CALL LONGMT ( IFL, SPANMX,PL ,DX, SPANRT ,CONT ,NSPALL ,MO,L0CO)
WRITE(7,140)

FORMAT(® OVERLOAD TRUCK MOMENTS')
WRITE(7,150)M0(1,1),M0(1,2),M0(1,3)
WRITE(7,150)M0(2,1),M0(2,2),M0(2,3)
WRITE(7,150)M0(3,1),MO(3,2),M0(3,3)

FORMAT(3F10.2)

CALL DZERO(RL,6,0.D0)
CALL DZERO(RX,6,0.D0)

GET RATING VEHICLE AXLE CONFJGURATION
CALL RATAXL(ITRUCK,NAXLE,RL,RX,RATENWT,LABELT)
CALCULATE MOMENT FOR RATING VEHICLE

CALL LONGMT (NAXLE,SPANMX,RL,RX, SPANRT,CONT,NSPALL ,MR,LOCR)
WMITE(7,141)
FORMAT(' RATING TRUCK MOMENTS')
WRITE(7,150)MR(1, 1) ,MR(1,2),MR(1,3)
WRITE(7,150)MR(2,1),MR(2,2),MR(2,3)
WRITE(7,150)MR(3,1),MR(3,2),MR(3,3)

MO(1,1) = DMAX1(MO(1,1),MO(1,2))

CHECK FOR LANE LOAD CONTROL FOR H20 AND HS20 TRUCKS

IFC(1OVLD .EQ. 1 .OR. 1OVLD .EQ. 2) GOTO 150
GOTO 155

CALL LANE (SPANMX, SPANRT,CONT ,NSPALL ,MLO)
MO(1,1) = DMAX1(MLO(1,1),MO(1,1) )

MO(2,1) = DMAX1(MLO(2,1),M0(2,1) )
TEMP1 = DABS (MLO(2,2) )
TEMP2 = DABS ( MO(2,2) )

M0(2,2) =-DMAXT(TEMPT,TEMP2 )

MO(3,1) = DMAX1(MLO(3,1),M0(3,1) )

MO(3,2) = DMAX1(MLO(3,2),M0(3,2) )
TEMP1 = DABS(MLO(3,3) )
TEMP2 = DABS{ MO(3,3) )

)

MO(3,3) =-DMAX1(TEMP1,TEMP2

IFCITRUCK JEQ.1) CALL LANE (SPANMX,SPANRT,CONT,NSPALL ,M.)
IFCITRUCK .EQ.2) CALL LANE (SPANMX,SPANRT,CONT,NSPALL ,ML)
WRITE(7,142)

FORMAT (' LANE LOADING MOMENTS')
WRITE(7,150)ML(1,1),ML(1,2),ML(1,3)
WRITE(7,150)ML(2,1),ML(2,2),ML(2,3)
WRITE(7,150)ML(3,1),ML(3,2),ML(3,3)
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255

260

OO0

300

OO0

350
355

356

MLR(1,1) = DMAXT(ML(1,1),MR(1,1),MR(1,2))
MLR(2,1) = DMAXT(ML(2,1),MR(2,1) )
TEMP1= DABS(ML(2,2))
TEMP2= DABS(MR(2,2))

MLR(2,2) =-DMAX1(TEMP1, TEMP2 )
MLR(3,1) = DMAX1(ML(3,1),MR(3,1) )
MLR(3,2) = DMAX1(ML(3,2),MR(3,2) )

TEMP1= DABS(ML(3,3))
TEMP2= DABS(MR(3,3))
M_R(3,3) =-DMAX1(TEMP1, TEMP2 )

WRITE(7,143)

FORMAT(' MAX LANE/RATING MOMENTS')
WRITE(7,200) MLR(1,1),MLR(1,2),MLR(1,3)
WRITE(7,200) MLR(2,1),MLR(2,2),MLR(2,3)
WRITE(7,200) MLR(3,1),MLR(3,2),MLR(3,3)
FORMAT(6F10.2)

CALCULATE LONGITUDINAL RATIO

RM(1,1) = MO(1,1)/MLR(1,1)
IF(NSPALL .EQ. 1 .OR. CONT .EQ. 'SIMPLE')GOTO 300
IF(NSPALL .EQ. 2 .AND.CONT .EQ. 'CONTIN')GOTO 255
IF(NSPALL .GT. 2 .AND.CONT .EQ. 'CONTIN')GOTO 260

RM(2,1) = MO(2,1)/MLR(2,1)
RM(2,2) = M0(2,2)/MLR(2,2)
GOTO 300

RM(3,1) = MO(3,1)/MLR(3,1)
RM(3,2) = MO(3,2)/MLR(3,2)
RM(3,3) = MO(3,3)/MLR(3,3)

CALCULATE CONTINUITY FACTOR

C(1,1) = 1.D0

C(2,1) = RM(2,1)/ RM(1,1)
C(2,2) = RM(2,2)/ RM(1,1)
C(3,1) = RM(3,1)/ RM(1,1)
C(3,2) = RM(3,2)/ RM(1,1)
C(3,3) = RM(3,3)/ RM(1,1)

CALCULATE IMPACT RATIO

RTGIMP = 50.D0/(SPANMX + 125.D0) + 1.DO
IF(RTGIMP .GT. 1.30D0)RTGIMP=1.30D0
IF(NMAT .EQ. 7) RTGIMP=1.00D0
IF(FACIMP .GT. 0.D0)GOTO 350

OVD |MP=RTGIMP

GOTO 355
OWDIMP = FACIMP + 1.D0
RIMT = OVDIMP/RTGIMP

TRANSFORMAT ION FUNCTION

IF(NSPALL .EQ. 1 .OR. CONT .EQ. 'SIMPLE')GOTO 356
IF(NSPALL .EQ. 2 .AND.CONT .EQ. 'CONTIN')GOTO 357
IF(NSPALL .GT. 2 .AND.CONT .EQ. 'CONTIN')GOTO 358

TRANS(1,1) = 1.DO/(RM(1,1)*C(1,1)*RTMT*RIMT)
GOTO 360
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357

358

360

400

510

512
514

515

516

520

525

540

550

560

562

1.D0/(RM(1,1)*C(2, 1) *RTMT*RIMT)

TRANS(2,1)
1.D0/(RM(1,1)¥C(2,2)*RTMT*RIMT)

TRANS(2,2)
GOTO 360

1.D0/(RM(1,1)%C(3, 1) *RTMT*RIMT)

1.D0/(RM(1, 1) ¥C(3,2) *RTMT*RIMT)
1.D0/ (RM(1,1)*C(3,3)*RTMT*RIMT)

TRANS(3,1)

TRANS(3,2)
TRANS(3,3)

"N

IF(INVEN .NE. [OPER) GOTO 400
IF(SCON .EQ. '7') OPERWT=OPERWT*1.36D0
IF(SCON .EQ. '8') OPERWT=OPERWT*1.360D0
IF(SCON .EQ. '9') OPERWT=OPERWT*1.36D0
RFOP = OPERWT/RATEWT
OVLDRR(1,1) = TRANS(1,1)*RFOP
OVLDRR(2,1) = TRANS(2,1)*RFOP
OVLDRR(2,2) = TRANS(2,2)*RFOP
OVLDRR(3,1) = TRANS(3,1)*RFOP
OVLDRR(3,2) = TRANS(3,2)*RFOP
OVLDRR(3,3) = TRANS(3,3)*RFOP

U]

ooy

WRITE(7,510) LABELT,OPERWT,RATEWT

FORMAT( /,10X,'#*»xxxsxx¥ RATING VEHICLE INFORMATION ®1sssxxst /
1 ,26X,A15, : !/,
2 12X, 'OPERATING WEIGHT (TONS) =',F12.2,/,

3 12X, "WT. RATING VEHICLE (TONS) =',F12.2)

IF(OPRING .EQ. 0) WRITE(7,512)RFOP
FORMAT( 12X,'RF: OPERATING  (NBIF DEFAULT) =',F12.2)
IF(OPRING .GT. 0) WRITE(7,514)RFOP
FORMAT( 12X,'RF: OPERATING  (NBIF OVERWRITE) =',F12.2)

WRITE(7,515)
FORMAT(/, 12X, LIVE LOAD MOMENT PER LANE (K-FT) AASHTO',/
t 12X, 'SPAN EXT INT BENT IMPACT')

WRITE(7,516)MLR(1,1),RTGIMP
FORMAT(/, 12X, 'SIMPLE NA',F12.2,! NA',F7.2)

IF(NSPALL.EQ.2.AND.CONT.EQ. 'CONTIN')WRITE(7,520)MLR(2,1),MLR(2,2),
: RTGIMP

FORMAT( 12X, 'T¥0 NA',F12.2,F12.2,F7.2)

JF(NSPALL .GT.2.AND.CONT.EQ. "CONTIN")WRITE( 7, 525)MLR(3, 1),MLR(3,2),

1 MLR(3,3),RTGIMP

FORMAT( 12X,'THRcE ',F12.2,F12.2,F12.2,F7.2)

1

IFCINVEN .NE. 10PER) GOTO 550
IF(SCON .EQ. '7') WRITE(7,540)
IF(SCON .EQ. '8') WRITE(7,540)
IF(SCON .EQ. '9') WRITE(7,540)
FORMAT(/, 10X, 'NOTE: THIS BRIDGE WAS ADMINISTRATIVELY RATED.’',
1 /, 10%,* THE OPERATING RATING WAS MULTIPLIED BY?,
2 /, 10X, 1.36 FOR STRUCTURAL CONDITIONS > 6.')

WRITE(7,560)

FORMAT( /,10X,twu#xx2xx OVERLOAD VEHICLE INFORMATION #¥xxuwwst)
WRITE(7,562)

FORMAT(/,12X,* LIVE LOAD MOMENT PER LANE (K-FT) v/
1 12X, 'SPAN EXT INT BENT IMPACT!')

103




570

575
580

585

590

595

600
605

625
630

635

650
655

660

665

680
685

686
690

695

IF(FACIMP .GT. 0.D0)GOTO 570

MESSAG= '(AASHTO DEFAULT)'
GOTO 575

MESSAG= '(OVERWRITE) !

WRITE(7,580)MO(1,1),0VDIMP,MESSAG
FORMAT(/, 12X, 'SIMPLE NA',F12.2," NA',F7.2,1X,
1 A16)

|F(NSPALL.EQ.2.AND.CONT.EQ.'CONTIN')NRITE(7,585)M0(2,1),M0(2;2),
1 OVD{MP ,MESSAG
FORMAT( 12X, 'TWO0 NA!,F12.2,F12.2,F7.2,1X,A16)
IF(NSPALL.GT.2.AND.CONT.EQ.'CONTIN')HRITE(7,590)MO(3,1),H0(3,2),
1 MO(3,3),0VDIMP,MESSAG

FORMAT( 12X,'THREE ',F12.2,F12.2,F12.2,F7.2,1X,A16)

WRITE(7,595)SPANRT
FORMAT( /, 10X, taexssnsxsxsennx | £VEL 1 ANALYSIS d¥Exxxxxxusnsst /

1 »42X%,"! SPAN RATIO ',F6.3,/,
2 , 10X, ! MOMENT IMPACT TRAN. v,/
3 10X, ? RATIO CONTIN RATIO RATIO OVLDRR')

IF(NSPALL .EQ. 1 .OR. CONT .EQ. 'SIMPLE') GOTO 600
IF(NSPALL .EQ. 2 .AND.CONT .EQ. 'CONTIN') GOTO 625
IF(NSPALL .GT. 2 .AND.CONT .EQ. 'CONTIN') GOTO 650

WRITE(7,605) RM(l,l),C(I,1),RIMT,RTMT,OVLD#R(I,l)
FORMAT(/,12X,'SIMPLE"',5F7.2)

CONTROL=OVLDRR(1,1)

GOTO 680

WRITE(7,630) RM(1,1),C(2,1),RIMT,RTMT,OVLDRR(2, 1)
FORMAT(/,12X," INT?,5F7.2)

WRITE(7,635) RM(1,1),C(2,2),RIMT,RTMT,OVLDRR(2,2)
FORMAT( 12X,' BENT',5F7.2)
CONTROL=DMIN1(OVLDRR(2,1),0YLDRR(2,2)})
JIF(OVLDRR(2,2) .LT. OVLDRR{2,1))IFLG=IFLAG(2)
GOTO 680

WRITE(7,655) RM(1,1),C(3,1),RIMI,RTMT,0VLDRR(3,1)
FORMAT(/,12X,* EXT',5F7.2)

WRITE(7,660) RM(1,1),C(3,2),RIMT,RTMT,0VLDRR(3,2)
FORMAT( 12X,! INT',5F7.2)

WRITE(7,665) RM(1,1),C(3,3),RIMT,RTMT,0VLDRR(3,3)
FORMAT( 12X,' BENT',5F7.2)
CONTROL=DMIN1 (OVLDRR(3, 1) ,0VLDRR(3,2),0VLDRR(3,3))
IF(OVLDRR(3,3) .LT. OVLDRR(3,1) .AND.

1 OVLDRR(3,3) .LT. OVLDRR(3,2)) IFLG=IFLAG(2)

WRITE(7,685)CONTROL, IFLG
FORMAT(/, 12X, '"CONTROLLING OVLORR =',F10.2,1X,A32)

}F(CONTROL .GE. 1.DO0) WRITE(7,686)

IF (CONTROL .GE. 0.70D0 .AND. CONTROL .LT. 1.DOYWRITE(?,690)
IF(CONTROL .LT. 0.70D0) WRITE(7,695)
FORMAT ( II’10X,I axxx® THIS BRIDGE 1S A GO wxxxx 1)
FORMAT( /,10X%,* #exn® LEVEL 2 ANALYSIS REQUIRED ®¥%¥ ")
FORMAT( /,10X,' #anex TH]S BRIDGE 1S A NO GO ®¥xxx ")
RETURN
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700 WRITE(7,690)
RETURN
8000 CALL REMARK(
GOTO 8990
8001 CALL REMARK(
GOTO 8990
8002 CALL REMARK(
GOTO 8990
8005 CALL REMARK(
GOTO 8990
8006 CALL REMARK(
GOTO 8990
8007 CALL REMARK(
GOTO 8990
8008 CALL REMARK(
GOTO 8990
8990 RETURN
END

7, 'ERROR
7, 'ERROR
7, 'ERROR
7, 'ERROR
7, '"ERROR
7, 'ERROR

7, 'ERROR

)

STRUCTURE NUMBER > 9861.
STRUCTURE NUMBER NOT iIN NBIF.
STRUCTURE 1S AN UNDERCROSSING.
PEDESTRIAN LOADING ONLY.

RAILROAD LOADING ONLY.

GROSS LOADING ONLY.

OPERATING RATING 1S NOT GIVEN.
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$DEBUG

SUBROUT INE RATAXL ( 1 TRUCK, NAXLE ,RL ,RX,RATEWT,LABELT)

ll!lilll!!lil}l!illlilill*llilliillilll!llllll!lll!ili*ill*l!l

RATAXL - RATING AXLE CONFIGURATION

TH1S SUBROUTINE GETS THE AXLE LOADS AND CONF IGURATION
FOR THE RATING TRUCK

CALLS TO

¢ NONE

VARIABLE DEFINITION

o0 00OOOOGGGOOOOOOGOGOOO0000000000000

INTEGER 1TRUCK,NAXLE
REAL*8 RL(1),RX(1),RATEWT
CHARACTER*15 LABELT,TR(6)

DATA TR/

U DWW N -

IF(1TRUCK
{F{1TRUCK
IF (1 TRUCK
1F(1TRUCK
IF(1TRUCK
IFC1TRUCK

' H20 TRUCK
' HS20 TRUCK
TALTERNATE TRUCK',
' TYPE 3 TRUCK

'TYPE
'TYPE

.EQ.
.EQ.
.EQ.
.Eo.
.EQ.
.EQ.

WRITE(7,200)
200 FORMAT(/,10X,'ERROR - RATING VEHICLE CODE INCORRECT IN',
,' SUBROUTINE RATAXL')

1
sToP

PASSED :
ITRUCK - TRUCK TYPE CODE
RETURNED :
NAXLE - NUMBER OF AXLES
RL = AXLE LOADS
RX ~ DISTANCES TO THE AXLES
RATEWT - TRUCK RATING WEIGHT
LABELT ~ TRUCK LABEL
MODIFICATION LOG
06/11/1986 RAS INITIAL CODING

il*llli*ll*lllillIllillllll‘!*!llllilllillllillili!lll!il!illl

t
I

3-S2 TRUCK',
33 TRUCK'/
1) GOTO 110
2) GOTO 120
3) GOTO 130
4) GOTO 140
5) GOTO 150
6) GOTO 160
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OO0

(s XeKg)

aoO

OO0

110

120

130

140

150

H20 TRUCK
NAXLE = 2
RL(1) = 8.D0
RL(2) = 32.D0
RX(1) = 0.00
RX(2) = 14.00
RATEWT= 20.D0
LABELT= TR(1)
GOTO 170
HS20 TRUCK
NAXLE = 3
RL(1) = 8.D0
RL(2) = 32.D0
RL(3) = 32.D0
RX(1) = 0.DO
RX(2) = 14.D0
RX(3) = 28.0D0
RATEWT= 36.D0
LABELT= TR(2)
GOTO 170

ALTERNATE MILITARY

NAXLE = 2
RL(1) = 24.D0
RL(2) = 24.D0
RX(1) = 0.D0
RX(2) = 4.D0
RATEWT= 24.00
LABELT= TR(3)
GOTO 170

TYPE 3

NAXLE = 3
RL(1) = 16.D0
RL(2) = 17.D0 -
RL(3) = 17.D0
RX(1) = 0.00
RX(2) = 15.D0
RX(3) = 19.D0
RATEWT= 25.D0
LABELT= TR(4)
GOTO 170

TYPE 3-S2
NAXLE = 5
RL(1) = 10.D0
RL(2) = 15.5D0
RL(3) = 15.5D0
RL(4) = 15.5D0
RL(5) = 15.5D0
RX(1) = 0.DO
RX(2) = 11.D0
RX(3) = 15.D0
RX(4) = 37.00
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OO0

160

170

RX(5) = 41.D0
RATEWT= 36.D0
LABELT= TR(5)

GOTO 170

TYPE 33

NAXLE = 6

RL(1) = 12.D0
RL(2) = 12.D0
RL(3) = 12.D0
RL(4) = 16.DO
RL(5) = 14.D0
RL(6) = 14.D0
RX(1) = 0.DO
RX(2) = 15.D0
RX(3) = 19.D0
RX(4) = 34.D0O
RX(5) = 50.D0
RX(6) = 54.D0

RATEWT= 40.00
LABELT= TR(6)
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$DEBUG

OO0 O00N 0000000000000 0O0

OOOOO0

C

SUBROUTINE LANE (SPANMX, SPANRT ,CONT ,NSPAN,ML)

3638 36 36 36 36 26 36 3 36 36 36 36 36 36 36 36 36 36 36 36 36 3 36 36 36 38 36 36 36 56 3¢ 36 36 36 30 J6 30 36 36 36 36 3¢ 36 30 36 3 3620 36 30 30 36 36 36 3636 3 3 36 O

LANE ~ LANE LOADING

THIS SUBROUTINE CALCULATES THE LANE LOAD MOMENT
FOR A H20 AND HS20 TRUCK

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
SPANMX - MAXIMUM SPAN LENGTH
SPANRT - END SPAN RATIO
NSPAN - NUMBER OF SPANS
CONT - CONTINUITY

RETURNED :
ML -~ MOMENT

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

3636 3636 3 36 36 36 36 3 35 30 36 3 3 36 3 3 3 36 3¢ 36 3% 36 36 303 36 3 36 3 36 U6 36 36 3 306 3 3 36 3 3 B3 I 3t 3 96 b 3 9 36 3 3 3¢ I 3 3 3 I

REAL*8 RIT(3),R2T(3),R3T(3)

REAL*8 W,RIDER,SPANMX,C1,C2,SPANRT
REAL*®8 DD1,DD2,DD3,DD4

REAL®*8 ML(3,3)

CHARACTER¥*6 CONT

INTEGER NSPAN

W 0.64D0

RIDER=18.D0

Cl= W%SPANMX*SPANMX
C2= RIDER®SPANMX

CALL DZERO(R1T,3,0.D0)
CALL" DZERO(R2T,3,0.D0)
CALL DZERO(R3T,3,0.00)

636 3 3 36 30 3 36 36 36 36 36 36 36 30 36 36 343 3 3 36 36 36 3¢ 3 3 3 3 F U J ¢ 0 I e J I W36 W3 W I e e W W MWW NN RR

SIMPLE BEAM MOMENT N

122332323 2222222223323X23222222 2222222222322t 22222222234 222233 2]

ML(1,1)= 0.125D0 *Ct1 + 0.25D0 *C2
IF(NSPAN .EQ. t .OR. CONT .EQ. 'SIMPLE') RETURN

C I 2322222222232 3223 222 2222222222 2222222322222 233223
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O0OO0O00 OO0 OO0

o0

TWO SPAN MOMENT

IIIIlillllll!!llIl*!llllll!*llil!illlllllllIllllll!lllll‘l*ill

(POSITIVE MOMENT)
ML(2,1)= 0.095703D0*Ct + 0.20740100*C2

(NEGAT I VE MOMENT)
M (2,2)= -0.125D00 *Ct - 0.187500 *C2

IF (NSPAN .EQ. 2) RETURN

*!Iill!il!ll!llllllll!!l!lllilill!llllilIllll*l!!ll!llll*i}lll

THREE SPAN MOMENT

*i*lil}lll}liill}ill‘ll*lli!l!lll!i!ll!i!lIlll*iillll!iii!ll!l

(POSITIVE MOMENT- 0.4 PT)

100 RIT(1) = 0.1000D0%C1 + 0.20416D0*C2
R1T(2) = 0.0581D0*C1 + 0.15648D0*C2
RIT(3) = 0.0269D0*Ct + 0.10740D0*C2

nonon

(POSITIVE MOMENT- 0.5 PT)

R2T(1) = 0.0750D0*C1 + 0.17500D0*C2
R2T(2) = 0.0694D0*Ct + 0.16667D0*C2
R2T(3) = 0.0625D0*C1 + 0.15625D0*C2
c
c (NEGAT) VE MOMENT)
R3T(1) = ~-0.116700*C1 ~0.1824D0*C2
R3T(2) = -0.0884D0*C1 ~0.1568D0*C2
R3T(3) = ~0.0742D00*C1 -0.1380D0*C2
c
IF(SPANRT .GE. 0.75)G0TO 200
IF(SPANRT .GE. 0.50)GOTO 300
GOTO 400
c

200 OD4 = (SPANRT -0.7500)/0.25D0

pD1 = RIT(1) - RI1T(2)
DD2 = R2T(1) - R2T{(2)
DD3 = R3T(1) -~ R3T(2)

ML(3,1)= R1T(2) + DD4*DD1
ML(3,2)= R2T(2) + DD4*DD2
ML(3,3)= R3T(2) + DD4*DD3
RETURN
300 DD4 = (SPANRT -0.5000)/0.25D0

DDt = RIT(2) - RIT(3)
DD2 = R2T(2) - R2T(3)
DD3 = R3T(2) - R3T(3)

ML(3,1)= RIT(3) + DD4*DD1
ML(3,2)= R2T(3) + DD4*DD2
ML(3,3)= R3T(3) + DD4*DD3

RETURN

400 ML(3,1)= RIT(3)

ML(3,2)= R2T(3)
ML(3,3)= R3T(3)

RETURN

END
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$DEBUG
SUBROUTINE SPLVI I (NREC,KK,CK1,CK2,CK3,CK4,CK5,CK10,PL,DX,
1 GRDSPC,WHO,WHI ,WIDTH,FACIMP, IGROUP, IFL,

2 NSTRUC,RTMT f5 SPLAN, 10VLD)

H
238 36 36 36 36 38 3 36 36 3 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 36 3 36 36 23 7 06 T 6 36 36 3 36 3 38 3 36 36 30 06 36 0 6 36 9 36 30 30 3 3 2 3

J'IS

SPLVI] - SPECIAL LEVEL 2 ANALY:

THIS SUBROUTINE DOES A SPECIAL LEVEL 2 ANALYSIS FOR
SLAB BRIDGES

CALLS TO :

SSLAB
DFSLAB
IMSLAB
FiXsB

VARJABLE DEFINITION

PASSED :
NSTRUC - STRUCTURE NUMBER
GRDSPC - GIRDER SPACING
FACIMP - IMPACT FACTOR
RTMT -~ TRANSYERSE DISTRIBUTION RATIO
PL - AXLE LOADS
DX ~ DISTANCE TO THE AXQLES
WHO - OUTER WHEEL GAGE
Wi ~ INNER WHEEL GAGE
1GROUP - GROUP |DENTIFICATION
IFL —~ NUMBER OF INDIVIDUAL AXLES ENTERED
NREC - NUMBER RECORDS IN NBIF
KK(17) - = INTEGER VARIABLES FROM REDUCED NBIF
WIDTH - WIDTH OF TRUCK
CK(1-10) - CHARACTER VARIABLES FROM REDUCED NBIF
1SPLAN —~ STANDARD SLAB PLAN CODE
1OVLD - STANDARD TRUCK CODE

MODIFICATION LOG

07/07/1986 RAS  INITIAL CODING

12222222232 2222222222222 2322 2223223232232 2222332223233333322FE 2

sl el Rsls Nl NoNo o NoNo oo NeNe e NeNels e e e e Ne Xo e Ne X e R e Ne Ne e N e N e o Ne Ne Nelo No N o N o Ne X ol o)

INTEGER MAINST,NSPAN, IGROUP(1), IFL,KK(1) )
INTEGER NTYPE,NMAT,NSTRUC, NSPALL

INTEGER ISPLAN

REAL*8 SPANMX,BROWTH,PL(1),DX(1),GRDSPC

REAL*8 WHO(1),WHI(1),WIDTH,FACIMP

REAL*8 RTMT,OVDIMP,SPANRT

REAL*8 MO(3,3),L0C0(3,3),ML0(3,3)
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REAL*8
REAL*8
REAL*8
REAL*8

XKK6 , XKK1 4, XKK2
DF(B),IM(S),SLABRR(3),RIMT(3),MCAPDL(S),MLL(S),CONTROL
MAXS(5) ,ALPHAS(5) ,EXTS(5), INTS(5),NEGS(5)

TEMP1, TEMP2

CHARACTER*1 SCON,CK1,CK5,CK10

CHARACTER¥6 CONT

CHARACTER*9 LABEL1
CHARACTER*8 LABEL2

CHARACTER*8 CK2
CHARACTER®18 CK3

CHARACTER*32 IFLAG(2), IFLG

DATA IFLAG / '(NOTE- POSITIVE MOMENT CONTROLS)',
1 '(NOTE- NEGATIVE MOMENT CONTROLS)'/

IFLG = IFLAG(1)

Do 10 1=1,3
D05 F1,3
MO(1,))
MLO0(1,J)

Loco(i,
CONTINUE
CONTINUE

Wonon
o
|

IBLT
IRSN MOD(KK(3)
MAINST= KK(8)

NTYPE = MOD(MAINS
NMAT =
XKK2 =

KK(3)/100

,100)

T,100)

= MAINST/100
DBLE(KK(2))/100.D0

CALL BRGTYP(NTYPE,NMAT,LABEL1,LABEL2,CONT)

WRITE(7, 100)NSTRUC, 1BLT, IRSN,CK1,CK2,KK(10),CK3,KK(11),CK4,KK(12),

1 XXK2,

KK(13)

100 FORMAT(//,10X, '###¥sssxxx NBIF GENERAL INFORMATION #rxssxxuxst,

105

8003
8004

1 //,10X%,!
2 .
3 /,10X%,"!
4 /,10X,!*
5 /,10X%,!
6 /,10X%,*

IF(NSTRUC .GT. NREC)

IF( KK(1) .EQ. 0)

STRUCTURE NO.',15X,110,

INVENTORY RT.',16X,A1,A8,
FAC. CARRIED ',7X,A18,
LOCATION ',A25,
MILEPOINT ', 19X,F6.2,
GOTO 8000

GOTO 8001

WRITE(7,105) LABEL1,LABEL2,CONT

FORMAT( /,10X,"*

STRUCTURE TYPE :

XKK6=  DBLE(KK(6))

XKK14= DBLE(KK(1
NSPAN= KK(10)
NSPALL= KK(10) +
SCON=  CK10

IF(CK1 .EQ. '2")

4))/10.D0

KK(t1)

5X,'YR BLT/RECON ',
12,'/',12,
5X, *NO.SPANS,MAIN', 16,
5X, *NO.SPANS,APP ',16,
SX, 'LEN. MAX SPAN', 16,
5X, 'STRUCTURE LEN',16)

'L,A9, 1X,A8,1X,'(',A6,")")

GOTO 8002

IF(CKS .EQ. 'P")WRITE(7,8003)
FORMAT(/, 10X, '"WARNING - STRUCTURE 1S POSTED.')
IF(CK5 .EQ. 'C'"IWRITE(7,8004)
FORMAT(/, 10X, "WARNING - STRUCTURE IS CLOSED.')
IF(XKK6 .LT. WIDTH) WRITE(7,8009)
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8009

8010
c

(s AgXel

o000 (s Xo Ny

150

155

OO0 OO0

500

FORMAT (/, 10X, "WARNING ~ APPROACH WIDTH < VEHICLE WIDTH.')
IF(XKK14 .LT. WIDTHIWRITE(7,8010)
FORMAT(/, 10X, 'WARNING -~ BRIDGE WIDTH < VEHICLE WiDTH.')

SPANMX=DBLE( KK(12))
BROWTH= XKK14

GET STANDARD SLAB PLAN CURVES

CALL FIXSB(1SPLAN,SPANMX)

CALL SSLAB(ISPLAN,MAXS,ALPHAS,EXTS, INTS,NEGS)
CALL TERPS(SPANMX,MAXS,ALPHAS,SPANRT)

CALL TERPS(SPANMX,MAXS,EXTS ,MCAPDL(1))
“ALL TERPS(SPANMX,MAXS,INTS ,MCAPDL(2))
CALL TERPS(SPANMX,MAXS,NEGS ,MCAPDL(3))

CALCULATE MOMENT FOR OVERLOAD TRUCK
CALL LONGMT(IFL ,SPANMX,PL,DX,SPANRT,CONT,NSPALL ,M0,L0CO)
CHECK FOR LANE LOAD CONTROL FOR H20 AND HS20 TRUCKS

IF(1OVLD .EQ. T .OR. IOVLD .EQ. 2) GOTO 150
GOTO 155 :

CALL LANE(SPANMX, SPANRT,CONT,NSPALL ,MLO)
MO(1,1) = DMAXT(MLO(1,1),MO(1,1) )
MO(2,1) = DMAXI(MLO(2,1),M0(2,1) )
TEMP1 = DABS (MLO(2,2) )
TEMP2 = DABS ( M0(2,2) )
MO(2,2) =-DMAX1(TEMP1,TEMP2 )
MO(3,1) = DMAX1(MLO(3,1),M0(3,1) )
M0(3,2) = DMAX1(MLO(3,2),M0(3,2) )
TEMP! = DABS(MLO(3,3) )
TEMP2 = DABS( MO0(3,3) )
MO(3,3) =-DMAXI(TEMP1,TEMP2 )
WRITE(7,140)
FORMAT (' OVERLOAD TRUCK MOMENTS')
WRITE(7,150)M0(1,1),M0(1,2),M0(1,3)
WRITE(7,150)M0(2, 1) ,M0(2,2),M0(2,3)
WRITE(7, 150)MO(3,1),M0(3,2),M0(3,3)
FORMAT(3F10.2)

CALCULATE AASHTO DISTRIBUTION FACTOR
CALL DFSLAB(SPANRT,SPANMX,DF(1),DF(2),DF (3))
CALCULATE AASHTO IMPACT FACTOR

CALL IMSLAB(SPANRT,SPANMX, IM(1),1M(2), IM(3))
IF(FACIMP .GT. 0.D0) GOTO 500

RIMT(1) = 1.0D0

RIMT(2) = 1.0D0

RIMT(3) = 1.0D0 .
GOTO 550

OVWDIMP = FACIMP + 1.DO

RIMT(1) = OVDIMP/IM(1)

RIMT(2) = OVDIMP/IM(2)

RIMT(3) = OVDIMP/IM(3)
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550

c

560

573

580

583

585

590

595
596

597
c
8000
8001
8002

8990

CALCULATE OVERLOAD RATING FACTOR

MLL(1) = MO(3,1)*DF(1)*IM(1)
MLL(2) = MO(3,2)*DF(2)*1M(2)
MLL(3) = MO(3,3)*DF (3)*IM(3)
SLABRR(1) = MCAPDL(1)/(MLL(1)*RIMT(1)¥RTMT)
SLABRR(2) = MCAPDL(2)/(MLL(2)*RIMT(2)*RTMT)

SLABRR(3) =-MCAPDL(3)/(MLL(3)*RIMT(3)*RTMT)
CONTROL = DMIN1(SLABRR(1),SLABRR(2),SLABRR(3))
IF(SLABRR(3) .LT. SLABRR(1) .AND.

1 SLABRR(3) .LT. SLABRR(2)) IFLG=IFLAG(2)

WRITE(7,560)

FORMAT(//,10X, ' #%%x2%%% OVERLOAD VEHICLE INFORMATION *¥xxxsx1)
WRITE(7,573)M0(3, 1), IM(1),DF (1),M0(3,2), IM(2),0F(2),
1 MO(3,3), IM(3),DF(3)

FORMAT(/, 12X, L.L. MOMENT AASHTO AASHTO LOAD!',/
1 12X, PER LANE IMPACT DISTRIBUTION',/
2 12X, (K-FT) (LANES) ',/
3 /,12X,'EXT SPAN ',F12.2,F12.2,3X,F12.4, i
4 12X, 'INT SPAN ',F12.2,F12.2,3X,F12.4, ./
5 12X, 'BENT ', F12.2,F12.2,3X,F12.4)

WRITE(7,580)
FORMAT(//, 10X, t#**xesxxxx SPECIAL LEVEL 2 ANALYS]S ®=zxxxsxxx1 /
1 ,10X,? (HINGES NOT CONSIDERED ) "
WRITE(7, 583)SPANRT

FORMAT( /,12X, VEXTERIOR TO INTERIOR SPAN RATI10 ',F6.3)
WRITE(7,585) MCAPDL(1),MLL(1),RIMT(1),RTMT,SLABRR(1),

1 MCAPDL(2),MLL(2),RIMT(2),RTMT,SLABRR(2),

2 MCAPDL(3),MLL(3),RIMT(3),RTMT,SLABRR(3)
FORMAT(/,12X," MOMENT - DEAD L.L.MOMENT  IMPACT TRAN.',/
1 12X, CAPACITY LOAD PLUS IMP. RATIO  RATIO',

2 ' OVLDRR'

3 12X, (K=FT) (K~FT) ',/

4 /,12X, 'EXT SPAN ',F10.2,F12.2,F9.2,F8.2,F9.2 N

5 12X, VINT SPAN ',F10.2,F12.2,F9.2,F8.2,F9.2 ,/

6 12X, 'BENT ',F10.2,F12.2,F9.2,F8.2,F9.2)

WRITE(7,590)CONTROL, IFLG

FORMAT(/, 12X, "CONTROLL ING OVLDRR =',F10.2,1X,A32)

IF(CONTROL .GE. 1.D0) WRITE(7,595)

IF(CONTROL .GE. 0.70D0 .AND. CONTROL .LT. 1.DOIWRITE(7,596)

IF(CONTROL .LT. 0.70D0) WRITE(7,597)

FORMAT( /,10X,"' ®xx%x TH|S BRIDGE IS A GO wuxxz ')

FORMAT( /,10X,"* ®Eux® | EVEL 2 ANALYSIS REQUIRED ®¥%x% ')

FORMAT( /,10X,! #axxx THIS BRIDGE IS A NO GO ®¥xxx ')

RETURN

CALL REMARK( 7, "ERROR - STRUCTURE NUMBER > 9861. ")
GOTO 8990

CALL REMARK(  7,'ERROR -~ STRUCTURE NUMBER NOT IN NBIF. ")
GOTO 8990 *

CALL REMARK(  7,'ERROR ~ STRUCTURE IS AN UNDERCROSSING. ")
GOTO 8990

RETURN

END
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$DEBUG
SUBROUTINE DFSLAB(SPANRT, SPANMX, DFEXT,DF INT,DFNEG)

P St 1 2 Ter it RIS R R TR 2 223 22 22 S22 222 2a S et Alt bl
DFSLAB - DISTRIBUTION FACTOR FOR SLAB BRIDGES

THIS SUBROUTINE CALCULATES THE AASHTO DISTRIBUTION FACTOR
FOR A SLAB BRIDGE

CALLS TO : NONE

VAR|ABLE DEFINITION

PASSED :
SPANMX ~ MAXIMUM SPAN LENGTH
SPANRT — END SPAN RATIO

RETURNED :
DFEXT - DISTRIBUTION FACTOR AT THE EXTERIOR SPAN
DFINT - DISTRIBUTION FACTOR AT THE INTERIOR SPAN
DFNEG - DISTRIBUTION FACTOR AT THE BENT

MODIFICATION LOG
07/07/1986 RAS  INITIAL CODING

3636 3% 36 3% 36 36 36 3 36 3 3¢ 36 36 3¢ 36 36 36 3 0t 36 6 36 36 36 3 3 36 30 T 3 36 3 36 36 3036 30 30 T 36 3 36 36 36 36 36 36 3 2 3 330 33 3 3 3¢ 3 R

OO0 ONNON00OO00O0

REAL*8 SPANRT,SPANMX
REAL*8 DFEXT,DF|NT,DFNEG

c
DFEXT = 4.D0 + 0.06D0O*SPANRT*SPANMX
IF(DFEXT .GT. 7.D0) DFEXT=7.D0
DFEXT = 1.00/(2.DO*DFEXT)
c
DFINT = 4.D0 + 0.06D0*SPANMX
IF(DFINT .GT. 7.D0) DFINT=7.D0
DFINT = 1.D0/(2.DO*DFINT)
c
DFNEG = 4.D0 + 0.06D0*(SPANMX + SPANMX*SPANRT)/2.D0
IF(DFNEG .GT. 7.D0) DFNEG=7.D0
DFNEG = 1.D0/(2.DO*DFNEG)
c
RETURN .
END
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$DEBUG

2XsXs X2 X2 X2 X2 XX Xs X2 Xs X2 XXz KsXsXs X2 XsXsXs Xz XX e Xz X oA Al o N o 2 N 0/

SUBROUTINE IMSLAB(SPANRT,SPANMX, IMEXT, IMINT, IMNEG)

369636 36 36 38 3 36 36 36 36 38 36 36 36 36 36 36 36 2036 36 26 36 336 36 36 36 36 36 336 36 36 36 06 6 38 36 96 36 3¢ 36 36 6 36 06 38 36 36 3 94 96 06 0 36 08 0 3 6

IMSLAB ~ IMPACT FACTOR

THIS SUBROUTIME CALCULATES THE AASHTO IMPACT FACTOR

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
SPANMX -~ MAXIMUM SPAN LENGTH
SPANRT - END SPAN RATIO

RETURNED :
IMEXT - IMPACT FACTOR AT THE EXTERIOR SPAN
IMINT =~ IMPACT FACTOR AT THE INTERIOR SPAN
IMNEG - IMPACT FACTOR AT THE BENT

MODIFICATION LOG
07/07/1986 RAS  INITIAL CODING

36338 36 36 36 36 36 36 3 36 36 36 3 36 36 38 36 36 3 36 36 3 3 3 36 96 3¢ 3 I 6 36 3 6 36 3 36 3 3 2 2 I I3 23 J6 3 2 3 36 36 3 6 0F 336 3 30 9

REAL %8 SPANRT, SPANMX
REAL*8 IMEXT, IMINT, IMNEG

IMEXT = SPANRT®SPANMX + 125.D0
IMEXT = 1.D0 + 50.D0/IMEXT
IFCIMEXT .GT. 1.3D0) IMEXT = 1.3D0

IMINT = SPANMX + 125.D0
IMINT = 1.D0 + 50.DO/IMINT
IFCIMINT .GT. 1.3D0) IMINT = 1.3D0

IMNEG = (SPANMX*SPANRT + SPANMX)/2.00 + 125.D0
IMNEG = 1.0D0 + 50.D0/1MNEG
IFCIMNEG .GT. 1.3D0) IMNEG = 1.3D0

RETURN
END
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$DEBUG
SUBROUTINE SSLAB(ICURVE ,MAXS,ALPHAS,EXTS, INTS,NEGS)

3636 36 363606 96 36 360606 06 06 00 36 06 36 36 06 06 3 06 06 06 6 00 JE 3000 06 D 00 0 N AE00 0 0 36 00 00 0 S 00000 00 00 0 06 0 00
SSLAB -~ STANDARD SLAB PLANS

THIS SUBROUTINE GETS THE STANDARD SLAB PLANS

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
JICURVE - STANDARD PLAN CURVE CODE

RETURNED :
MAXS ~ MAXIMUM SPAN LENGTH
ALPHAS - END SPAN RATIO
EXTS =~ POS. EXT.SPAN : CAPACITY - DEAD LOAD (KIP-FT)
INTS -~ POS. INT.SPAN : CAPACITY ~ DEAD LOAD (KIP=FT)
NEGS -~ NEGATIVE + CAPACITY ~ DEAD LOAD (KIP-FT)

MODIFICATION LOG

07/07/1986 RAS INITIAL CODING

36 3% 36 36 36 36 36 36 36 96 36 36 36 3 30 3¢ 36 3 3¢ 36 36 36 36 36 3% JE 36 36 36 36 36 36 30 36 D6 36 3% 3 3 6 36 3 36 36 JE 3 3¢ 36 3 3¢ 3 3 96 3 3¢ I 6 N 3 e ¢

OO0 OO00 O

INTEGER ICURVE

REAL*8 MAXS(5), MAXA(5), MAXB(5), MAXC(4), MAXD(5), MAXE(5)
REAL*8 MAXF(4), MAXG(4)

REAL%8 ALPHAS(5),ALPHAA(5),ALPHAB(5),ALPHAC(4) ,ALPHAD(5) ,ALPHAE(5)
REAL®8 ALPHAF(4),ALPHAG(4)

REAL®*8 EXTS(5), EXTA(5), EXTB(5), EXTC(4), EXTD(5), EXTE(5)
REAL*8 EXTF(4), EXTG(4)

REAL®8 INTS(5), INTA(5), |INTB(5), {NTC(4), INTD(5), INTE(5)
REAL*8 INTF(4), INTG(4)

REAL*8 NEGS(5), NEGA(5), NEGB(5), NEGC(4), NEGD(5), NEGE(5)
REAL*8 NEGF(4), NEGG(4)

c
DATA MAXA / 25.0D0, 30.0D0, 35.000, 40.0D0, 45.000 /
DATA ALPHAA / .82000, .817D0, .814D0, .81300, .811D0 /
DATA EXTA / 14.7800, 18.9200, 24.36D0, 29.09D0, 36.540D0 /
DATA INTA / 15.2700, 19.5900, 25.3200, 30.39DQ, 38.24D0 /
DATA NEGA / 23.06D0, 27.5000, 30.5200, 40.2300, 42.5600 /
c

DATA MAXB / 25.0D0, 30.0D0, 35.000, 40.000, 45.000 /
DATA ALPHAB / .820D0, .81700, .814D0O, .813D0, .811D0 /
DATA EXTB / 15.3700, 22.2700, 29.9300, 38.3000, 48.14D0 /
DATA INTB / 15.86D0, 22.99D0, 30.96D0, 39.7000, 49.94D0 /
DATA NEGB / 24.4500, 30.3900, 37.14D0, 47.76D0, 55.5200 /

117




OO0

200

10

1

DATA
DATA
DATA
DATA
DATA

DATA
DATA
DATA
DATA
DATA

DATA
DATA
DATA
DATA
DATA

DATA
DATA
DATA
DATA
DATA

DATA
DATA
DATA
DATA
DATA

CALL
CALL
CALL
CALL
CALL

MAXC / 25.000,
ALPHAC / .82000,
EXTC / 24.2800,
INTC / 24.86D0,
NEGC / 34.0900,

MAXD / 25.0D0,
ALPHAD / .820DO0,
EXTD / 24.2700,
INTD / 24.8900,
NEGD / 30.69D0,

MAXE / 25.0D0,
ALPHAE / .820D0,
EXTE / 28.4300,
INTE / 29.08D0,
NEGE / 35.6500,

MAXF  / 25.0D0,
ALPHAF / .82000,
EXTF  / 36.90D0,
INTF / 37.6200,
NEGF / 42.6300,

MAXG / 25.000,
ALPHAG / .820D0,
EXTG / 43.58D0,
INTG / 44.3000,
NEGG / 50.80D0,

30.0D0,
.81700,
29.7500,
30.590D0,
37.3800,

30.0D0,
.81700,
29.7500,
30.5900,
35.46D0,

30.000,
.817D0,
34.560D0,
35.46D0,
40.39D0,

30.0D0,
.81700,
45.7800,
46.7900,
49.34D0,

30.00D0,
.81700,
53.2000,
54.2100,
58.10D0,

DZERO(MAXS, 5,0.00)
DZERO(ALPHAS, 5,0.00)
DZERO(EXTS, 5,0.D0)
DZERO(INTS, 5,0.D0)
DZERO(NEGS, 5,0.D0)

IF(ICURVE .EQ. 1) GOTO 10
IF(JCURVE .EQ. 2) GOTO 20
IF(ICURVE .EQ. 3) GOTO 30
IFC(ICURVE .EQ. 4) GOTO 40

IFCICURVE

.£Q. 5) GOTO 50

IF(ICURVE .EQ. 6) GOTO 60
IF(ICURVE .EQ. 7) GOTO 70
WRITE(7,200)

FORMAT(/, 10X, 'ERROR -~ INCORRECT STANDARD SLAB PLAN CURVE")

sToP

STANDARD PLAN CS-2-15

DO 1t I=1,5
MAXS(1) = MAXA(1)
ALPHAS(1) = ALPHAA(1)
EXTS(1) = EXTA(1)
INTS(1) = INTA(])
NEGS (1) = NEGA(1)
CONTINUE
RETURN

STANDARD PLAN CS-2-20

35.0D0,
.814D0,
35.98D0,
37.18D0,
41.7000,

35.000,
.814D0,
37.07D0,
38.2700,
40.39D0,

35.000,
.81400,
41.6200,
42.8200,
45.2500,

35.000,
.814D0,
56.8900,
58.19D0,
57.5200,

35.000,
.814D0,
60.8700,
62.1700,
62.1000,
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40.0D0
.813D0
43.56D0
45.06D0
51.1600

40.0D0,
.8130D0,
43.08D0,
44.4800,
48.560D0,

40.000,
.81300,
46.330D0,
47.93D0,
50.9200,

40.0D0
.813D0
70.10D0
71.90D0
72.2700

40.000
.813D0
70.10D0
71.9000
72.27D0

45.0D0
.81100
49.83D0
5t.73D0
56.17D0

45.0D0
.811D0
51.6300
53.53D0
57.4200

e e e NN N NN NN N SN




OO0

20

21

30

31

OO0

40

41

OO0

o000

aan

50

51

60

61

70

Do 21 I=1,5
MAXS(1) = MAXB(1)
ALPHAS(1) = ALPHAB(I)
EXTS(1) = EXTB(1)
INTS(1) = INTB(I)
NEGS(1) = NEGB(1)
CONTINUE
RETURN

STANDARD PLAN CS-3-20

Do 3t I=1,4
MAXS(1) = MAXC(1)
ALPHAS(1) = ALPHAC(1)
EXTS(D) = EXTC(1)
INTS(]) = INTC(1])
NEGS(1) = NEGC(1)
CONTINUE
RETURN

STANDARD PLAN CS-4-20

DO 41 1=1,5
MAXS(1) = MAXD(1)
ALPHAS(1) = ALPHAD(1)
EXTS(1) = EXTD(1)
INTS(1) = INTD(1)
NEGS(1) = NEGD(1)
CONTINUE
RETURN

STANDARD PLAN CS-5-20 |

Do 51 1=1,5
MAXS(1) = MAXE(])
ALPHAS(1) = ALPHAE(])
EXTS(1) = EXTE(1)
INTS(1) =" INTE(I)
NEGS(1) = NEGE(1)
CONT INUE
RETURN

STANDARD PLAN CS-20

DO 61 I1=1,4
MAXS(1) = MAXF(1)
ALPHAS(1) = ALPHAF(1)
EXTS(1) = EXTF(1)
INTS(1) = INTF(1)
NEGS(1) = NEGF(1)
CONTINUE
RETURN

STANDARD PLAN CS-20 |

00O 71 I=1,4
MAXS(1) = MAXG(1)
ALPHAS(1) = ALPHAG(})
EXTS(1) = EXTG(1)
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"

INTS(1)

NEGS(1)
CONTINUE

RETURN

END

L]

INTG(1)
NEGG(1)
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$DEBUG
SUBROUTINE F1XSB(1SPLAN,SPANMX)

00060 336006 26 0630 63 20 606 0606 0636 0006 36 0 00 D60 26 063 I DI J S NI NN MMM W IRNNNNR
FIXSB <~ FIX SLAB SPAN LENGTHS

THIS SUBROUTINE FIXES THE MINIMUM AND MAXIMUM SPAN
LENGTH CORRESPONDING TO THE STANDARD PLANS

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :

ISPLAN - STANDARD SLAB PLAN CODE
RETURNED :

SPANMX - MAXIMUM SPAN LENGTH

MODIFICATION LOG

07/08/1986 RAS  INITIAL CODING

FHIE3E 3 36 3 3630 36 336 36 36 38 3696 30 3636 36 36 36 36 36 38 366 36 3636 96 36 30 3638 36 36 36 20 3638 6 3 36 36 30 3 06 06 30 36 36 3 36 36 36 3 36 3¢ 3¢ ¢

(X ks XsNslsKsNeXsXsXs ks X2 X2 KeXsXeXs Xz X2 K2 X2 XAz Xz A e s el s R e N ol o/

INTEGER 1SPLAN
REAL*8 SPANMX

IF(1SLPAN .EQ. 1)GOTO 10
IFCISPLAN .EQ. 2)GOTO 10
IFCISPLAN .EQ. 3)GOTO 20
IF(ISPLAN .EQ. 4)GOTO 10
IFCISPLAN .EQ. 5)GOTO 10
IF(ISPLAN .EQ. 6)GOTO 20
IF(ISPLAN .EQ. 7)GOTO 20
RETURN

10 IF{SPANMX .LT. 25.D0) GOTO 15
IF (SPANMX .GT. 45.D0) GOTO 18
RETURN

15 SPANMX = 25.D0
WRITE(7, 100)SPANMX
RETURN

18  SPANMX = 45.D0
WRITE(7,200)SPANMX
RETURN

20  IF(SPANMX .LT. 25.D9) GOTO 25 )
IF(SPANMX .GT. 40.D0) GOTO 28
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RETURN

25 SPANMX = 25.D0
¥RITE(7, 100)SPANMX
RETURN

28  SPANMX = 40.D0
WRITE(7,200) SPANMX
RETURN

100 FORMAT(10X,' WARNING - FIXUP IN MAX SPAN LENGTH ',F10.3)

200 FORMAT(10X,' WARNING - FIXUP IN MAX SPAN LENGTH ',F10.3)
END
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$DEBUG

SUBROUTINE TERPS(SPANMX,X,Y, VALUE)

263636 36 36 36 3 96 36 3636 36 3136 36 36 36 36 36 36 38 JE A6 36 36 36 36 6 36 36 300 36 J6 36 36 36 J6 38 36 30 30 JF 063 36 36 36 3% 30 26 36 3% 3 36 6 3620 3¢ 3¢ 3¢ ¢

TERP - LINEAR INTERPOLATION

THIS SUBROUTINE INTERPOLATES LINEARLY BETWEEN TWO POINTS

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
SPANMX - MAXIMUM SPAN LENGTH
X - X YALUES
Y - Y VALUES
RETURNED :
VALUE ~ INTERPOLATED VALUE

QOO0 OOOOOOO0OODOOODODOOOOOOOO0

100

200

MODIFICATION LOG

07/07/1986 RAS  INITIAL CODING

26 3630 3 36 0 36 36 3 3 36 98 26 36 36 06 36 36 36 3¢ 3 3¢ 36 36 3% T 96 3 36 36 3 36 T 6 36 36 3 36 3 36 3 3 36 3 3 3 3 3 I3 I I 3 Je 3 2 3 90 3¢ 0 3

INTEGER J,K
REAL*8 SPANMX, XK, YK,X{(5),Y(5), YALUE
K=0
DC 100 X1t,5
K=K+1
IF(SPANMX .LT. X(J) ) GOTO 200
CONTINUE
X = X(K) - X(K-1)
YK = Y(K) - Y(K-1)
VALUE = Y(K~1) + YK*( SPANMX - X(K-1) )/XX
RETURN
END
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$DEBUG
SUBROUT INE BRGTYP (NTYPE,NMAT,LABEL 1,LABEL2,CONT)

RO R R R RN AR RRRR AN
BRGTYP - BRIDGE TYPE 1D

THIS SUBROUTINE DETERMINES THE BRIDGE TYPE 1D

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :

NMAT - SUPERSTRUCTURE DESIGN TYPE AND MATERIAL TYPE
NTYPE - SUPERSTRUCTURE CONSTRUCTION TYPE

RETURNED :
LABEL1 - MATERIAL TYPE LABEL
LABEL2 - CONSTRUCTION TYPE LABEL
CONT - DESIGN TYPE LABEL (SIMPLE OR CONTINUOUS)

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

ll!llll’iﬁ**&{*l*!ll'l*lllllll‘*illﬂll‘lllll!i!!i!!l!l'llilii‘i!l!

OOOQOOOOOOQGOOQOOOO(‘)OOOOOOOOOOOOOC')

INTEGER NTYPE,NMAT
CHARACTER*9 LABEL1!,TYPET(T)
CHARACTER¥6 CONT ,DET(2)
CHARACTER*5 LABEL2,TYPE2(20)

c
DATA TYPE!/ 'REIN CONC', 'STEEL ', 'P/S CONC ', 'TIMBER
1 IMASONRY ', 'ALUMINUM ', 'OTHER v/
c
DATA TYPE2/ 'SLAB ', 'STRG ', 'GIRD ', 'TBEAM', 'BOX-M',
2 'BOX-S', 'FRM ', 'ORTH ', 'TRS-D', 'TRS-T',
3 'ARC-D', 'ARC-T', 'SUS ', 'STAY ', 'MOV-L',
4 MOV-B', 'MOV-S', 'TUN ', fCULVT', VOTHER'/
c
DATA DET / 'SIMPLE', 'CONTIN' /
C

IF(NMAT .EQ. 1) LABELI=TYPEL(1)
IF(NMAT .EQ. 2) LABEL1=TYPE1(1)
IF(NMAT .EQ. 3) LABEL1=TYPE1(2)
IF(NMAT .EQ. 4) LABELI=TYPE1(2)
IF(NMAT .EQ. 5) LABELI=TYPE1(3)
IF(NMAT .EQ. 6) LABELI1=TYPE1(3)
IF(NMAT .EQ. 7) LABELI=TYPE1(4)
IF(NMAT .EQ. 8) LABELI=TYPE1(5)
IF(NMAT .EQ. 9) LABELI=TYPE1(6)
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IF(NMAT .EQ. 0) LABELI=TYPEI(T7)

CONT=DET(1)

IF(NMAT .EQ. 2) CONT =DET(2)
IF(NMAT .EQ. 4) CONT =DET(2)
IF(NMAT .EQ. 6) CONT =DET(2)

IF(NTYPE .EQ. 1)LABEL2=TYPE2(1)
IF(NTYPE .EQ. 2)LABEL2=TYPE2(2)
IF(NTYPE .EQ. 3)LABEL2=TYPE2(3)
IF(NTYPE .EQ. 4)LABELZ2=TYPE2(4)
IF(NTYPE .EQ. S5)LABEL2=TYPE2(5)
IF(NTYPE .EQ. 6)LABEL2=TYPE2(6)
IF(NTYPE .EQ. 7)LABELZ=TYPE2(7)
IF(NTYPE .EQ. B)ILABEL2=TYPE2(8)
IF(NTYPE .EQ. 9)LABEL2=TYPE2(9)
IF(NTYPE .EQ.10)LABEL2=TYPE2(10)
IF(NTYPE .EQ.11)LABELZ=TYPE2(11)
IF(NTYPE .EQ.12)LABEL2=TYPE2(12)
IF(NTYPE .EQ.13)LABELZ=TYPE2(13)
IF(NTYPE .EQ.14)LABEL2=TYPE2(14)
IF(NTYPE .EQ.15)LABEL2=TYPE2(15)
IF(NTYPE .EQ.16)LABEL2=TYPEZ(16)
IF(NTYPE .EQ.17)LABEL2=TYPE2(17)
IF(NTYPE .EQ.18)LABEL2=TYPEZ(18)
IF(NTYPE .EQ.19)LABEL2=TYPE2(19)
IF(NTYPE .EQ. O)LABELZ2=TYPE2(20)

RETURN
END
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$DEBUG

OO 0000000000000 NNNN000NN0 0000000000000

SUBROUT INE LONGMT (NA, SPAN, A, B, SPANRT,CONT,NSPAN,MM,LOC)

il!iIlll!!!**l!l!lll*ilIIlI*l*i!IIllililll*ll*i*lillllllllllll

LONGMT - LONGITUDINAL MOMENT

THIS SUBROUTINE CALCULATES THE MAXIMUM MOMENT FOR A
GENERAL TRUCK CONF {GURATION :

CALLS TO :

DZERO
SPANO1
SPANO2Z
SPANO3
MOVEF
MOYEFB

VARJABLE DEFINITION

PASSED :

NA - NUMBER OF AXLES

SPAN - MAXIMUM SPAN LENGTH

A - AXLE LOAD

8 - DISTANCES TO THE AXLES

SPANRT - END SPAN RAT10

CONT  ~ CONTINUITY

NSPAN - NUMBER OF SPANS
RETURNED :

MM - MAXIMUM MOMENT

Loc - DJSTANCE TO LEAD AXLE AT MAXIMUM MOMENT

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

3636 36 36 3 36 36 36 36 36 36 36 36 36 36 3 36 36 36 36 3 36 36 36 36 36 3 36 36 3 3 3 36 3 I 3 I U U 3 3 3 36 3¢ P 23 WP I 3 W 3 TN I I XX F

INTEGER NA,NSPAN,NN,KN

REAL*8 SPAN,A(NA),B(NA)

REAL*®8 MM(3,3),L0C(3,3)

REAL®8 H1(31),H2(31),H3(31),SX(31)

REAL*8 SPANAD,SPANRT

REAL*8 XINC(41),TRUCK -
CHARACTER®6 CONT

TRUCK=B(NA)

CALL DZERO(H1!,31,0.D0)
CALL DZERO(HZ2,31,0.D0)
CALL DZERO(H3,31,0.D0)
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OO0

OO0 OO0

OO0

200

OO0 OO0

OO0

300

OO0

CALL DZERO(SX,31,0.D0)
CALL DZERO(XINC, 41,0.00)

SIMPLE BEAM MOMENT

NN = 11
KN = 21
SPANAD = SPAN

CALL SPANO1(SPAN,Ht,H2,SX, XINC, TRUCK)

0.5 POINT

CALL MOVEF (KN,NA,B,XINC,A,SPANAD,SX,H1,NN,SPAN,MM(1,1),L0C(1,1))
0.4 POINT

CALL MOVEFB(KN,NA,B,XINC,A,SPANAD,SX,HZ,NN,SPAN,MM(1,2),L0C(1,2))
IF(NSPAN .EQ. 1 .OR. CONT .EQ. 'SIMPLE') RETURN

IF(NSPAN .EQ. 2) GOTO 200
IF (NSPAN .GE. 3) GOTO 300

TWO SPAN MOMENT

CALL DZERO(H1,31,0.D0)
CALL DZERO(HZ,31,0.D0)
CALL DZERO(H3,31,0.D0)
CALL DZERO(SX,31,0.D0)
CALL DZERO(XINC, 41,0.D0)

NN = 21

KN = 31

SPANAD = SPAN * 2.D0

CALL SPANO2(SPAN,H1,H3,SX, XINC, TRUCK)

0.4 POINT
CALL MOVEFB(KN,NA,B,XINC,A, SPANAD, SX,H1,NN,SPAN,M4(2,1),L0C(2,1))
BENT "

CALL MOVEF (KN,NA,B,XINC,A,SPANAD,SX,H3,NN,SPAN,MM(2,2),L0C(2,2))
IF(NSPAN .EQ. 2) RETURN

THREE SPAN MOMENT

CALL DZERO(Hi,31,0.00)
CALL DZERO(H2,31,0.D0)
CALL DZERO(H3,31,0.00)
CALL DZERO(SX,31,0.D0)
CALL DZERO(XINC, 41,0.00)

NN = 31

KN = 41

SPANAD = SPAN * (1.D0 + 2.DO * SPANRT)

CALL SPANO3(SPAN,H1,H2,H3,SX,SPANRT, XINC, TRUCK)
0.4 POINT SPAN 1

CALL MOVEFB(KN,NA,B,XINC,A,S;%F;D,SX,HI,NN,SPAN,MM(3,l),LOC(3,l))



o000 OO0

0.5 POINT SPAN 2
CALL MOVEF (KN,NA,B,XINC,A,SPANAD,SX,HZ,NN,SPAN,M(3,2),LOC(3,2))

BENT

CALL MOVEFB(KN,NA,B,XlNC,A,SPANAD,SX,H},NN,SPAN,MI(},3),LOC(3,3))
RETURN
END
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$DEBUG
SUBROUTINE SPANOT(SPAN,H1,H2,SX,XINC, TRUCK)

gt T T T TI TSI TE TS RS A S S R A2 RS A4 L L LR L e At
SPANO1 - ONE SPAN INFLUENCE LINES

THIS SUBROUTINE STORES OFF THE INFLUENCE LINE
COEFFICIENTS FOR A ONE SPAN BRJDGE

CALLS TO : NONE

VARJABLE DEFINITION

PASSED :
SPAN -~ MAXIMUM SPAN LENGTH
TRUCK - TRUCK LENGTH

RETURNED :
H2 ~ INFLUENCE LINE AT 0.4 POINT
Hi ~ INFLUENCE LINE AT 0.5 POINT
SX - TENTH POINT OF SPAN
XINC = INCREMENT TO MOVE TRUCK

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

363836 36 36 76 3 36 36 36 36 36 36 36 6 36 36 36 3 3 3 96 3 3 3 3 U6 3 3 06 3 3 3 3¢ 36 3 36 36 3¢ JE 36 6 06 3 3 B 6 36 3 I 36 3 3 I I 3 3 I 3 3¢ 2 2

0000000000000 ND 00000000

INTEGER |
REAL*8 SPAN,Ht(1),H2(1),SX(1),COEFP4(11),COEFP5(11),TENTH(11)
REAL*8 XX1,XX2,XINC(1)

c

DATA TENTH / 0.0DO, 0.1DO, 0.200, 0.3D0, 0.4DO, 0.5DO,

1 0.6D0, 0.700, 0.800, 0.900, 1.0DO/
c

DATA COEFP4/ 0.0D0O, .06DO, .1200, .18D0, .24D0, .20D0,

1 .1600, .1200, .08D0O, .04D0, .00DO/
c

DATA COEFPS/ 0.0D0, .0500, .10D0, .15D0, .20D0, .2500,

1 .2000, .1500, .10DO, .05D0, .00DC/
c

DO 100 I=1,1t

SX(1)=TENTH(1)¥*SPAN
H1(1)=COEFP5(1)
H2(1)=COEFP4(1)

100 CONTINUE

PAN*0.1D00

XX1 =S
= TRUCK*0.1D0

XX2
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DO 200 i=1,11

XINC(1) = XX1
200 CONTINUE
DO 250 1=12,21
XINC(1) = XX2
250 CONTINUE
RETURN
END
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$DEBUG
SUBROUT INE SPANO2(SPAN,H1,H3,5X,XiNC, TRUCK)

PR s T T T TIT T TR T TR RS2 R 22 2 A S22 2 R 2 2 L A0
SPANO2 ~ ONE SPAN INFLUENCE LINES

THIS SUBROUTINE STORES OFF THE INFLUENCE LINE
COEFFICIENTS FOR A TWO SPAN BRIDGE

CALLS TO : NONE

VARIABLE DEFINITION

PASSED :
SPAN - MAXIMUM SPAN LENGTH
TRUCK - TRUCK LENGTH

RETURNED :
Ht - INFLUENCE LINE AT 0.4 POINT
H3 — INFLUENCE LINE AT THE BENT
SX ~ TENTH POINT OF SPAN
XINC -~ INCREMENT TO MOVE TRUCK

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

B3 3036 2608 3 36 36 36 36 36 T 3 3 6 3 3 36 I 36 3¢ 3 36 36 36 36 336 3 3¢ I 663 U3 36 2 T W P 362 0 30 06 36 3 D6 I 0 36 36 B2 W O3 RN

0000000000000 O0DD0OO0N0OO0O0OOOO0

INTEGER |
REAL*8 SPAN,H1(1),H3(1),SX(1),CURVL1(21),CURVL3(21),COEFXD(21)
REAL*8 XINC(1),TRUCK,XXt,XX2

c
DATA COEFXD / 0.0DO, 0.1D0O, ©.200, 0.3D0, 0.4D0, 0.5D0,
1 0.600, 0.700, 0.8D0, 0.9D0, 1.000,
2 1.100, 1.200, 1.3D0, 1.4D0, 1.5D0,
c 3 1.6D0, 1.700, 1.8D0, 1.9D0, 2.0D0/
DATA CURVL1/.000D0, .0501D0, .1008D0, .152700, .2064D0, .1625D0,
1 .1216D0, .0843D0, .051200, .022900, .00000,
2 -.017100,~.028800,~.035700,~.0384D0,~.037500,
3 -.0336D0,~.027300,-.0192D0,~.0099D0, .00000/
c
DATA CURVL3/.0D0,-.02475D0,-.0480000,-.06825D0,--0840D0,-.0937500,
1 -.0960D00, -.08925D0,-.0720000,-.04275D0, .000D0,
2 -.0427500,-.072000, -.08925D0,-.0960D0,~.0937500,
3 -.0840D0, -.06825D0,~.048000, ~.02475D0, .00000/
c

XXt = SPAN*0.1D0
XX2 = TRUCK*0.1DO
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100

125

150

Do 100 =1,21
SX(1)=COEFXD(1)*SPAN
H1 (1)=CURVL1(1)
H3(1)=CURVL3(1)

CONTINUE
DO 125 1=1,21
XINC(1)= XX1
CONTINUE
DO 150 1=22,31
XINC(1)= XX2
CONTINUE
RETURN
END
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$DEBUG
SUBROUTINE SPANO3(SPAN,H1,H2,H3,SX, SPANRT , XINC, TRUCK)

et Tt 2T TT T IR 22 2 2T TS DAL At h dhboboidoble
SPANO3 - THREE SPAN INFLUENCE LINES

THIS SUBROUTINE STORES OFF THE INFLUENCE LINE
COEFFICIENTS FOR A THREE SPAN BRIDGE

CALLS TO : NONE

VARIABLE DEFINITION
PASSED :

SPAN -~ MAXIMUM SPAN LENGTH
TRUCK - TRUCK LENGTH

SPANRT - END SPAN RATIO

RETURNED :
H1 — INFLUENCE LINE AT 0.4 POINT, SPAN 1
H2 —~ INFLUENCE LINE AT 0.5 POINT, SPAN 2
H3 - INFLUENCE LINE AT THE BENT
SX - TENTH POINT OF SPAN

XINC - INCREMENT TO MOVE TRUCK

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

'III!II!ll!!*llillllllllllil!lllllll!lllll!llllllllil!!illl’il’li

OO0 OOOO0O0 OOOOGOGOOOGQOOOOOOOOOGOOOO

INTEGER 1

REAL®*8 SPAN,H1(1),H2(1),H3(1),SX(1)
REAL®*8 CURVL1(31),CURVL2(31),CURVL3(31)
REAL*8 CURVQ1(31),CURVQ2(31),CURVQ3(31)
REAL*8 CURVH1(31),CURVH2(31),CURVH3(31)
REAL*8 COEFXD(31),DD1,0D2,DD3,DD4, SPANRT
REAL®8 XINC(1),TRUCK,XX1,XXZ,XX3

DATA COEFXD / 0.0DO, 0.1D0O, 0.200, 0.3D0, 0.4DO0, 0.5D0,
0.6D0, 0.7D0, 0.800, 0.9D0, 1.0DO,
0.100, 0.200, 0.3D0, 0.4D0, 0.5DO0,
0.6D0, 0.7D0, 0.80D0, 0.9D0, 1.0DO,
0.100, 0.200, 0.3D0, 0.4D0, 0.5D0,
0.600, 0.7D9, 0.8D0, 0.9D0, 1.0D0/

WM AW N -

DATA CURVL1/0.D0, .04944D0, .0995200, .150880D0, .20416D0, .160000,
.11904D0, .0819200, .04928D0, .02176D0, .000DO,
-.0156000,-.0256000,-.03080D0,~.0320000,~.030000,
-.0256000,-.0196000,-.0128000,-.0060000, .00000,

.00456D00, .007680D0, .0095200, .0102400, .0100D0,

133

2N~



5 .00896D0, .00728D0, .00512D0, .0026400, .00000/

DATA CURVLZ/O-DO,—.009900,-.019200,-.027300,—.033600,—.037500,
~.0384D0,~.0357D0,~.028800,-.0171D0, .00000,
.0230000, .0520000, .0870000, .1280000, .175000,
.1280000, .0870000, .05200D0, .0230000, .000D0,
-.0171ODO,—.0288000,--035700,-.0384000,—.037500,
~.0336000,~.0273000,~.0192000,-.0099000, 00000/

Ut WN

DATA CURVLS/O.DO,~.0264000,*.05I2000,—.0728000,-.08960D0,~.IOOODO,
-.1024000,-.0952000,-.07680D0,-.0456000, .00000,
-.03900D0,~. 0640000, ~.0770000,-.0800000,-.075000,
~.06400D0,~.04900D0,-.03200D0,-.01500D0, .000D0,
.0114000, .0192000, .02380D0, .02560D0, .0250D0,
.0224000, .0182000, .0128000, .00660D0, .00000/

VT W~

DATA CURVQ1/0.00, .03807D0, .07656D0, .11589D0, .15648D0,.12375D0,
.0931200, .06501D0, .03984D0, .01803D0, .000DO,
-.0177600,—.0290100,-.0347200,—.0358400,-.0333300,
-.02816D0,-.0212800,~.01365D0,~.00624D0, .000D0,
.0034200, .00576D0, .00714D0, .00768D0, .007500,
.00672D0, .00546D0, .00384D0, .001980D0, 00000/

UL =

DATA CURVQZ/O.DO,-.0061900,-.0120000,-.0170600,-.OZIODO,-.02344DO,
-.0240000,-.02231D0,~.01800D0,~.0106900, .00000,

.0200000, .0466700, .08000D0, .1200000, .1666700,
.1200000, .08000D0, .0466700, .02000D0, .000DO,

-.0106900,-.01800D0,~.02231D0,~.02400D0,~.02344D0,
-.0210000,~.01706D0,~.01200D0,~.0061900, .00000/

DN -

DATA CURVQS/O.DO,—.OI73300,*.0336000,-.0477800,-.058800,-.0656300,
-.06720D0,~.06248D0,~.05040D0,~.0299300, .000D0,
-.04440D0,-.0725300,-.08680D0,~.08960D0,-.083330D0,
-.07040D0,~.0532000,~.034130D0,-.0156000, .000DO,

.0085500, .0144000, .01785D0, .01920D0, .01875D0,
.01680D0, .01365D0, .00960D0, .00495DO0, .00000/

BN -

DATA CURVH1/0.D0, .02629D0, .05280D0, .07976D0, .10740D0,.08594D0,
-~ .0656000, .0466100, .02920D0, .01359D0, .000DO,
~.02070D0,~.03360D0,-. 0399000, ~. 0408000, . 0375000,
-.0312000, ~. 0231000, -.0144000,-. 0063000, .000DO,
.00214D0, .00360D0, .00446D0, .00480D0, .00469D0,
.00420D0, .00341D0, .00240D0, .00124D0, .00000/

B N -

DATA CURVH2/0.D0,-.00309D0,~.00600D0,-.0085300,-.010500,-.0117200,
~-.0120000,-.01116D0,-.0090000,-.00534D0, .000D0,

.0162500, .04000D0, .0712509, .1100000, .1562500,
.1100000, .07125D0, .0400000, .01625D0, .000DO,

-.00534D0,~.00900D0,-.0111600,-.01200D00,~.0117200,
-.01050D0,-.00853D0,~.0060000,~.00309D0, .000D0/

UMW N)

DATA CURVH3/0.D0,-.0092800,-.0180000,-.0255900,~.031500,~.03516D0,
-.0360000,-.03347D0,-.0270000,-.01603D0, .000D0,
-.0517500,-.0840000,~.0997500,~.1020000,~.0937500,
-.0780000,~.0577500,-.0360000,~.0157500, .00000,

.00534p00, .0090000, .01116D0, .0120000, .0117200,
.0105000, .0085300, .00600D0, .0030900, .00000/

VbW N -

XX1 = SPAN*SPANRT*0.1D0
XX2 = SPAN*0.1D0
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XX3 = TRUCK*0.1DO

IF (SPANRT .GE. 0.75D0)GOTO 100
IF (SPANRT .GE. 0.5000)GOTO 200
GOTO 300

100 DD4 =(SPANRT-0.75D0)/0.25D0
po 150 I=1,31
DD1  =CURVL1(1)-CURYQ1(])
DD2 =CURWVL2(1)-CURVQ2(1)
pD3 =CURVL3(1)-CURVQ3(1)
H1(1)=CURVQ1(1) + DD1*DD4
H2(1)=CURVQ2(1) + DD2*DD4
H3(1)=CURVQ3(1) + DD3*DD4
150 CONTINUE
GOTO 500

200 DD4 =(SPANRT~0.50D0)/0.25D0
DO 250 I=1,31
DDt  =CURVQ1 (1)-CURVHI (1)
DD2 =CURVQ2(1)-CURYH2(1)
DD3 =CURVQ3(1)-CURVH3(1)
H1 (1)=CURVH1 (1) + DD1*DD4
H2(1)=CURVH2(1) + DD2*DD4
H3(1)=CURVH3(1) + DD3*DD4
250 CONTINUE
GOTO 500

300 DO 350 I=1,31
H1(1)=CURVH1 (1)
H2(1)=CURVH2(1)
H3(1)=CURVH3(})

350 CONT INUE
GOTO 500

500 SX(1)= COEFXD(1)
XINC(1)=XX1
DO 510 1=2,11
SX(1)=SX(1) + COEFXD(1)*SPAN*SPANRT
XINC(1) = XX
510 CONTINUE
DO 520 I=12,21
SX(1)=SX(11) + COEFXD(1)*SPAN
XINC(1) = XX2
520 CONTINUE
DO 530 I=22,31
SX(1)=SX(21) + COEFXD(1)*SPAN*SPANRT
XINC(]) = XX1
530 CONTINUE
00 540 1=32,41
XINC(1) = XX3
540 CONT INUE
RETURN
END
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$DEBUG
SUBROUTINE TERP(XDIS,X,Y,FX,NN)

eI T T T T T T LTI AL L L bbb ik obobiobalal ol
TERP - LINEAR INTERPOLATION

THIS SUBROUTINE INTERPOLATES LINEARLY BETWEEN TWO POINTS

CALLS TO : NONE

VARI ABLE DEFINITION

PASSED :

XDIS - DISTANCE TO INTERPOLATE AT

X - X VALUES

Y - Y VALUES

NN - NUMBER OF POINTS TO INTERROLATE BETWEEN
RETURNED :

FX -~ |NTERPOLATED VALUE

MODIFICATION LOG
06/11/1986 RAS  INITIAL CODING

lli!!!!li*'&}‘llillllll!lI!illlllli*l'llﬂl!ll!l!l*llllilllilliii

QOOOGOGGOOOOOOOOOOOOOOOOOOOOOOOOOO

INTEGER J,K,NN
REAL*8 XD1S,XK,YK,X(NN),Y(NN),FX

K=0
DO 100 J1,NN
K=K+1
IFODIS LLT. X(J) ) GOTO 200
100 CONTINUE

c
200 XX = X(K) - X(K~1)
YK = Y(K) = Y(K-1)
FX = Y(K-1) + YK*( XDIS - X(K-1) )/XK
RETURN
END
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$DEBUG
SUBROUTINE MOVEF (KN,NA,B,XINC,A,SPANAD,SX,CURY,NN,SPAN ,MOMENT,
1 LOCATE)

*iliillll’l!!iilllliIllilllllIIli*lIlllllllll!l!llilllll!iiill

MOVEF -~ MOVE FOWARD
THIS SUBROUTINE MOVES THE TRUCK FOWARD

CALLS TO : TERP

VARIABLE DEFINITION

PASSED :

NUMBER OF TENTH POINTS ALONG BRIDGE AND TRUCK LENGTH
NUMBER OF AXLES

INCREMENT TO MOVE TRUCK

AXLE LOADS

DISTANCES TO THE AXLES

BRIDGE LENGTH

DISTANCE AT THE TENTH POINTS

INFLUENCE CURV

NUMBER OF TENTH POINTS ALONG BRIDGE

MAXIMUM SPAN LENGTH

z
'

SX
CURY
NN
SPAN

2

Z

]
BEERERER

RETURNED :

MOMENT - MAXIMUM MOMENT
LOCATE ~ LOCATION OF TRUCK AT MAXIMUM MOMENT

MODIFICATION LOG
06/11/1986 -RAS  INITIAL CODING

23636 36 3% 3 3 36 36 3636 36 34 36 36 36 36 96 3% 36 3 35 3 3 36 3636 3 3¢ 366 36 3¢ 36 36 36 T 3 3 36 36 36 36 36 36 08 36 3 F I3 O 06 33 0 08 32 B R

OOOOOOOOOOOOGOOOOGOOOOOOOOOOOOQOOOOOOOOOO
>

INTEGER NA,NN,KN,K, |

REAL®8 B(1),XINC(1),A(1),SPANAD,SX(1),CURV(NN),SPAN
REAL*8 MOMENT,LOCATE

REAL*8 SUM,XDIS,XLEAD,FX,P,XMMT

c .
MOMENT = 0.DO
SUM 0.D0
c
D0 200 K~ 1,NA
XLEAD= B(J) - XINC(1)
c .
DO 190 K=1,KN -
XLEAD=XLEAD + XINC{K)
c

DO 150 I=1,NA
P = AD
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XIS = XLEAD - B(I)
FX = 0.D0
IF(XD1S.GT.1.D-4 .AND. XD1S.LE.SPANAD)
1 CALL TERP(XDIS,SX,CURV,FX,NN)
XMMT= SPANXFX*P
SUM = XMMT + SUM

c WRITE(6,900)SUM, XMMT , SPAN,FX,P,XDIS, XLEAD
C900 FORMAT(7F10.3)

150 CONTINUE
c

IF(DABS(SUM) .LT. DABS(MOMENT))GOTO 175
MOMENT = SUM
LOCATE = XLEAD
175 SuM = 0.D0

190 CONTINUE
200 CONTINUE

RETURN
END
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$DEBUG

SUBROUTINE MOVEFB(KN,NA,B,XINC,A,SPANAD,SX,CURY,NN, SPAN ,MOMENT,

1

LOCATE)

l!lil!ll*i**!!l'lllllillil!llilllllllllill!‘!l!ll!llllll!lllll

MOVEFB - MOVE FOWARD AND BACKWARD

THIS SUBROUTINE MOVES THE TRUCK FOWARD AND BACKWARD

CALLS TO : TERP

YARIABLE OEFINITION

00O 00O0 OO0 NONDOODO0DDODDOD0O0000000

PASSED :
KN - NUMBER OF TENTH POINTS ALONG BRIDGE AND TRUCK LENGTH
NA - NUMBER OF AXLES
XINC - INCREMENT TO MOVE TRUCK
A - AXLE LOADS
B - DISTANCES TO THE AXLES
SPANAD - BRIDGE LENGTH .
SX - DISTANCE AT THE TENTH POINTS
CURV -~ INFLUENCE CURY
NN - NUMBER OF TENTH POINTS ALONG BRIDGE
SPAN - MAXIMUM SPAN LENGTH
RETURNED :
MOMENT - MAXIMUM MOMENT
LOCATE - LOCATION OF TRUCK AT MAXIMUM MOMENT
MODIFICATION LOG
06/11/1986 -RAS  INITIAL CODING

0896 6 3 96 T 36 06 066 36 3698 3638 36 36 J6 3t 363036 3% 3 36 06 6 30 36 36 36 36 36 36 36 T 6 30 3 36 38 36 30 30 3¢ 36 36 36 3 36 36 3 063 3 06 36 3 e 3

INTEGER NA,NN,KN,K, 1

REAL*8 B(1),

XINC(1),A(1),SPANAD,SX(1),CURV(NN) ,SPAN

REAL®*8 MOMENT,LOCATE
REAL*8 SUM,XDI1S,XLEAD,FX,P, XMMT

FOWARD

QOO0 OO0

SUM 0.D0

363036 3 06 3 3% 36 36 36 36 36 36 3 3t 36 3¢ 3 36 T 36 36 36 36 36 3 36 36 36 6 36 3 6 36 J6 6 I I 3 T U 0 0 3 06 0696 I 0 WM RBE RN

FEIE 3696 J6 00 00 636 J6 00 6 36 363 JE 3 3 T3 T2 I NI b3 0 96 36 36 33 33 3 3 36 T 36 06 36 2 3N 303 WM T WX W R

WRITE(6,6)LOCATE
6 FORMAT (' LOCATE -PASSED THRU MOVEFB',F10.2)
MOMENT = 0.

00 -

DO 200 J1,NA
XLEAD= B(J) - XINC(D)
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D0 190 K=1,KN
XLEAD=XLEAD + XINC(K)

DO 150 I=1,NA
P ACD)
XDIS = XLEAD - B(1)
FX = 0.D0
IF(XDIS.GT.1.D-4 .AND. XDIS.LE.SPANAD)
1 CALL TERP(XDIS,SX,CURY,FX,NN)

XMMT= SPAN*FX*P
SUM = XMMT + SUM

c WR1TE(6,900) SUM, XMMT , SPAN, FX, P, XD1S, XLEAD

€900 FORMAT (7F10.3)

150  CONTINUE

IF (DABS(SUM) .LT. DABS(MOMENT))GOTO 175
MOMENT = SUM
LOCATE = XLEAD
175 SuM = 0.DO

C
190  CONTINUE
C
200 CONTINUE
c WRITE(6, 4)MOMENT .
c4 FORMAT (' MOMENT -BETWEEN ',F10.2)
C WR1TE(6,5)LOCATE
cs FORMAT (! LOCATE -BETWEEN 1,F10.2)
C
c Illlllll!’ll!li!!l**i*!ll!l*l*I!lll!llllliiilllllliilll!ll!li!
c BACKWARD *

C lllllll*!!!l‘!ll!iili{ll!llIlil!lllllllliI!I!lll!ll!lllliIllll

c

SUM = 0.D0
c
DO 400 J1,NA
XLEAD=-B(J) + SPANAD + XINC(1)
c
DO 390 k=1,KN
c XLEAD=XLEAD - XINC(K)
DO 350 I1=1,NA
P = A(D)
XDIS = XLEAD +B(1)
FX = 0.DO
IF(XDIS.GT.1.D-4 .AND. XDIS.LE.SPANAD)
1 CALL TERP(XD1S,SX,CURV,FX,NN)
XMMT= SPAN*F X*P
SUM = XMMT + SUM
C WRITE(6, 1000) SUM, XMMT , SPAN,FX,P,XD1S, XLEAD
C1000 FORMAT(7F10.3)
350 CONT INUE
c

IF(DABS(SUM) .LT. DABS(MOMENT) )GOTO 375
MOMENT = SUM
LOCATE = XLEAD
375 SUM = 0.D0

390 CONT INUE
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400 CONTINUE
c WRITE(6,998)MOMENT
C998 FORMAT (' MOMENT -AFTER CALC ',F10.2)
c WRITE(6,999)LOCATE
€999 FORMAT(' AFTER CALC IN MOVEFB',F10.2)
RETURN
END
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$DEBUG
SUBROUTINE EXIT

3626063 3036 30 .06 006 006 3636 1636 06 000 0606 6 96 26 3606 3006 00 303006 36 D06 3638 1630 00 36 30 36 0006 56 90 06 38 060 36 06 3 06 6 6 ¢
EXIT -~ EXIT PROGRAM

THIS SUBROUTINE CLOSES THE FILES

CALLS TO : NONE

YARIABLE DEFINITION
PASSED : NONE

RETURNED : NONE

MODIFICATION LOG

06/11/1986 RAS  INITIAL CODING

33638 36 36 36 3 36 36 I3 36 I T 36 36 3 36 36 3636 36 36 36 36 36 6 3 3 36 38 36 36 38 36 36 36 36 36 36 3 I 3 96 3 36 36 3 26 36 38 36 30 3636 23 30 -3 2 X

QOO OO0 OOOOOO0

CLOSE(5)
CLOSE(6)
CLOSE(7)
CLOSE(8)
sTOP
END
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